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IDENTIFICATION

PRODUCT CODE: AC=-8576C-MC

PRODUCT NAME: (ZDPBCO OFLNE SDLC YMTR

DATE: APRIL 1978

MAINTAINER: DIAGNOSTICS

THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT NOTICE

AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT

CORPORATION. DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY
FOR ANY ERRORS THAT MAY APPEAR IN THIS DOCUMENT.

NO RESPONSIBILITY IS ASSUMED FOR THE USE OR RELIABILITY OF

SOF TWARE ON ECUIPMENT THAT IS NOT SUPPLIED BY DIGITAL OR ITS
AFFILIATED COMPANIES.

COPYRIGHT (C) 1975, 1978 BY DIGITAL EQUIPMENT CORPORATION

THE FOLLOWING ARE TRADEMARKS OF DIGITAL EQUIPMENT CORPORATION:

DIGITAL PDP UNIBUS MASSBUS
DEC DECUS DECTAPE
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1.0 ABSTRACT

THE FUNCTION OF THE D'UPi1 DIAGNOSTICS IS TO VERIFY THAT THE
OPTION OPERATES ACCORDING O SPECIFICATIONS. THE DIAGNOSTICS
VERFIY THAT THERE ARE NO MALFUNCTIONS AND THAT ALL OPERATIONS
OF THE DUP11 ARE CORRECT IN ITS ENVIROMENT. PARAMETERS MAY BE
SET TC ALERT DIAGNOSTICS AS TO THE DUP11 CONFIGURATION BY
ANSWERING THE PARAMETER DIALOG (LOAD ADDRESS=200, START
ADDRESS=1). ALL QUESTIONS SHOULD BE ANSWERED AND THEN EACH
DIAGNOSTIC WILL ‘OVERLAY'' THESE PARAMETERS WHICH ARE STORED IN
THE '‘STATUS TABLE'' (SEE SECTION 8.4). THE ALTERNATIVE TO THE
PARAMETER DIALOG IS DEFAULT PARAMETERS (SEE SECTION 8.5).

THE DIAGNOSTICS WILL RUN UP TO EIGHT CONSECUTIVELY ADDRESSED

AND CONSECUTIVELY VECTORED DUP11'S IN A CHAIN MODE, I.E.,
RUNNING THE DIAGNOSTIC COMPLETELY FOR ONE DEVICE BEFORE

STARTING THE NEXT.

CZDPB DOES READ/WRITE CHECKING, BUS ADDRESS CHECKING, DEVICE
AND BUS RESET TESTS ON THE CONTROL AND STATUS REGISTERS.
TESTS ARE MADE TO PROVE THERE IS NO INTERACTION WITHIN AND

BETWEEN REGISTERS. THE REGISTERS ARE CHECKED BOTH A BIT AT A
TIME AND ALL AT ONCE.

IN ADDITION, THE TRANSMITTER SDLC FUNCTIONS ARE CHECKED IN
MAINTENANCE INTERNAL MODE, I.E., CLOCKING OF THE DEVICE IS

DONE BY THE PROGRAM.THE DEVICE IS SET UP, A SPECIFIC NUMBER OF

?C%L;CLOCKS ARE DONE, AND A TEST IS MADE FOR A SIGNIFICANT

IN CHECKING DATA, THE SOF TWARE EMULATES THE HARDWARE AND USES
THE PROCESSOR CARRY BIT AFTER A ROTATE TO DETERMINE WHAT THE

OUTPUT SHOULD BE AT THE TRANSMITTER BIT WINDOW A BIT AT A
TIME. THE PROGRAM THEN COMPARES THE EMULATED SOF TWARE BIT TO

THE HARDWARE BIT OUTPUT. THE PROCESS IS REPEATED UNTIL ALL

DATA IS CHECKED.

THE TRANSMITTER BCC IS CHECKED USING THE CRC.CCITT POLYNOMIAL

IN THE SAME WAY AS DATA, WITH ONE EXCEPTION--THE BCC IS
CALCULATED FIRST BY THE PROGRAM AND THEN COMPARED TO THE
OUTPUT OF THE TRANSMITER.

CURRENTLY THERE ARE THREE OFF-LINE DIAGNOSTICS THAT ARE TO BE
RUN IN SEQUENCE TO ENSURE THAT IF AN ERROR SHOULD OCCUR IT

WILL BE DETECTED AT AN EARLY STAGE AND ESTABLISH THAT

DIAGNOSIS OF THE ERROR WILL BE IMMEDIATE TO DISCOVERING THE

SEQ 0002
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PROBLEM.

NOTE: ADDITIONAL DIAGNOSTICS MAY BE ADDED IN THE FUTURE.

THE THREE DIAGNOSTICS ARE:

1. (CZDPB [REV] BASIC AND OFFLINE TRANSMITTER TESTS
2. (ZDPC [REV] OFFLINE RECEIVER AND MODEM CONTROL AND

INTERRUPT TESTS
3. (CZoPD [REV] ?Eg'fém SDLC AND DECMODE DATA AND FUNCTION

NOTE: THERE IS A FOURTH PROGRAM, TAPE CZDPE [REV] WHICH IS A
QUICK-VERIFY TAPE THAT REQUIRES ANSWERING A DIALOG.
ITS FUNCTION IS TO ENABLE THE OPERATOR TO QUICKLY
DETERMINE IF THERE IS A PROBLEM WITH THE DEVICE. SEE
THE DOCUMENTATION IN THAT LISTING FOR MORE INFORMATION.
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REQUIREMENTS

EQUIPMENT

ANY PDP11 FAMILY CPU (WITH MINIMUM 8K MEMORY)
8331?3 (OR EQUILIVALENT)

STORAGE

PROGRAM WILL USE ALL 8K OF MEMORY EXCEPT WHERE ABS AND

BOOTSTRAP LOADER RESIDE. LOCATION 1500 THRU 1560 ARE
ESPECIALLY TO BE NOTED AND LEFT UNTOUCHED BY THE OPERATOR
AFTER THE DUP11 PARAMETER DIALOG HAS BEEN EXECUTED OR AFTER
THE DEFAULT SETUP HAS BEEN DONE.

LOADING PROCEDURE

ME THOD

ALL PROGRAMS ARE IN ABSOLUTE FORMAT AND ARE LOADED USING THE
ABSOLUTE LOADER. NOTE: IF THE DIAGNOSTICS ARE ON A MEDIA
SUCH AS DISK, MAGTAPE, DECTAPE, OR CASSETTE FOLLOW
INSTRUCTIONS FOR THE MONITOR WHICH HAS BEEN PROVIDED ON THAT
SPECIFIC MEDIA.

ABSOLUTE LOADER STARTING ADDRESS = *+500

MEMORY SIZE

(%)=

8K 37
12K 57
16K 77
20K 117
24K 137
28K 157

PLACE ADDRESS OF ABS LOADER INTO.SWITCH REGISTER. (ALSO PLACE

'HALT' SW UP)

DEPRESS 'LOAD ADDRESS®' KEY ON CONSOLE AND RELEASE.

DEPRESS 'START KEY' ON CONSOLE AND RELEASE (PROGRAM SHOULD NOW
BE LOADING INTO CPU)

SEQ 0004
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STARTING PROCEEDURE

A. SET SWITCH REGISTER TO 000200

B. DEPRESS 'LOAD ADDRESS' KEY AND RELEASE

C. SET SWR TO ZERO FOR DEFAULT PARAMETERS ESTABLISHED IN THE
TAPE (SEE SECTION 8.5.3 FOR FULL EXPLANATION OF DEFAULT
PARAMETERS) OR LEAVE SWR BIT 7=1 TO USE EXISTING
PARAMETERS PREVIOUSLY SET UP BY THE DUP11 PARAMETER DIALOG

OR A PREVIOUSLY RUN DUP11 DIAGNCSTIC. SET SWR=1 TO GO
THROUGH THE PARAMETER DIALOG. (IT IS NOT NECESSARY TO

INPUT NEW PARAMETERS FOR EACH TAPE.) (SECTION 7.2, 8.4 AND
8.5 MAY BE HELPFUL)

D. DEPRESS °'START KEY' AND RELEASE. THE PROGRAM WILL TYPE
MAINDEC NAME AND PROGRAM NAME (IF THIS WAS THE FIRST START

UP OF THE PROGRAM) AND ALSO THE FOLLOWING:

'EXAMPLE

'MAP OF DUP11 STATUS'

1500 160050 CSR OF FIRST DUP11
1502 000300 VECTOR OF FIRST DUP11
1504 140026 STATUS AND SYNC FOR FIRST DUP11
1506 160060 CSR OF SECOND DUP11
1510 000310 VECTOR OF SECOND DUP11
1512 140026 STATUS AND SYNC FOR SECOND DUP11

THE ABOVE IS ONLY AN EXAMPLE! THIS WOULD INDICATE THE STATUS

TABLE STARTING AT ADDRESS 1500 IN THE PROGRAM. THE STATUS

TABLE MUST BE VERIFIED BY THE USER. FOR INFORMATION ON THE

STATUS TABLE SEE SECTION 8.4 FOR HELP.

IT IS POSSIBLE FOR THE OPERATOR TO MANUALLY CHANGE (TOGGLE IN)
THE INFORMATION IN THE MAP TO SUIT A SPECIFIC CONFIGURATION OF

DEVICES, BUT THE RESPONSIBILITY FOR VERIFYING THAT INFORMATION
RESTS WITH THE OPERATOR.

THE PROGRAM WILL TYPE 'R' AND PROCEED TO RUN THE DIAGNOSTIC

CONTROL SWITCH SETTINGS

SW 15 SET: HALT ON ERROR
SW 14 SET: LOOP ON CURRENT TEST
SW 13 SET: INHIBIT ERROR PRINT OUT
SW 12 SET: |INHIBIT TYPE OUT/BELL ON ERROR.
SW 11 SET: INHIBIT ITERATIONS. (QUICK PASS)
SW 10 SET: ESCAPE TO NEXT TEST ON ERROR
SW 09 SET: LOOP WITH CURRENT DATA
SW 08 SET: CATCH ERROR AND LOOP ON IT
SW 07 SET: USE PREVIOUS STATUS TABLE.
SW 06 -~ SET: RESERVED
SWw 05 SET: RESERVED
SW 04 SET: RESERVED

SEQ 0005
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Sw 03 SET: SELECT DUP11°'S DESIRED ACTIVE
SWw 02 SET: LOCK ON SELECTED TEST
SW 01 SET: RESTART PROGRAM AT SELECTED TEST

SWw 00 SET: ENTER PARAMETERS USING MANUAL DIALOG

SWITCHES 8 THROUGH 15 ARE DYNAMIC AND SHOULD BE USED AS NEEDED
IN THE DIAGNOSTIC. SWITCHES O THROUGH 3 ARE STATIC (ONLY ARE
OPERABLE WHEN THE MONITOR PORTION OF THE TAPE IS RUNNING) AND
SHO%.B ”%E SET UP PRIOR TO STARTING OR RESTARTING THE
DIAGNOSTIC.

4.1.2 SWITCH REGISTER RESTRICTIONS

SWw 03 RESELECT DUP11'S DESIRED ACTIVE. PLEASE NOTE THAT A
MESSAGE IS TYPED OUT FOR SETTING THE SWITCH REGISTER
EQUAL TO DUP11°'S ACTIVE. THIS MEANS IF THE SYSTEM HAS
THREE DUP11S BITS 00, 01, 02 WILL BE SET IN LOC
'DUPACTV' FROM THE SWITCH REGISTER. USING THIS
SWITCH(SWO3) ALTERS THAT LOCATION. THEREFORE, IF
THREE DUP11S ARE IN THE SYSTEM #«DQ NOT*%« SET

SWITCHES GREATER THAN SW 02 IN THE UP POSITION. THIS
WOULD BE A FATAL ERROR. DO NOT SELECT MORE ACTIVE
DUP11S THAN HAS BEEN GIVEN INFORMATION ABOUT IN THE
PARAMETER PROGRAM.

AS EXPLAINED IN SECTION 1.0, DEVICES SHOULD BE
CONSECUTIVELY ADDRESSED, AND CAN BE SELECTED OR
DESELECTED USING THIS SWITCH.

METHOD: A. LOAD ADDRESS 200
B. START WITH SW 03=1
(. PROGRAM WILL TYPE MESSAGE
D. SET THE BINARY NUMBER OF DUP11S DESIRED

ACTIVE. EXAMPLE: 1=1 DUP11; 3=2 DUP11;
7=3 DUP11; 17=4 DUP11 37=5 DUP11 ETC.
PRESS CONTINUE.

E. NUMBER (IF VALID) WILL BE IN DATA LIGHTS
(EXCLUDING 11/05)

F. SET WITH ANY OTHER SWITCH SETTINGS

DESIRED. PRESS CONTINUE.

SW 01 RESTART PROGRAM AT SELECTED TEST. IT IS STRONGLY
SUGGESTED THAT AT LEAST ONE PASS HAS BEEN MADE BEFORE
TRYING TO SELECT A TEST THAT IS NOT IN THE ORDER OF

SEQUENCE. THE REASON FOR THIS IS THAT THE PROGRAM HAS
TO CLEAR AREAS AND SET UP PARAMETERS IN THE MONITOR

PORTION OF THE PROGRAM. IT IS POSSIBLE TO LD200, AND
RAISE SWO1, THEN START, PROVIDED PARAMETERS HAVE BEEN
PREVIOUSLY SET UP AS DESCRIBED IN SECTION 4.0. ALSO,
WHEN A TEST IS SELECTED, ALWAYS START AT THE VERY

BEGINNING OF THAT TEST.

SW 09 LOOP ON CURRENT DATA. THIS SWITCH WILL ONLY WORK IF
CALL °"SCOP1' IS IN THAT TEST. THE REASON IS THAT MOST
TESTS DEAL WITH BLOCKS OF DIFFERENT DATA TO BE SENT OR

RECEIVED ALL AT ONCE, THUS KNOWN AS BLOCK DATA--ONE
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PATTERN CAN'T BE SINGLED OUT. (SEE SECTION 4.1.3.8.1)
4.1.3 SWITCH REGISTER PRIORITIES

A) ERROR SWITCHES

1. SW 12 DELETE PRINT OUT/BELL ON ERROR.

2. SW 13 DELETE ERROR PRINTOUT.
3. SW 15 HALT ON THE ERROR.
4. SW 08 GOTO BEGINNING OF THE TEST(ON ERROR).
S. SW 10 GOTO NEXT TEST(ON ERROR).

B) SCOPE SWITCHES

1. SW 09 - (IF ENABLED BY 'SCOP1') ON AN ERROR.IF AN
ASTERISK '«' IS PRINTED IN FRONT OF THE TEST NUMBER
(EX. +TEST NO. 10), SWO9 IS INCORPORATED IN THAT
TEST AND THEREFORE SW09 IS USUALLY THE BEST SWITCH FOR
THE SCOPE LOOP (SW14=0, SW10=0, SW09=1, Sw08=0).

IF SWO9 IS NOT ENABELED AND THERE IS A *HARD* ERROR
(CONSTANT ERROR) SWO8 IS BEST. (SW14=0, Sw10=0,
SW09=0, Sw08=1).

FOR INTERMITTENT ERRORS, SW14=1 WILL LOOP ON TEST
REGARDLESS OF ERROR OR NO ERROR. (SW14=1, SW10=0,
Sw09=0, SwW08=1,0)

2. SW 14 - LOOP ON TEST. WILL LOOP ON TEST UNTIL SWITCH
IS LOWERED.

3. SW 11 = INHIBIT ITERATIONS (QUICK PASS). ALLOWS ONLY
ONE PASS THROUGH A TEST.

4.2 STARTING ADDRESS

STARTING ADDRESS IS AT 000200. THERE ARE NO OTHER STARTING
ADDRESSES FOR THE DUP11 DIAGNOSTICS.

NOTE: IF ADDRESS 000042 IS NON-ZERO THE PROGRAM ASSUMES IT
IS UNDER ACT11 OR XXDP (ONTROL AND WILL ACT
ACCORDINGLY. AFTER *ALL* AVAILABLE DUP11'S ARE TESTED
THE PROGRAM WILL RETURN TO ‘'XXDP' OR ‘ACT=11°.
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OPERATING PROCEDURE

SEQ 0008

WHEN THE PROGRAM IS INITIALLY STARTED MESSAGES AS DESCRIBED IN
SECTION FOUR WILL BE PRINTED AND PROGRAM WILL BEGIN RUNNING
THE DIAGNOSTIC.

PROGRAM AND/OR OPERATOR ACTION

THE TYPICAL APPROACH SHOULD BE

1. HALT ON ERROR (VIA SW 15=1) WHENEVER AN ERROR OCCURS.

2. CLEAR SW 15.
3. SET SW 14: (LOOP ON THIS TEST)
4. SET SW 13: (INHIBIT ERROR PRINT OUT)

THE TEST NUMBER AND PC WILL BE TYPED OUT AND POSSIBILY AN

ERROR MESSAGE (THIS DEPENDS ON THE TEST), TO GIVE THE OPERATOR
AN IDEA AS TO THE SOURCE OF THE PROBLEM. IF IT IS NECESSARY
TC KNOW MORE INFORMATION CONCERNING THE ERROR REPORT, LOOK IN

THE LISTING FOR THAT TEST NUMBER WHICH WAS TYPED OUT AND THEN

NOTE THE PC OF THE ERROR REPORT. IN THIS WAY THE EXACT
FUNCTIONING OF THE TEST CAN BE INTERPRETED SINCE THE ERROR PC

IS THE HLT+2 LOCATION.

IN SOME TESTS, THERE IS A SUBROUTINE CALL THROUGH A REGISTER
(E.G., JSR_ R1,FLAG). THE SUBROUTINE DOES THE DATA CHECKING
FOR THE TEST AND WILL REPORT AN ERROR ONE OCCURS. THIS
MEANS THAT THE FAILING TEST COULD BE IN ONE PART OF THE

LISTING WHILE THE SUBROUTINE THAT FOUND THE ERROR IS IN
ANOTHER PART. TO DETERMINE THE PC OF THE FAILING TEST, CHECK
THE REGISTER USED BY THE SUBROUTINE.

RETURN ADDRESS OF THE FAILING TEST.

ERRORS

IT WILL CONTAIN THE

AS DESCRIBED PREVIOUSLY THERE WILL ALWAYS BE A TEST NUMBER AND

PC TYPED OUT AT THE TIME OF AN ERROR (PROVIDING SW 13=0 AND SW

12=0). IN MOST CASES ADDITIONAL INFORMATION WILL BE SUPPLIED
TO THE ERROR MESSAGE WHICH IS TO GIVE THE OPERATOR AN

INDICATION OF THE ERROR.

ERROR RECOVERY

IF FOR SOME REASON THE DUP11 SHOULD 'HANG THE BUS' (GAIN
CONTROL OF BUS SO THAT CONSOLE MANUAL FUNCTIONS ARE INHIBITED)
AN INIT OR POWER DOWN/UP IS NECESSARY FOR OPERATOR TO REGAIN

CONTROL OF CPU. IF THIS SHOULD HAPPEN LOOK IN LOCATION
'TSTNO® FOR THE NUMBER OF THE TEST THAT WAS RUNNING AT THE

TIME OF THE CATASTROPHIC ERROR. THIS GIVES THE OPERATOR SOME

IDEA AS TO WHAT THE DUP11 WAS DOING AT THE TIME OF THE ERROR.
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| 7.0 RESTRICTIONS

7.1 STARTING RESTRICTIONS

SEE SECTION 4 (PLEASE). STATUS TABLE SHOULD BE VERIFIED
REGARDLESS OF HOW THE PROGRAM WAS STARTED. ALSO, IT IS

IMPORTANT TO USE THE LISTING ALONG WITH THE INFORMATION
PRINTED ON THE TTY TO COMPLETLY ISCLATE PROBLEMS.

Vol OPERATING RESTRICTIONS

DUP11 "PARAMETER DIALOG'' MUST BE RUN ONLY ONCE PRIOR TO THE
FIRST RUNNING OF ANY DUP11 DIAGNOSTIC IF ‘DEFAULT PARAMETERS''
ARE NOT USED. IF ONLY DUP11 DIAGNOSTICS WERE LOADED AFTER
DUP11 PARAMETER SETUP, AND IF CORE_ MEMORY HAS NOT BEEN
CHANGED, I.E.,USE OF DIAGNOSTICS OTHER THAN DUP11 DIAGNOSTICS,
AND IF THERE WERE NO DUP11 CONFIGURATION CHANGES, THE DUP11
PARAMETER SETUP NEED NEVER BE RUN AGAIN. HOWEVER, IF ANY OF

THE ABOVE HAVE BEEN VIOLATED THE DUP11 PARAMETER SETUP MUST BE
RUN AGAIN BEFORE RUNNING THE DIAGNOSTICS. UNDER NORMAL
OPERATING CONDITIONS IT SHOULD NOT BE NECESSARY TO INPUT NEW
:mggks TO SUBSEQUENT DIAGNOSTICS, UNLESS A CHANGE IS

NOTE: AN ALTERNATIVE TO THE ABOVE IS ATTEMPTING THE DEFAULT
IS’A“:NOETERS WHEN THE PROGRAM IS INITIALLY STARTED WITH

7.3 HARDWARE CONFIGURATION RESTRICTIONS FOR THE PURPOSE OF RUNNING

MULTIPLE DUP11'S IN CHAIN MODE.

1. (SR ADDRESSES MUST BE CONSECUTIVE.

2. VECTORS ARE CONSECUTIVE IF PARAMETER PROGRAM IS USED.
. & Sll.kL.éGUPERS ARE ASSUMED TO BE AS SETUP IN PARAMETER

4. PRIORITY LEVEL MUST BE THE SAME FOR ALL DEVICES.
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MISCELLANEOUS

EXECUTION TIME

ALL DUP11 DEVICE DIAGNOSTICS WILL GIVE AN "END PASS' MESSAGE
(PROVIDING NO ERRORS AND SW12=0) WITHIN & MINS. THIS IS
ASSUMING SW11=1 (DELETE ITERATIONS) IS SET TO GIVE THE FASTEST
POSSIBLE EXECUTION. THE ACTUAL EXECUTION TIME DEPENDS GREATLY
ON THE PDP11 CPU CONFIGURATION.

+PASS COMPLETE

NOTE: ~EVERY~ TIME THE PROGRAM IS STARTED, THE TESTS WILL RUN
AS IF SW11 (DELETE ITERATIONS) WAS UP (=1). THIS IS TO VERIFY
NO *HARD* ERRORS AS SOON AS POSSIBLE. THEREFORE THE FIRST
PASS=-EACH TIME PROGRAM IS STARTED--WILL BE A 'QUICK PASS'

UNTIL ALL DUP11°'S IN SYSTEM ARE TESTED. WHEN THE DIAGNOSTIC
HAS COMPLETED A PASS WITH THE NORMAL ITERATION COUNT

éé(.g();g:;g[)). THE FOLLOWING IS AN EXAMPLE OF THE PRINT OUT TO

END PASS CZDPBC CSR:160050 VEC:300 PASSES:000001 ERRORS:000000

NOTE: THE NUMBERS FOR CSR AND VEC ARE NOT NECESSARILY THE
VALUES FOR THE DEVICE. THEY ARE ONLY FOR THIS

EXAMPLE.

KEY LOCATIONS

RETURN CONTAINS THE ADDRESS WHERE PROGRAM WILL RETURN
WHEN ITERATION COUNT IS REACHED OR IF LOOP ON

TEST IS ASSERTED.

NEXT CONTAINS THE ADDRESS OF THE NEXT TEST TO BE
PERFORMED.

TSTNO CONTAINS THE NUMBER OF THE TEST NOW BEING
PEFORMED.

RUN THE BIT IN 'RUN' ALWAYS POINTS ONE PAST THE
DUP11 CURRENTLY BEING TESTED. EXAMPLE: (RUN)
/0000000001000000 MEANS THAT DUP11 NO.05 IS
THE DUP11 NOW RUNNING.

DUPCROO-DUPCRO7
(1500)=(1560) THESE LOCATIONS CONTAIN THE INFORMATION NEEDED

TO TEST UP TO 8 (DECIMAL) DUP11S SEQUENTIALY.

THEY CONTAIN THE CSR, VECTOR AND STATUS

CONCERNING THE CONFIGURATION OF EACH DUP11.

DUPACTV EACH BIT SET IN THIS LOCATION INDICATES THAT
THE ASSOCIATED DUP11 WILL BE TESTED IN TURN.

EXAMPLE: (DUPACTY) /0000000000011111 MEANS
THAT DUP11 NO. 00.01.02,03,04 uxu. ee TESTED.
EXAMPLE: (DUPACTV) /0000600 MEANS
THAT DUP11 NO. 00,04 WILL BETESTED.

SEQ 0010
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RXCSR CONTAINS THE RECEIVER CSR OF THE CURRENT DUP11
UNDER TEST.

MORE ON THAT ‘STATUS TABLE' (1500-1560)

'MAP OF DUP11 STATUS'

1500 160050
1502 000300
1504 140000

THE ABOVE INFORMATION WILL BE REPEATED FOR EACH OF UP TO 8
DUP11°'S IN THE SYSTEM (THESE WILL FOLLOW UNDER THIS TABLE).
EXPLANATION:

1500 160050 THIS IS THE SYSTEM CONTROL REGISTER FOR THE
1ST DUP11 IN THE SYSTEM.

1502 000300 THIS IS VECTOR 'A' FOR THE FIRST DUP11 IN THE
SYSTEM.

1504 140026 THIS REPRESENTS SYNC AND SOF TWARE STATUS FOR
THE FIRST DUP.

THE BITS ARE AS FOLLOWS:

BIT 15 SET: OPTIONAL CLEAR JUMPER IN
BIT 14 SET: TURNAROUND CONNECTOR ON
BIT 13 SET:
BIT 12 SET:

BIT 11 SET:

BIT 10 SET:
BIT 09 SET:
BIT 08 SET:
BIT 07-00 SYNC CHARACTER FOR DECMODE TESTS.

THE ABOVE IS REPEATED FOR EACH DUP1! IN THE SYSTEM. THE TABLE

IS FILLED BY DEFAULT PARAMETERS OR BY THE MANUAL PARAMETER
INPUT AS DESCRIBED PREVIOUSLY. ALSO, IF DESIRED BY THE
USER = THE LOCATIONS MAY BE ALTERED BY HAND (TOGGLED IN) TO
SUIT THE SPECIFIC CONFIGURATION, THUS MAKING EACH DEVICE MAP
DIFFERENT. IT IS THE RESPONSIBILITY OF THE OPERATOR TO VERIFY
THE DATA IN THE MAP.

METHOD OF DEVELOPING DEFAULT PARAMETERS

DEFAULT PARAMETER ASSUMPTIONS

TOO MUCH HARDWARE WOULD HAVE TO BE ANALYZED TO SIZE THE THE

PARAMETERS. THE FROGRAM MUST ASSUME THE VARIATIONS. THE

RESULT, IF NOT TO YOUR SPECIFIC CONFIGURATION, MAY BE ALTERED

BY HAND (TOGGLE IN) AS DESIRED. IN THIS WAY 95% OF THE
';:ER:EfF&E?’EQ SETUP WAS DONE BY THE PROGRAM AND 5% BY YOU.

SEQ 0011
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1) ALL JUMPERS ARE ASSUMED TO BE IN THE FOLLOWING
CONF IGURATJON.

ouT

X

W1=SECONDARY REC ENABLE
W2=SEC REC DISABLE
W3=CLEAR OPTION
W4=SEC TX ENABLE
W5=DSC A CONTROL
W6=A+B DS CONTROL
W7=BUS GRANT CONTROL

2) THE H325 TURN AROUND CONNECTOR IS ASSUMED TO BE ON.

3) THE MANUFACTURING OPTION CSR OF 160050 AND VECTOR OF 770
ARE USED.

4) THE BR LEVEL IS ASSUMED TO BE 5.

(I)'EUT:[I.IL. ADJUSTMENTS PLEASE REFER TO SECTION 8.4 FOR GREATER

x
x
 

X
x
X
x
 
X
2
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100000

020000
010000

002000
001000

000200
000100

000020
000010

000001

N 1
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INTRODUCTION TO DUP11 DIAGNOSTIC

;*CZDPBCO /<377>/DUP11 OFLNE SDLC XMTR
'CU’YRIGHT(C) 1975,1978, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754

;STARTING PROCEDURE
;LOAD PROGRAM
;LOAD ADDRESS 000200
:PRESS START
;PROGRAM WILL TYPE ‘‘CZDPBCO /<377>/DUP11 OFLNE SDLC XMTR **
:PROGRAM WILL TYPE ‘R'* TO INDICATE THAT TESTING HAS STARTED
:AT THE END OF A PASS, PROGRAM WILL TYPE PASS COMPLETE MESSAGE

;AND THEN RESUME TESTING

;SWITCH REGISTER OPTIONS

SW15=100000 :=1_HALT ON ERROR
SW14=40000 ;=1,LO0P ON CURRENT TEST
SW13=20000 ;=1,INHIBIT ERROR TYPEOUT
SW12=10000 ;=1,DELETE TYPEOUT/BELL ON ERROR.
SW11=4000 ;=1,INHIBIT ITERATIONS
SW10=2000 ;=1,ESCAPE TO NEXT TEST ON ERROR
SW09=1000 ;=1,L00P WITH CURRENT DATA
Sw08=400 :=1,LO0P ON ERROR
SW07=200
SwW06=100
SW05=40
SW04=20
Sw03=10 ;SELECT DUP'S DESIRED ACTIVE

sNOTE:THIS MUST NOT EXCEED ORIGINAL COUNT
Sw02=4 ;LOCK ON TEST SELECT
Sw01=2 sRESTART PROGRAM AT SELECTED TEST
Sw00=1 ;ENTER PARAMETERS
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592
593
594
595
596
597 000000
598 000001
599 000002
600 000003
601 000004
602 000005
603 000006
604
605
606
607
608
609 177776
610 001150
611
612
613
614

615 005746
616 005726
617 010046
618 012600
619 024646
620 022626
621
622
623
624 100000
625 040000
626 020000
627 010000
628 004000
629 002000
630 001000
631 000400
632 000200
633 000100
634 000040
635 000020
636 000010
637
638 000002
639 000001
640

13:58 PAGE 15
B 2

GENERAL DEFINITIONS AND EQUIVALENCIES

sREGISTER DEFINITIONS

RO=%0
R1=%1
R2=%2
R3=13
RG=%4
R5=%5
SP=%6
PC=%7

;GENERAL REGISTER

sGENERAL REGISTER
;GENERAL REGISTER
;GENERAL REGISTER

;GENERAL REGISTER
;GENERAL REGISTER

;PROCESSOR STACK POINTER
;PROGRAM COUNTER

;LOCATION EQUIVALENCIES

PS=177776

STACK=1150
;PROCESSOR STATUS WORD
;START OF PROCESSOR STACK

s INSTRUCTION DEF INITIONS

PUSH1SP=5746
POP1SP=5726
PUSHR0=10046
POPRQ=12600
PUSH2SP=24646
POP2SP=22626
.EQUIV EMT HLT

BIT15=100000
BIT14=40000
BIT13=20000
BI1T12=10000
BIT11=4000
BIT10=2000
BIT9=1000
BIT8=400
BIT7=200
BIT6=100

;DECREMENT PROCESSOR STACK 1 WORD
s INCREMENT PROCESSOR STACK 1 WORD
:SAVE RO ON STACK
;RESTORE RO FROM STACK
;DECREMENT STACK TWICE
s INCREMENT STACK TWICE
;BASIC DEFINITION OF ERROR CALL

SEQ 0014
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000174
000176

000200

001000

000174
000000
000000
000200
000137

001000
005377

001200

177570
177570

177560
177562
177564
177566

c 2
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001562

055103 050104

TRAPCATCHER FOR UNEXPECTED INTERUPTS

::'t"'Q't"*ttttt'*fi*ti*i*tttitt*.tifi*ttttit*tfiittttitt'fi*itt't't't.t

; TRAPCATCHER FOR ILLEGAL INTERRUPTS
:THE STANDARD '‘TRAP CATCHER'' IS PLACED

:BETWEEN ADDRESS O TO ADDRESS 776.
:IT LOOKS LIKE "PC+2 HALT'.

;;t*ti*t*tttitttli*fitt*t'tittfi**'**itfittt'ttitit*ttttttt*l'tti'tt'tttt

.=0

;STANDARD INTERRUPT VECTORS

PFAIL :POWER FAIL HANDLER
340 “SERVICE AT LEVEL 7
HLT “ERROR HANDLER
340 *SERVICE AT LEVEL 7
_TRPSRV GENERAL HANDLER DISPATCH SERVICE

> 340 “SERVICE AT LEVEL 7

s 0 :SAVE FOR ACT=11 OR DDP2
0 *RETURN ADDRESS IF UNDER ACT-11 OR DDP2
0 “SAVE FOR ACT-11 OR DDP2

o, SENDD “FOR USE WITH ACT=11 OR DDP2

% 0 :ACT=11 PROGRAM CHARACTERISTICS

=174
DISPREG:0 :SOFTWARE DISPLAY REGISTER
SWREC: 0 *SOFTWARE SWITCH REGISTER

X JMP _START :GO TO START OF PROGRAM

.=1000
MTITLE: .ASCIZ <377><12>/CZDPBCO /<377>/DUP11 OFLNE SDLC XMTR /<377>

.=1200
:SWR AND LIGHTS

DISPLAY: 177570 :11/45 CONSOLE LIGHTS
SWR: 177570 *INDIRECT POINTER TO SWITCH REGISTER

- INDIRECT POINTERS TO TELETYPE VECTORS AND REGISTERS

TKCSR: 177560 :TELETYPE KEYBOARD CONTROL REGISTER
TKDBR: 177562 “TELETYPE KEYBOARD DATA BUFFER
TPCSR: 177564 TELEPRINTER CONTROL REGISTER
TPDBR: 177566 TELEPRINTER DATA BUFFER

;PROGRAM CONTROL PARAMETERS
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697 001214 000000 RETURN: 0 :SCOPE ADDRESS FOR LOOP ON TEST
698 001216 000000 NEXT: 0 :ADDRESS OF NEXT TEST TO BE EXECUTED
699 001220 000000 LOCK: 0 :ADDRESS FOR LOCK ON CURRENT DATA
700 001222 000001 ICOUNT: 1 INUMBER OF ITERATIONS THAT CURRENT TEST WILL BE EXECUTED
701 001224 000000 LPCNT: 0 :NUMBER OF ITEREATIONS COMPLETED
702 001226 000000 TSTNO: 0 INUMBER OF TEST IN PROGRESS
703 001230 000000 PASCNT: 0 NUMBER OF PASSES COMPLETED
704 001232 000000 ERRCNT: 0 :TOTAL NUMBER OF ERRORS
705 001234 000000 LSTERR: 0 :PC OF LAST ERROR CALL

707 :PROGRAM VARIABLES
708 - -

709

710 001236 000000 TEMP1: 0 ; TEMPORARY STORAGE
711 001240 000000 TEMP2: 0 : TEMPORARY STORAGE

712 001242 000000 TEMP3: 0 : TEMPORARY STORAGE

713 001244 000000 TEMP4: 0 : TEMPORARY STORAGE
714 001246 000000 TEMPS: 0 : TEMPORARY STORAGE
715 001250 000000 SAVRO: 0 RO STORAGE
716 001252 000000 SAVR1: 0 :R1 STORAGE
717 001254 000000 SAVR2: 0 :R2 STORAGE
718 001256 000000 SAVR3: 0 :R3 STORAGE
719 001260 000000 SAVRG: 0 ‘R4 STORAGE

720 001262 000000 SAVRS: 0 :RS STORAGE
721 001264 000000 SAVSP: 0 STACK POINTER STORAGE
722 001266 000000 SAVPC: 0 :PROGRAM COUNTER STORAGE

724 001270 000000 SAVROA: 0 ;RO STORAGE

725 001272 000000 SAVR1A: 0 :R1 STORAGE
726 001274 000000 SAVR2A: 0 :R2 STORAGE
727 001276 000000 SAVR3A: 0 :R3 STORAGE
728 001300 000000 SAVRGA: 0 :R& STORAGE
729 001302 000000 SAVRSA: 0 :RS STORAGE
730 001304 000000 SAVSPA: 0 STACK POINTER STORAGE
731 001306 000000 SAVPCA: 0 :PROGRAM COUNTER STORAGE

733 001310 000001 DUPACTV: .BLKB 1 :DUP11°S SELECTED ACTIVE.
734 001311 000001 DUPNUM: .BLKB 1 :0CTAL NUMBER OF DUP11'S.
735 001312 000001 SAVACT: .BLKB 1 :ORIGINAL ACTV. DEVICES.
736 001313 000001 SAVNUM: .BLKB 1 :WORKABLE NUMBER.
737 001314 000001 RUN: .BLKB 1 *POINTER ONE PAST RUNNING DEVICE.
738 001316 .EVEN
739 001316 001500 CREAM: DUP.MAP ;TABLE POINTER.
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740
761
762
743
744
745
746
747

100000
040000
020000
010000

02-MAY-78
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PROGRAM PARAMETERS, VARIABLES, AND TRAP (CALLS.
13:58 PAGE 18

:CONTRCL REGISTER DEF INITIONS

:RXCSR BIT DEFINITIONS
DSCA=BIT15 ;DATA SET CHANGE A
RING=BIT14 sRING
CTS=BIT13 ;CLR TO SEND
CARDET=BIT12 ;CARRIER DETECT
RE ACT=BIT11 sREC ACTIVE
SRD=BIT10 ;SEC REC DATA
DSR=BITY ;DATA SET RDY
STPSYN=BITS8 ;STRIP SYNC
RXDONE=BIT7 sREC DONE
RINTEN=BIT6 sREC INTR ENABLE
DSINTE=BITS ;DSC INTR ENABLE
RCVEN=BIT4 sREC ENABLE
STD=BIT3 ;SEC XMIT DATA
RTS=BIT?2 ;REQ TO SEND
DTR=BIT1 ;DATA TERM RDY
DSCB=BITO ;DATA SET CHANGE B

sRXDBUF BIT DEFINITIONS

RXDERR=BIT15 ;REC DATA ERROR
OVRRUN=BIT14 ;OVERRUN ERROR
CRCERR=BIT12 :CRC ERROR
RABORT=BIT10 sREC ABORT
REOM=BIT9 sREC END OF MESSAGE
RSOM=BIT8 ;REC START OF MESSAGE

sPARCSR BIT DEFINITIONS

DECMOD=BIT15 ;DEC MODE (DDCMP)
CRCEN=BIT9 s CRC ENABLE
PRISEC=BIT12 ;PRI/SEC SELECT

:TXCSR BIT DEFINITIONS

TXDLAT=BIT15 :TX DATA LATE
MTDATA=BIT14 sMAINT DATA OUT
CLK=BIT13 s CLK
MMODEB=BIT12 sMAINT MODE B
MMODEA=BIT11 sMAINT MODE A
BITW=BIT10 ;BIT WINDOW INPUT
TXACT=BIT9 sTX ACTIVE
MRESET=BIT8 sMASTER RESET
TXDONE=BIT7 sXMIT DONE
TXINTE=BIT6 ;XMIT DONE INTR ENABLE
SEND=BIT4 : SEND
HDXEN=BIT3 +HDX/FDX

sTXCSR WRD DEFINITIONS

USER=0 ;USER MODE
MMODE =14000 sMAINT INT MODE
MEXT=10000 sMAINT EXT MODE
SYSTST=4000 ;SYSTEM TEST MODE

;TXDBUF BIT DEFINITIONS

RCRC7T=BIT15
RCRCIN=BIT14

TCRC7T=BIT13
TCRCIN=BIT12

SEQ 0017
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796
797

798

813

001320
001322
001323
001324
001326
001330
001332
001334
001336

004000
002000
001000
000400
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PROGRAM PARAMETERS, VARIABLES, AND TRAP CALLS.
13:58 PAGE 19

TIMER=BIT11 sMAINTENANCE TIMER
TABORT=BIT10 ; TRANSMIT ABORT
TEOM=BIT9 sTRANSMIT END OF MESSAGE
TSOM=BIT8 ;TRANSMIT START OF MESSAGE

sMISC. PROGRAM DEF INITIONS

PRIRTY:.WORD 0
TCNFLG: .BLKB 1

OPCLRJ: .BLKB 1
DATA: .WORD O
SHIFTS: .WORD 0
MIND: WORD 0
FLAG: .WORD 0

STJMFL: .BLKW 1

SRJMFL: .BLKW 1

SEQ 0018
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814
815
816
817

o
o 3

8
8
8
8
R W
 
=
O

833 001344

835 001344

837 001346

839 001350

841 001352

843 001354

845 001356

847 001360

849 001362

851 001364

853 001366

855 001370

857 001372

30A(1052) 02-MAY-78
02-MAY-78 08:23

000

000

000000

G 2
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PROGRAM PARAMETERS, VARIABLES, AND TRAP CALLS.

;PROGRAM CONTRCL FLAGS

INIFLG: .BYTE 0 sPROGRAM INITIALIZATION FLAG
ERRFLG: .BYTE 0 sERROR OCCURED FLAG
LOKFLG: .BYTE O ;LOCK ON CURRENT TEST FLAG
QV.FLG: .BYTE 0 ;QUICK VERIFY FLAG.

;ON FIRST PASS OF EACH DUP11 ITERATIONS
sWILL BE SUPPRESSED

.EVEN
$v=0

;DEFINITIONS FOR TRAP SUBROUTINE CALLS
;POINTERS TO SUBROUTINES CAN BE FOUND
;IN THE TABLE IMMEDIATLY FOLLOWING THE DEFINITIONS

::tt.ti."t't'tt.Q'Ql.t""'Q.Q'QfiQttttfifii.liltfiflfiitt..t'!tt'*fi.fitt..t

sZSfiEQ?éAp+o ;CALL TO SCOPE LOOP AND ITERATION HANDLER
scop1=tRA§§3:§ ;CALL TO LOOP NN CURRENT DATA HANDLER
rvpe:rRAf;epf :CALL TO TELETYPE OUTPUT ROUTINE

1~sra=ra¢7ggra :CALL TO ASCII STRING INPUT ROUTINE

1~srsa=r??:§?en ;CALL TO INPUT ERROR HANDLER

PARAM=TRAP+5 ;CALL TO NUMERICAL DATA INPUT ROUTINE

SAvos=rRé§2€:: :CALL TO REGISTER SAVE ROUTINE
RESOS=TRAP+7 ;CALL TO REGISTER RESTORE ROUTINE

co~vnr=r§2§§?3 ;CALL TO DATA OUTPUT ROUTINE
CNVRT=TRAPSTT :CALL TO DATA OUTPUT ROUNTINE WITHOUT CR/LF.
PKCLK=TR§§SE?; ;CALL TO CLOCK ROUTINE
SETFLG=T?§?;;EG ;CALL TO TELETYPE INPUT ROUTINE

::t"'t.t.ttttt.tttttttt't"'t.Q't!fittt't'.'tl."t"tt.'..'..tt"tt"'

SEQ 0019
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001374
001376
001400
001402
001404
001406
001410
001412
001414
001416
001420
001422
001424
001426
001430

001432

001433

001434
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010

000000
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PROGRAM PARAMETERS, VARIABLES, AND TRAP (CALLS.

DUPRVC:
DUPRPS:

DUPTVC:

DUPTPS:
RXCSR:

RXDBUF:

PARCSR:

TXCSR:

TXDBUF:

DUPSEC:
HUPPSR:

HUPRBF:

HUPRCR:

HUPTBF:

HUPTCR:

MASK .A:

C(LK.A:

L00.00:

;DUP11 VECTOR AND REGISTER INDIRECT POINTERS

;POINTER TO DUP11 RECEIVER INTERRUPT VECTOR
sPOINTER TO DUP11 RECEIVER INTERRUPT SERVICE PS
sPOINTER TO DUP11 TRANSMITTER INTERRUPT VECTOR

sPOINTER TO DUP11 TRANSMITTER INTERRUPT SERVICE PS
;POINTER TO DUP11 RECEIVER STATUS REGISTER
;POINTER TO DUP11 RECEIVER DATA BUFFER
;POINTER TO DUP11 PARAMETER STATUS REGISTER
;POINTER TO DUP11 TRANSMITTER STATUS REGISTER

;POINTER TO DUP11 TRANSMITTER DATA BUFFER
;POINTER TO DUP11 SECONDARY REGISTER SELECT REGISTER
;POINTER TO PARAMETER STATUS HIGH BYTE
;POINTER TO RECEIVER BUFFER HIGH BYTE
;POINTER TO RECEIVER CONTROL REG HIGH BYTE
sPOINTER TO TRANSMITTER BUFFER HIGH BYTE
sPOINTER TO TRANSMITTER CONTROL REG HIGH BYTEO

O
0
O
O
0
O
0
O
0
O
0
O
0
 
O
O
 

O
O
0
O
O
0
O

;DUP11 CONTROL INDICATORS FOR CURRENT DUP11 UNDER TEST

.BYTE 000 ;LAST CHAR TO TEST AND PARITY MASK

.BYTE 8. ;NUMBER OF CLOCKS NEEDED FOR ONE (HAR

000000 ;PARAMETERS
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001500
001500
001502
001504

001506
001510
001512

001514
001516
001520

001522
001524
001526

001530
001532
001534

001536
001540
001542

001544
001546
001550

001552
001554
001556

001560

02-MAY-78 08:23

001500

000001

000001

000001

000001

000001

000001

000001

000001

000001

000001

000001

000001

000001

000001

000001

000001

13:58 PAGE 22
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PROGRAM PARAMETERS, VARIABLES, AND TRAP

;DUP11 STATUS TABLE AND ADDRESS

CALLS.

ASSIGNMENTS

.=1500
DUP.MAP:

DUPCRO: .BLKW
DUPTRO: .BLKW
DUPQ.A: .BLKW

DUPCR1: .BLKW
DUPTR1: .BLKW
DUP1.A: .BLKW

DUPCR2: .BLKW
DUPTRZ2: .BLKW
DUP2.A: .BLKW

DUPCR3: .BLKW
DUPTR3: .BLKW
DUP3.A: .BLKW

DUPCR4: .BLKW
DUPTRS: .BLKW
DUP4.A: .BLKW

DUPCRS: .BLKW
DUPTRS: .BLKW
DUPS.A: .BLKW

DUPCR6: .BLKW

DUPTR6: .BLKW
DUP6.A: .BLKW

DUPCR7: .BLKW
DUPTR7: .BLKW
DUP7.A: .BLKW

DUP.END:

—_
— 
2
 
-
 

—_
— 
2
 

—
 
e
 
—
d
 

—
_
 
—
 

—
 
2
 
)
 

—_
— 
e
 
=
3
 

—
_
 
)
 
-
 

—_
— 
—
2
 
2

000000

;CONTROL STATUS
sVECTOR 'A’" FOR
;PARAMETER FOR

;CONTROL STATUS
sVECTOR 'A"" FOR
;PARAMETER FOR

;CONTROL STATUS
sVECTOR "A"" FOR
;PARAMETER FOR

:CONTROL STATUS
sVECTOR "A"" FOR
;PARAMETER FOR

;CONTROL STATUS
sVECTOR 'A’" FOR
;PARAMETER FOR

;CONTROL STATUS
sVECTOR 'A’" FOR
;PARAMETER FOR

;CONTROL STATUS
;VECTOR ''A’" FOR
;PARAMETER FOR

;CONTROL STATUS
;VECTOR "A"" FOR
;PARAMETER FOR

REGISTER FOR

DUPT1 NUMBER
DUP11 NUMBER

REGISTER FOR

DUP11 NUMBER
DUP11 NUMBER

REGISTER FOR

DUP11 NUMBER
DUP11 NUMBER

REGISTER FOR
DUP11 NUMBER

DUP11 NUMBER

REGISTER FOR
DUP11 NUMBER
DUPT1 NUMBER

REGISTER FOR
DUP11 NUMBER
DUP11 NUMBER

REGISTER FOR

DUP11 NUMBER
DUP11 NUMBER

REGISTER FOR
DUP11 NUMBER
DUP11 NUMBER

DUP11

DUPT1

DUP11

DUP11

DUP11

DUP11

DUP11

DUP11

NUMBER

NUMBER

NUMBER

NUMBER

NUMBER

NUMBER

NUMBER

NUMBER

SEQ 0021
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DEF INITIONS

A=

R-

OPTIONAL CLEAR JUMPER
TURNAROUND CONNECTOR

CZDPBC.P11 02-MAY-78 08:23 PROGRAM PARAMETERS, VARIABLES, AND TRAP (ALLS.

15 14 13 12 "1 10 09 08 07 06 05 04 03 02 01 00

PE NS TR W PR SR B TR PR I N Y
IC 0O N T R O R E RI
N -8 % % %% . %33 I T ST

T R N IOe BN TR SNE AR SR I 5. 5 3
EEE SEh G SR BN S B ik 3 R «~1
-8 A8 §. % B8 ""F -3 I sk B

PN Dy M g g PN B BEs WY 1 A
IAIBICIDIEIFIGIHI® ¢« o]
e I ke S 5E M BRE A e I s 5ie C=-

D=

IN=1

CN
)

SEQ 0022



CZDPBC MACY11 30A(1052)
czoP8C.P11

951
952
953

955

83
88
38
38
88
88
8
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012737
012706
012737
113737
005037
105037
105037
012737
112737
005037
005037
012737
012737

013746
013746
012737
005777
000407
012737

K 2
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08:23

000340
001150
005050
001311
001230
001341
001343
001500
000001
001232
001234
000001
001562

000006
000004
001710
177274

000176
000174

000004
000006
001340

003104

001000
001340
177210

002520

000001

002360
001332
000001
001500

001560

177776

000024
001313

000004

001202
001200

000042

177174

001340

PROGRAM INITIALIZATION AND START UP.

;PROGRAM INITIALIZATION
;LOCK OUT INTERRUPTS
sSET UP PROCESSOR STACK
;SET UP POWER FAIL VECTOR
;CLEAR PROGRAM CONTROL FLAGS AND COUNTS
sTYPE TITLE MESSAGE

.START: MOV #340,PS ;LOCK OUT INTERRUPTS
MOV #STACK,SP ;SET UP STACK
MOV #.PFAIL ,a#24 ;SET UP POWER FAIL VECTOR
MOovB DUPNUM, SAVNUM :SAVE NUMBER OF DEVICES IN SYSTEM
CLR PASCNT :CLEAR PASS COUNT
CLRB ERRFLG :CLEAR ERROR FLAG
CLRB QV.FLG ;ZERO QUICK VERIFY FLAG
MOV #DUP .MAP, CREAM ;GET MAP POINTER.
MOVB #1 ,RUN ;POINT POINTER TO FIRST DEVICE.
CLR ERRCNT ;CLEAR ERROR COUNT
CLR LSTERR ;CLEAR LAST ERROR POINTER
MOV #1,TSTNO :SET UP FOR TEST 1
MOV #.START ,RETURN ;SET UP FOR POWER FAIL BEFORE

;TESTING STARTS

MOV a#6,-(SP) ;SAVE CURRENT VECTORS
MOV a#4,~-(SP) F.
MOV #12%.,a44 ;SETUP FOR TIMEOUT
TS aSWR :REFERENCE HARDWARE SWITCH REG
BR 138 :BR IF IT EXISTS

12%: MOV #SWREG, SWR JPOINT TO SOFT SWR

MOV #DISPREG,DISPLAY ;POINT TO SOFT DISPLAY REG
CMP (SP)+,(SP)+ ;ADJUST STACK

13%: MOV (SP)+ ,a#4 ;RESTORE VECTORS
MOV (SP)+,a#6 3
TSTB INIFLG ;HAS INITIALIZATION BEEN PERFORMED
BEQ 118
BR 6%

11%: CMP #SENDAD ,a#42 ;IF ACT=11 AUTO MODE.
BEQ 6% :DON'T TYPE ID
TYPE JMTITLE :TYPE TITLE MESSAGE

coms INIFLG ;IF NOT SET FLAG AND DO
6%: TSTB aSWR :BIT7=12?

BPL 108
JMP 1%

108:

BIT #SW00,aSWR JENTER PARAMETERS
BNE .+6 :YES
JMP 218 sNO
com8 FLAG
MOVB #1,INIFLG ;SET TO MANUAL ENTRY

MOV #DUP . MAP ,RO *CLR MAP
688: CLR (RO)+

CMP RO, #DUP. END :DONE WITH MAP?
BNE r3:13 ‘BR IF NO
INSTR ;OUTPUT MESSAGE & GET INPUT STRING

JMESSAGE
PARAM :CONVERT STRING

160000 :LOW LIMIT

SEQ 0023
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1007 002052 175500 175500 :HIGH LIMIT
1008 002054 001500 DUPCRO :STORE AT THIS LOCATION
1009 002056 001 BYTE 1 *MASK
1010 002057 001 BYTE 1 ‘HOW MANY TIMES + 2
1011 002060 104403 INSTR :OUTPUT MESSAGE & GET INPUT STRING
1012 002062 005513 MVEC :MESSAGE
1013 002064 104405 PARAM :CONVERT STRING
1014 002066 000300 300 SLOW LIMIT
1015 002070 000770 770 *HIGH LIMIT
1016 002072 001502 DUPTRO -STORE AT THIS LOCATION
1017 002074 001 BYTE 1 *MASK
1018 002075 001 BYTE 1 “HOW MANY TIMES + 2
1019 002076 104403 INSTR :OUTPUT MESSAGE & GET INPUT STRING
1020 002100 005703 MPAR :MESSAGE
1021 002102 104405 PARAM :CONVERT STRING
1022 002104 000004 4 sLOW LIMIT

1023 002106 000007 7 *HIGH LIMIT
1024 002110 001240 TEMP2 :STORE AT THIS LOCATION
1025 002112 000 BYTE 0 *MASK
1026 002113 001 BYTE 1 *HOW MANY TIMES + 2
1027 002114 013737 001240 001320 MOV TEMP2,PRIRTY :SAVE PRIORITY
1028 002122 104403 INSTR ;OUTPUT MESSAGE & GET INPUT STRING
1029 002124 005650 MTOTAL :MESSAGE
1030 002126 104405 PARAM :CONVERT STRING
1031 002130 000001 1 SLOw LIMIT
1032 002132 000010 8. SHIGH LIMIT
1033 002134 001236 TEMP1 :STORE AT THIS LOCATION
1034 002136 000 BYTE 0 “MASK
1035 002137 001 BYTE 1 “HOW MANY TIMES + 2
1036 002140 104403 INSTR :OUTPUT MESSAGE & GET INPUT STRING
1037 002142 005526 MJMPR :MESSAGE
1038 002144 104413 SETFLG :SET FLAG BASED UPON INPUT STRING
1039 002146 001323 OPCLRJ :THIS FLAG
1040 002150 104403 INSTR :OUTPUT MESSAGE & GET INPUT STRING
1041 002152 005601 MTCN :MESSAGE
1042 002154 104413 SETFLG :SET FLAG BASED UPON INPUT STRING
1043 002156 001322 TCNFLG :THIS FLAG
1044 002160 105737 001322 TSTB TCNFLG
1045 002164 001410 BEQ 718
1046 002166 104403 INSTR ;OUTPUT MESSAGE & GET INPUT STRING
1047 002170 005727 MSTJM :MESSAGE
1048 002172 104413 SETFLG -SET FLAG BASED UPON INPUT STRING
1049 002174 001334 STJMFL :THIS FLAG
1050 002176 104403 INSTR :OUTPUT MESSAGE & GET INPUT STRING
1051 002200 005762 MSRJM :MESSAGE
1052 002202 104413 SETFLG :SET FLAG BASED UPON INPUT STRING
1053 002204 001336 SRJMFL :THIS FLAG
1054 002206 105737 001323 718: TSTB OPCLRJ
1055 002212 001403 BEQ 698
1056 002214 052737 100000 001504 BIS #81T15,DUPO.A
1057 002222 105737 001322 698: TSTB TCNFLG
1058 002226 001403 BEQ 708
1059 002230 052737 040000 001504 BIS #81T14,DUPO.A
1060 002236 112737 000001 001312 70$: MOVB #1,SAVACT
1061 002244 113737 001236 001311 MOvB TEMP1,DUPNUM
1062 002252 113737 001236 001313 MovB TEMP1, SAVNUM
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001236

001312

001312
001312

001240
001500
001506

001240

000010

000010

001500

001560

001500

001332

002000
001332
000042

000010

005414

001240
001310

000002
000004
001320

0012%6
001240

001236

176454

176420
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PROGRAM INITIALIZATION AND START UP.

65%:

648:

67%:

21%:
20%:

66%:
16%:

5%:

1%:

DEC TEMP1

648

SAVACT

65%
SAVACT, TEMP2
SAVACT ,DUPACTV

TEMP2
#DUPCRO,RO
#DUPCR1.,R1

TEMP2
66%
(RO)+, (R1)
#10,(R1)+

(RO)+, (R1)
#10,(R1)+
(RO)+,(R1)+
67%
#DUP .MAP RO
(RO)+
RO ,#DUP.END

208
#DUP .MAP RO
#160050, (RO)
#770,2(R0)
#140026,4 (RO)
#5,PRIRTY
#1,R0
RO,DUPACTV
RO, DUPNUM
RO, SAVACT
RO, SAVNUM
RO, TCNFLG
RO,OPTLRJ

. XHEAD
#DUP.MAP , TEMP1
ATEMP1,TEMP2
1%

gi. TEMP1

#5W00,aSWR
7%

:# OF TIMES

;CSR

;VECTOR
;PARAMETERS

;SETUP TO CLEAR MAP
;CLEAR
;CHECK FOR FINISH
;BR IF MORE TO GO
;SETUP TO DEFAULT
;LOAD CSR
;LOAD VECTOR
:LOAD PARAMETERS AND SYNC
;LOAD PRIORITY
:SAVE CORE THIS WAY
;PRESET PROGRAM CONTROLS
DITTO
:DITTO
DITTO
;DITTO
;DITTO

;TYPE HEADER

;SET POINTER
;SET DATA
;ALL DONE WITH DATA

*UPDATE POINTER

;1S PROGRAM RUNNING UNDER MONITOR
;BR IF YES
JSELECT SPECIFIC DEVICES??
:BR IF NO.
;TYPE THE MESSAGE.

SEQ 0025
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1119 002570 005000 CLR RO ;ZERO DATA LIGHTS

002572 000000 HALT sWAIT FOR USER TO TELL WHAT DEVICES TO RUN
002574 127737 176402 001312 CMPB aSWR, SAVA(T ;1S THE NUMBER VALID?
002602 101404 BLOS 2% ;BR IF NUMBER IS OK.
002604 104402 005255 TYPE .MERR3 sTELL USER OF INVALID NUMBER.
002610 000000 HALT . ;STOP EVERY THING.
002612 000776 BR o= sRESTART THE PROGRAM AGAIN.
002614 117737 176362 001310 2%: MOvVB @SWR ,DUPACTV sGET NEW DEVICE PATTERN
002622 113700 001310 MOvB DUPACTV,RO ;SHOW THE USER WHAT HE SELECTED.
002626 042700 177400 BIC #*C<377> R0 sUSE ONLY LOW BYTE.
002632 000000 HALT sCONTINUE DYNAMIC SWITCHES.
002634 012700 000300 38: MOV #300,R0 ;PREPARE TO CLEAR THE FLOATING
002640 012701 000302 MOV #302,R1 ;VECTOR AREA. 300-776
002644 010120 48: MOV R1,(RO)+ ;START PUTTING 'PC+2 = HALT''
002646 005021 CLR (R1)+ ;IN VECTOR AREA.
002650 022021 cMP (RO)+, (R1)+ ;POP POINTERS
002652 022700 001000 CwP #1000,RO sALL DONE??

001372 BNE 4% :BR IF NO.

sTEST START AND RESTART

002660 012737 000340 177776 .2EGIN: MOV #340,PS ;LOCK OUT INTERRUPTS
002666 012706 001150 MOV #STACK, SP ;SET UP STACK
002672 005737 000042 TST awé? ;1S PROGRAM UNDER MONITOR CONTROL
002676 001023 BNE 2% :BR _IF YES
002700 032777 000004 176274 BIT #BIT2,aSWR ;CHECK FOR LOCK ON TEST
002706 001411 BEQ 1% :BR IF NO LOCK DESIRED.
002710 104402 005313 TYPE .MLOCK sTYPE LOCK SELECTED.
002714 012737 000240 003174 MOV #NOP,TTST sADJUST SCOPE ROUTINE.
002722 012737 000240 003176 MOV #NOP,TTST+2 sSET UP TO LOCK
002730 000406 BR 2% s CONTINUE ALONG.
002732 013737 003306 003174 1%: MOV BRW,TTST ;PREPARE NORMAL SCOPE ROUTINE
002740 013737 003310 003176 MOV BRX,TTST+2 ;LOCK NOT SELECTED, SET UP FOR NORMAL SCOPE LOOP
002746 012737 006226 001214 2%: MOV lgCLE.RETLRN :fl;ERTRAT "'CYCLE'' FIND WHICH DEVICE TO TEST

aRE TURN ;START TESTING[
N
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END OF PASS ROUTINE

JEND OF PASS
sTYPE NAME OF TEST

:UPDATE PASS COUNT
sCHECK FOR EXIT TO ACT=11
JRESTART TEST

$ENDAD:

RESTRT:

XCSR:

XVEC:

XPASS:

XERR:

.SCOPE:

TTST:

CLR

CLRB
INC
MOV
TYPE

TYPE

CNS:T
TYPE *
CNVRT
TYPE

CNVRT
TYPE

CNYRT
DECB

BNE
MOvB

MOVB
MOV

BEQ
RESET

JSR

NOP
NOP

NOP

NOP
MOV
{MP

.BYTE
RXCSR

.BYTE
?UPRVC

.BYTE
?ASCNT

ERRCNT

-

LSTERR
ERRFLG
PASCNT

PASCNT ,aDISPLAY

.MEPASS
- MCSRX
.XCSR
JMVECX

XVEC
JMPASSX

.XPASS
+MERRX
.XERR
SAVNUM
RESTRT

#377 ,QV.FLG
DUPNUM, SAVNUM
a4l ,R1

RESTRT

PC,(R1)

#CYCLE ,RETURN

CYCLE

6.2

. W

6.2

6.2

SEQ 0027

;CLEAR LAST ERROR P(C
;CLEAR ERROR FLAG
JUPDATE PASS COUNT

;DISPLAY PASS COUNT
;TYPE END PASS
;TYPE CSR

JSHOW IT
;TYPE VECTOR

JSHOW IT

;TYPE PASSES

JSHOW IT
;s TYPE ERRORS

JSHOW IT

JARE ALL DEVICES TESTED?

sBR IF NO.
sSET THE QUICK VERIFY FLAG.
;RESTORE THE COUNT
;CHECK FOR ACT=11 OR DDP
;IF NOT, CONTINUE TESTING
:STOP THE SHOW==CLEAR THE WORLD

;SCOPE LOOP AND INTERATION HANDLER

CLR

MOV

BIT

BEQ
BR
TSTB

BPL

LSTERR
RO, (SP)

#BIT14,aSWR
1$

3%
aTKCSR

3%

;CLEAR LAST ERROR PC
sSAVE RO ON STACK
;LOOP ON TEST?
:BR IF NO (IF LOCK SWO1 = 1;THIS LOCATION = 240)
;GO TO 3% (DITTO)
;KYBD DONE?
;BR IF NO (LOCK: HIT A KEY ON TTY TO GO TO NEXT TEST)
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175774

004000

001343

001224
001224

001341
001224
001220
000050
001216

175706

001000

001220

001220

000002
000002
010000

005136
175612

175606

000004
000002

006162

175760

001222

001222
001214

175662

000002
175622

003434
000004

13:58 PAGE 29
END OF PASS ROUTINE

1%:

2%:

3%:

BRW:

BRX:

.SCOP1:

1%:

.TYPE:

1%:

2%:

3%:

.INSTR:

.INST1:

.MSG:

MOV

BR
BIT
BNE
TSTB

BEQ

INC
CMP
BNE
CLRB

aTKDBR ,RO sCLR DONE BIT
2% ; CONT INUE
#SW11,aSWR ;DELETE ITERATION (QUICK PASS)?

2% :BR IF YES
QV.FLG ;HAS FIRST PASS BEEN COMPLETED?
2% ;BR IF QUICK VERIFY
LPCNT ;UPDATE ITERATION COUNTER

LPCNT, ICOUNT :ALL ITERATIONS DONE?
33 ;BR IF NOT YET
ERRFLG ;PREPARE FOR NEW TEST

LSENT ;START ICOUNT AT ZERO
LOCK

#50, ICOUNT JRESET ITERATIONS

NEXT ,RETURN sGET NEXT TEST
(SP) ,RO :POP RO OFF STACK

;FAKE AN RTI
aRETURN ;GO DO THE TEST

;CHECK FOR FREEZE ON CURRENT DATA

BIT
BEQ
TST

BEQ
MOV
RTI

#SW09,aSWR ;1S SW09=1(SET)?
1% ;BR IF NOT SET.

LOCK, (SP) ;GOTO THE ADDRESS IN LOCK.
:GO BACK.

;TELETYPE OUTPUT ROUTINE

MOV R5,=(SP) :SAVE R5 ON THE STACK.
MOV @2(SP) ,RS ;GET ADDRESS OF MESSAGE.
ADD #2,2(SP) ;POP OVER ADDRESS.

BIT #SW12,aSWR s INHIBIT ALL PRINT 0OUT??
BNE 3% :BR IF NO PRINT OUT WANTED (SwW12=1)
TSTB (RS) ;1S NUMBER MINUS? (MSB=1(BIT7))
BPL 2% ;BR IF NUMBER IS PLUS
TYPE -MCRLF :TYPE A CR/LF!

TSTB aTPCSR :TTY READY?
BPL 2% ;BR IF NO.
MOvVB (R5)+,3TPDBR sPRINT CURRENT CHAR.
BNE 1% ;IF NOT ZERO KEEP PRINTING!
MOV (SP)+,R5 ;END OF OUTPUT. RESTORE RS
RTI ;GO HOME

MOV R3,-(SP) ;SAVE R3 ON STACK
MOV R4,-(SP) ;SAVE R4 ON STACK
MOV @4 (SP), .MSG
ADD #2,4(SP)
6YPE

MOV # INBUFR4

SEQ 0028
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1268 003442 012703 000007
1269 003446 105777 175532
1270 003452 100375
1271 003454 117714 175526
1272 003460 142714 000200
1273 003464 122427 000015
1274 003470 001417
1275 003472 105777 175512
1276 003476 100375
1277 003500 017777 175502
1278 003506 005303
1279 003510 001356
1280 003512 012604
1281 003514 012603
1282 003516 010346
1283 003520 010446
1284 003522 104402 005132
1285 003526 000741
1286 003530 012604
1287 003532 012603

000002

1293 003536 010546
003540 010446
003542 016605 000004
003546 012537 003726
003552 012537 005730
003556 012537 003732
003562 112537 003734
003566 112537 003735

010566 000004
003576 005005
003600 012704 006162
003604 122714 000015
003610 001420
003612 121427 000060
003616 002415
003620 121427 000067
003624 003012
003626 142714 000060

003634 122714 000015

S
R
RP 
A
R

8

LA
 
L
 
e
 
e
 
e
 

e
 
e

i
 
i
 
e
 
o
l
 

i
l
 
e
 
i
 
i
 
a
n
d
 
o
 
i
 
i

 
e
 
i
 
i
 
b
 
i
 
o
 
i
 
o
 
b
 
i
 
i
 
b
 
e
 
i
 
c
d
 
b

W
N
=
C
O
O
N
O
W
V
N
S
W
N
=
O

o W o W

W
W
W
W
W
W
W
W
W
W
W
W
W
W

n
o
n

175504

13:58 PAGE 30
END OF PASS ROUTINE

MOV #7 ,R3
1%: TSTB aTKCSR

BPL 1%
MOvVB aTKDBR, (R4)
BI(B #200, (R4)
CMPB (R4)+, 415
BEQ INSTRZ2

2%: TSTB aTPCSR
BPL 2%
MOV @TKDBR,aTPDBR

DEC R3
BNE 1%
MOV (SP)+,R4
MOV (SP)+,R3

.INSTE: MOV R3,-(SP)
MOV R4 ,-(SP)
TYPE -MQM

BR . INST1
INSTR2: MOV (SP)+,R4 ;RESTORE R4

:?Y (SP)+,R3 ;RESTORE R3

s CONVERT ASCII STRING TO OCTAL

.PARAM: MOV R5,=(SP)
MOV R4 ,~(SP)
MOV 4(SP) ,R5
MOV (R5)+,LOLIM
MOV (R5)+,HILIM
MOV (R5)+,DEVADR
MOVB (R5)+,LOBITS
MOvVB (R5)~ ,ADRCNT
MOV R5,4(SP)

PARAM1: CLR R5

MOV # INBUF ,R4
CMPB #15, (R4)
BEQ PARERR

1$: CMPB (R4) 460
BLT PARERR

CMPB (R4) 467
BGT PARERR
BICB #60, (R4)
BISB (R4)+ RS
CMPB #15, (R4)
BEQ LIMITS
ASL RS
ASL RS
ASL R5

BR 1%
PARERR: INSTER

BR PARAM1

;TEST TO SEE IF NUMBER IS WITHIN LIMITS

SEQ 0029
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1324 003656 020537 003730 LIMITS: CMP RS,HILIM
1325 003662 101373 BHI PARERR
1326 003664 020537 003726 CMP RS,LOLIM
1327 003670 103770 BLO PARERR
1328 003672 133705 003734 BITB LOBITS,RS
}gg 003676 001365 BNE PARERR

}%12 :STORE NUMBER AT SPECIFIED ADDRESS

1333 003700 013704 003732 MOV DEVADR,R4
1334 003704 010524 1%: MOV RS, (R4) +
1335 003706 062705 000002 ADD #2 RS
1336 003712 105337 003735 DECB ADRCNT
1337 003716 001372 BNE 1%
1338 003720 012604 MOV (SP)+ R4
1339 003722 012605 MOV (SP)+,RS
1340 003724 000002 RTI
1341 003726 000000 LOLIM: 0
1342 003730 000000 HILIM: 0
1343 003732 000000 DEVADR: 0
1344 003734 000000 LOBITS: 0
%22 003735 ADRCNT=LOBITS+1

1347 :SAVE PC OF TEST THAT FAILED AND RO-RS

13¢5 .
%g? 003736 016637 000004 001266 .SAVOS: MOV 4(SP) ,SAVPC :SAVE R7 (PC)

Bg% :SAVE RO-R5

1354 003744 010537 001262 Sv05: MoV RS, SAVRS :SAVE RS
1355 003750 010437 001260 MOV R4, SAVRG :SAVE R4
1356 003754 010337 001256 MOV R3,SAVR3 :SAVE R3
1357 003760 010237 001254 MOV R2,SAVR2 :SAVE R2
1358 003764 010137 001252 MOV R1,SAVR1 :SAVE R1
1359 003770 010037 001250 MOV RO, SAVRO :SAVE RO
}332(1) 003774 000002 RTI :LEAVE.

}%% :RESTORE RO-RS

1364 003776 013700 001250 .RES0S: MOV SAVRO,R0 :RESTORE RO
1365 004002 013701 001252 MOV SAVR1,R1 :RESTORE R1
1366 004006 013702 001254 MOV SAVR2 ,R2 :RESTORE R2
1367 004012 013703 001256 MOV SAVR3,R3 :RESTORE R3
1368 004016 013704 001260 MOV SAVR4 , R4 :RESTORE R4
1369 004022 013705 001262 MOV SAVRS RS :RESTORE RS
1370 004026 000002 RTI :LEAVE

1372
1133;2 :CONVERT OCTAL NUMBER TO ASCII AND OUTPUT TO TELEPRINTER
1375 3
1376 004030 104402 005136 .CONVR: TYPE JMCRLF
1377 004034 010046 .CNVRT: MOV RO,=(SP)
1378 004036 010146 MOV R1,-(SP)
1379 004040 010346 MOV R3,-(SP)

SEQ 0030
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1433 004242 017605
1434 004246 042737
1435 004254 122737
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MOV R4 ,=(SP)
MOV RS.=(SF)

000012 MOV 212(SP) ,R1
000002 000012 ADD #2.12(SP)
004234 MOV (R1)+,WRDCNT
004236 1$: MOVB (R1)+.CHRCNT
004237 MOVB (R1)+.SPACNT
004240 MOV a(R1)+,BINWRD
004240 28%: MOV BINWRD. R4
004236 MOVB CHRCNT.RS
006056 MOV #TEMP,RO

3% MOV R4 ,R3
177770 BIC #177770.R3
000060 ADD #060,R3

MOVB R3,(R0O)+
cLC
ROR R4

cLC
ROR R4

CLC
ROR R

DEC RS
BNE 38

006120 MOV #MDATA,R3
4$: MOVB -(R0O),(R3)+

004236 DECB CHRCNT
BNE 43

004237 TSTB SPACNT
BEQ 6%

000040 5%: MOVB #040, (R3)+
004237 DECB SPACNT

BNE 58
6$: CLRB (R3)

006120 TYPE _MDATA
004234 DEC WRDCNT

BNE 1%
MOV (SP) +,RS
MOV (SP)+ R4
MOV (SP)+,R3
MOV (SP)+,R1
MOV (SP)+,RO

WRDCNT: 0
CHRCNT: 0
SPACNT=CHRCNT+1
BINWRD: 0

;COMPARE THE FIRST CHARACTER IN THE TELETYPE INPUT
;BUFFER TO THE CHARACTERS 'N'' AND "'Y'',
:IF THE CHARACTER IS 'N'' CLEAR THE FLAG
;IF THE CHARACTER IS “'' SET THE FLAG

000000 .SETFLG:MOV a(SP) ,R5
000040 006162 BIC #40, INBUF
000116 006162 (MPB #'N, INBUF 18 1T ‘W?

SEQ 0031
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1438
1439
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1441

1442
1443
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1446
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1449
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1453
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1456
1457
1458
1459

1460
1461
1462
1463
1464

1465
1466

1467
1468
1469
1470
1471
1472
1473
1474
1475
1476
1477
1478
1479
1480
1481
1482
1483
1484
1485
1486
1487
1488
1489
1490
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001002
105015
000406
122737
001005
112715
062716
000002
104404
000752

032777
001406
105777
100003
112777

032777
001105
021637
001404
011637
105037

000731

177777

000002

000002
000000

177001
001344
000000

010000

174624

000207
020000

001234

001234
001341

000002

006162

174624

174616
174600

13:58 PAGE 33
END OF PASS ROUTINE

1%:

2%:

3%:

.TRPSR:

TRPOK:

LT

XBX:

1%:

RTI

INSTER
BR

;TRAP DISPATCH SERVICE

1%

(R5) ;000
2%
#'Y, INBUF
3%
#=1,(RS)
#2,(SP)

sRETRY

.SETFLG

;377

IS 11 °7"?

sARGUMENT OF TRAP IS EXTRACTED
sAND USED AS OFFSET TO OBTAIN POINTER
;TO SELECTED SUBROUTINE

MOV

SuB
MOV

ASL

BIC
ADD

MOV
JMP

(SP) ,-(SP)
#w2,(SP)

a(SP), (SP)
(SP)
#177001, (SP)
#.TRPTAB, (SP)

a(SP), (SP)

a(SP)+

;ERROR HANDLER

BIT #SW12,aSWR

XBX
aTPCSR

XBX
#207,aTPDBR

#5W13, aSWR
HALTS
;gP).LSTERR

(SP) ,LSTERR
ERRFLG

(SP) ,R5
#2 ,R5
(RS) ,R4
R4

(R5) ,R4
R4
#177001,R4
# .ERRTAB,R4

(R4)+ ,ERRMSG
(R4)+ ,DATAHD
(R4) ,DATABP

ERRFLG
TYPMSG

DATABP
TYPDAT

-

.

-

.

.

.

.

L

.

.

-

.

-

L

-

L

-

.

-

.

-

.

-

.

-

.

-

.

.

.

.

.

.

ke

.

.

.

‘o

.

L4

-

.

.

-

.

.

.

.

;GET PC OF RETURN
:=PC OF TRAP
;GET TRP

sMULTIPLY TRAP ARG BY 2
;CLEAR UNWANTED BITS

;POINTER TO SUBROUTINE ADDRESS
; SUBROUTINE ADDRESS
;GO TO SUBROUTINE

BELL ON ERROR?
BR IF NO BELL
TTY READY.

DON'T WAIT IF TTY NOT READY.
PUSH A BELL AT THE TTY.
DELETE ERROR PRINT OUT?
BR IF NO PRINT OUT WANTED.
WAS THIS ERROR FOUND LAST TIME?

BR IF YES
RECORD BEING HERE
PREPARE HEADER

SAVE ALL PROC REGISTERS
GET THE PC OF ERROR
GET ADDRESS OF TRAP CALL
GET HLT INSTRUCTION
MULT BY TWO
DOUBLE IT
MULT AGAIN
CLEAR JUNK

GET POINTER
GET ERROR MESSAGE
GET DATA HEADRER
GET DATA TABLE
TYPE HEADREER

BR IF YES
DOES DATA TABLE EXIST?

;BRI

SEQ 0032



+MCRLF

+MCRLF
LOCK
1%

JMASTEK
LMTSTN

XTSTN
MERRP(
.ERTABO
MCRLF
#-1,ERRFLG

ERRMSG
WRKO.FM

DATAHD
TYPDAT

DATABP
RESREG

::EM)AD,afloZ

aSwR

EXITER

2(SP) ,RO
4,-(SP)

6,-(SP)
#22% .4
#340,6

JSHOW IT
;TYPE PC.

JSHOW IT
;GIVE A CR/LF
sNO MORE HEADER UNLESS NO DATA TABLE.
;1S THERE AN ERROR MESSAGE?
;BR IF NO.
:TYPE

: ERROR MESSAGE

;DATA HEADER?
;BR IF NO
:TYPE

: DATA HEADER
;DATA TABLE?

;BR IF NO.
; SHOW

*" " DATA TABLE
*RESTORE PROC REGISTERS
“IF ACT=11 AUTO MODE--HALT'!

sHALT ON ERROR?
:BR IF NO HALT ON ERROR
:SAVE RO
s SHOW ERROR PC IN DATA LIGHTS
:SAVE OLD TRAP

sFORCE HALT IF TIME-OUT
cWHEN REFERENCING TXCSR

#SYSTST!MEXT ,@TXCSR

(SP)+.,6

(SP)+,4

33%

(SP)+,(SP)+

(SP)+,6
(SP)+.,4

ERRCNT

:gUOB. aSwR

#SW10,aSWR

2%
NEXT ,RETURN
#STACK ,SP

aRE TURN

CZDPBC MACY11 30A(1052) 02-MAY-78 13:58 PAGE 34
czoPBC.P1 02-MAY-78 08:23 END OF PASS ROUTINE

1492 004502 104402 005136 TYPMSG: TYPE
1493 004506 104402 005136 TYPE
1496 004512 005737 001220 TST
1495 004516 001402 BEQ

16496 004520 104402 005412 TYPE

1497 004526 104402 005400 18: TYPE
1498 004530 104411 005000 CNVRT
1499 004534 104402 005467 TYPE
1500 004540 104411 004772 CNVRT
1501 004544 104402 005136 TYPE
1502 004550 112737 177777 001341 MOovB
1503 004556 005737 004566 TST
1506 004562 001402 BEQ

1505 004564 104402 TYPE
1506 004566 ERRMSG: 0
1507 004570 WRKO.FM.
1508 004570 005737 004600 TST

1509 004574 001402 BEQ
1510 004576 104402 TYPE
1511 DATAHD: 0
1512 004602 005737 004612 TYPDAT: TST
1513 004606 001402 BEQ
1514 004610 104410 CONVRT

1515 004612 DATABP: 0
1516 004614 104407 RESREG: RESO5
1517 (%616 022737 003104 000042 HALTS: C(MP

1518 00«626 001403 BEQ
1519 00%626 005777 174350 TST

1520 Q4632 100035 BPL
1521 (D4634 010046 1$: PUSHRO

1522 004636 016600 000002 MOV
1523 004642 013746 000004 MOV
1526 004646 013746 000006 MOV
1525 004652 012737 004710 000004 MOV

1526 004660 012737 000340 000006 MOV
1527 004666 042777 014000 174516 BIC
1528 004674 HALT
1529 004676 012637 000006 MOV
1530 004702 012637 000004 MOV
1531 004706 BR
1532 004710 22%: HALT
1533 004712 022626 cMP
1534 004714 012637 000006 MOV
1535 004720 012637 000004 MOV
1536 004726 012600 338: POPRO
1537 004726 005237 001232 EXITER: INC
1538 004732 032777 000400 174242 BIT
1539 004740 001007 BNE
1540 004742 032777 0020C0 174232 BIT

1541 004750 001407 BEQ
1542 004752 013737 001216 001214 MOV
1543 004760 012706 001150 13 3 MOV
1544 004764 000177 174224 JMP
1545 004770 000002 $: RTI
1546 004772 000001 ERTABO: 1
1547 004774 006 002 .BYTE 6.2

sHALT
;RESTORE TRAP

JHALT

;POP STACK
;RESTORE TRAP

:GET RO
;UPDATE ERROR COUNT
;GOTO TOP OF TEST?
;BR IF YES
;GOTO NEXT TEST?
;BR IF NO
;SET FOR NEXT TEST

JRESET SP
;GOTO SPECIFIED TEST

JRETURN

SEQ 0033
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1548 004776 001266
1549 005000 C00001
1550 005002 003 002
1551 005004 001226
1552 005006 017600 000000
1553 005012 062716 000002
1554 005016
1555 005016 052777 020000 174366
1556 005024 005300
1557 005026 001405
1558 005030 042777 020000 174354
1559 005036 005300
1560 005040 001366
1561 005042 000002
1562
1563
1564
1565 005044 000240
1566 005046 000207
1567

1568
1569
1570 005050 012737 005060 000024

1571 005056 000000
1572 005060 000005
1573 005062 012706 001150
1574 005066 012737 005050 000024
1575 005074 104402
1576 005076 005141
1577 005700 000177 174110
1578
1579
1580 005104 012702 000300
1581 005110 012701 000302
1582 005114 010122
1583 005116 005022
1584 005120 022121
1585 005122 022701 000776
1586 005126 001372
1587 005130 000207
1588
1589
1590
1591 005132 020040 000077
(2) 005136 005015 000
(2) 005141 377 053520 020122
(2) 005157 015 042777 042116
(2) 005203 377 000122
(2) 005206 050377 047522 051107
(2) 005255 377 047111 052523
(2) 005301 377 042524 052123
(2) 005313 377 047514 045503
(2) 005342 051503 035122 000040
(2) 005350 042526 035103 000040
(2) 005356 040520 051523 051505
(2) 005367 105 051122 051117

58 PAGE 35
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XTSTN:

PKCLK:

1%:

2%:

?AVPC

.BYTE
TSTNO

MOV
ADD

BIS
DEC

BEQ
BIC
DEC
BNE
RTI

:WAIT ROUTINE
SMALL: NOP

RTS

3.2

a(SP) ,RO
#2,(SP)

#CLK,aTXCSR

RO

2%
#CLK ,@TXCSR

RO
1%

PC

;POWER FAIL ROUTINE

.PFAIL: MOV
HALT

PWRUP: RESET

MOV

MOV
TYPE

MPOWER

JMP

s CLRVEC ,ROUTINE

CLRVEC: MOV
MOV

1%: MOV

CLR
cMP

CMP

BNE
RTS

MQM : LASCIZ
MCRLF: .ASCIZ
MPOWER: .ASCIZ
MEPASS: .ASCIZ
MR: LASCIZ
MERR2: .ASCIZ
MERR3: .ASCIZ
MTSTPC: .ASCIZ

MLOCK: .ASCIZ
MCSRX: .ASCIZ
MVECX: .ASCIZ
MPASSX: .ASCIZ

MERRX: .ASCIZ

#PWRUP, 24

#STACK,SP

#.PFAIL24

aRETURN

SEQ 0034

JGET THE # OF TICKS TO POKE
;POP OVER THE #

;POKE CLOCK UP
;ARE WE DONE?
;YES-GO TO 2%

;POKE CLOCK DOwWN
;ARE WE DONE?
;NO-REPEAT

sRETURN

sSTALL
sRETURN

;LOAD PFAIL VECTOR FOR POWER UP

“WAIT TTY TO COME UP
‘REINIT STACK POINTER
*LOAD PFAIL VECTOR FOR POWER DOWN

TO FILL COMMUNICATION VECTOR AREA WITH .+2 HALT

#300,R2
#302 .R1
R1,(R2)+
(R2)+
(R1)+,(R1)+
#776 .R1
1%
PC

;F VY
<15><12>

;R2 COMM VECTOR AREA ADRS
sINIT R1 WITH ADRS OF HALT
sMOV .+2 TO PC
sMOV HALT TO PC
sINC TO NEXT VECTOR AREA
;END OF VECTOR AREA
:NO

sRETURN

<377>/PWR FAILED. /
<15><377>/END PASS CZDPBC /
<377>/R/
<377>/PROGRAM INDICATES NO DEVICES PRESENT./
<377>/INSUFFICIENT DATA!/
<377>/TEST PC~/
<377>/LOCK ON SELECTED TEST/

/CSR: /

/VEC: /
/PASSES: /

/ERRORS: /
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(2) 005400 042524 052123 047040
(2) 005412 000052
(2) 005414 051777 052105 051440
(2) 005467 120 035103 000040
(2) 005474 051377 041505 041440
(2) 005513 377 042526 020103
(20 005526 044777 020123 044124
(2) 005601 377 051511 052040
(2) 005650 021777 047440 020106
(2) 005703 377 051120 04751
(2) 005727 377 042523 020103
(2) 005762 051777 041505 051040
(2) 006015 377 040515 020120
2) 006044
(2) 00604* 000002

1592 006046 006 003
1593 006050 001236
1594 006052 002
1595 006054 001240
1596
1597
1598 006056 000000
1599 006120
1600 006120 000000
1601 006162
1602 006162 000000
1603 006224
1604 006224 000001

1605

58 PAGE 36 SEQ 0035
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MTSTN: .ASCIZ /TEST NC: /

MASTEK: .ASCIZ /~/

MNEW: LASCIZ <377>/SET SWITCH REG TO DUP11°'S DESIRED ACTIVE./
MERRPC: .ASCIZ /PC: /
MCSR: ASCIZ <377>/REC CSR ADRS /
MVEC: .ASCIZ <377>/VEC ADRS /
MJMPR: _ASCIZ <377>/1S THE OPTIONAL CLR JMPR IN? (Y OR N) /
MTCN: LASCIZ <377>/1S THE H325 CONNECTOR ON? (Y OR N) /
MTOTAL: .ASCIZ <377>/# OF DUP'S (IN OCTAL) /
MPAR : ASCIZ <377>/PRIORITY (4 TO 7) /
MSTUM: _ASCIZ <377>/SEC TX JMPR IN? (Y OR N) /
MSRJUM: _ASCIZ <377>/SEC RX JMPR IN? (Y OR N) /
X?EIE\D: LASCIZ <377>/MAP OF DUP11 STATUS/<377>
.EVEN

XSTATQ: 2
.BYTE 6.3
TEMP1

.BYTE 6.2
TEMP2

EVEN

TEMP:

.=, %40
MDATA:

INBUF: 0
.=.+40
TRP.PC: .BLKW 1
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105737
001004
104402
000000
000776
133737
001020
000241
106137
105537

022737

001003
012737
012037
012037

1641 006366 012037
012700
013737

013737

02-MAY~78
78 08:23

001310

005206

001314

001314
001314
000006
001560

001500

001314
001314
001316
000006
001560

001310

001316
001316

001316

8
8

p
a
r
 g
y

W
W
N

001316

001424

001406

001416
001410
001422

001420
001412

001430

001414

001426

001376

13:58 PAGE 37

END OF PASS ROUTINE

sROUTINE USED TO ‘'‘CYCLE'' THROUGH UP TO EIGHT DUP11'S
sTHIS ROUTINE SETS UP THE CONTROL ADDRESS FOR THE DIAGNOSTIC
sAND RUNS THE SPECIFIED DUP17*'S. THIS ROUTINE *MUST=
;BE RUN FIRST BEFORE ENTERING THE DIAGNOSTIC FOR THE
;SETUP NECESSARY.

CYCLE: TSTB DUPACTV ;ARE ANY DUP11°'S TO BE TESTED?
BNE 1% ;BR IF OK.
TYPE .MERR2 sNO DUP11'S SELECTED!!
HALT ;STOP THE SHOW.
BR . 4 :DISQUALIFY CONT. SW.

1%: BITB RUN,DUPACTV IS THIS ONE "‘ACTIVE''

BNE 2% BR IF GOOD ONE FOUND.
cLC CLEAR PROC. CARRY BIT.
ROLB RUN :UPDATE POINTER
AD(B RUN :CATCH CARRY FROM RUN
ADD #6, CREAM ;UPDATE ADDRESS POINTER.
cMP #DUP.END, CREAM
BNE 1% ;KEEP GOING; NOT ALL TESTED FOR.
MOV #DUP.MAP ,CREAM RESET ADDRESS POINTER.
BR 1% ;KEEP LOOKING FOR ACTIVE DUP11

2%: CLC ;CLEAR PROC. CARRY.
ROLB RUN ;UPDATE POINTER.
ADCB RUN :CATCH CARRY.
MOV CREAM, RO ;GET ADDRESS POINTER.
ADD #6,CREAM sUPDATE.
cMP #DUP_.END, CREAM

sALL DONE?
BNE 38 ;BR IF NO.
MOV #DUP .MAP,CREAM RESTORE POINTER.

3%: MOV (RO) + ,RXCSR sLOAD SYSTEM CTRL. REG
MOV (RO) +,DUPRVC ;LOAD VECTOR
MOV (RO)+,L00.00 ;GET PARAMETERS
MOV #2 RO ;SAVE CORE THIS WAY!
MOV RXCSR,HUPRCR ;GET CONTROL REG HIGH BYTE
INC HUPRCR :GOT IT
MOV HUPRCR,RXDBUF :GET RX CONTROL REG BUFFER
INC RXDBUF :GOT IT
MOV RXDBUF ,DUPSEC ;GOT SECONDARY REG SELECT REG
MOV RXDBUF ,PARCSR ;GOT PARAMETER STATUS REGISTER
MOV RXDBUF ,HUPRBF ;GET RX BUFFER HIGH BYTE
INC HUPRSF ;GOT IT
MOV HUPRSBF ,HUPPSR ;GOT PAR STATUS REG HIGH BYTE
MOV HUPPSR, TXCSR sGET TX CONTROL REGISTER
INC TXCSR ;GOT IT
MOV TXCSR,HUPTCR sGET TX CONTROL REG HIGH BYTE
INC HUPTCR ;GOT IT
MOV HUPTCR,TXDBUF ;BET TX BUFFER
INC TXDBUF :GOT IT
MOV TXDBUF ,HUPTBF ;GET TX BUFFER HIGH BYTE
INC HUPTBF ;GOT IT

MOV DUPRVC ,DUPRPS ;RX VECTOR

SEQ 0036
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1662
1663
1664
1665
1666
1667
1668
1669
1670
1671
1672
1673
1674
1675
1676
1677
1678
1679
1680
1681
1682
1683
1684
1685
1686
1687

006534
006540
006546
006552
006560

006564
006570
006574
006600
006604
006610
006612

02-MAY-~78
02-MAY-78 08:23

060037
013737
060037
013737
060037

012700
012701
012702
004737
005737
001050
032777
001444

012737
000177

011003
000207

001376 ADD
001376 001400 MOV
001400 ADD
001400 001402 MOV
001402 ADD

001434 MOV
001432 MOV
001433 MOV
006744 JSR
000042 TST

BNE
000002 172362 BIT

BEQ
005136 7%: TYPE

INSTR
MTSTN

7ARAH

1000
TSTNO

BYTE 0
.BYTE 1

007160 MOV
012737 5%: cMP

BNE
001226 000002 g:g

001226 000004 CMP
BNE

001214 MOV
005136 TYPE
005203 TYPE

BR

6%: TST
026412 CMP

BNE

005132 TYPE
BR

007160 001214 4$: MOV
172250 8%: JMP

FIX.00: MOV
5%: RTS

13:58 PAGE 38
END OF PASS ROUTINE

RO,DUPRPS

DUPRPS ,DUPTV(
RO,DUPTVC
DUPTVC ,DUPTPS
RO,DUPTPS

sRX PRIORITY LEVEL

:TX VECTOR

;TX PRIORITY LEVEL

#.00.00,RO
#MASK.A ,R1

#CLK.A,R2
PC,FIX.00
ane2
4%
#SW01,aSWR

4%

+JMCRLF
SOUTPUT MESSAGE & GET INPUT STRING
“ME SSAGE
;CONVERT STRING
SLOw LIMIT

JHIGH LIMIT
“STORE AT THIS LOCATION
sMASK

‘HOW MANY TIMES + 2
#TST1,RO
#12737, (RO)
6$
giTNO.Z(RO)

#TSTNO,4 (RO)

6%
RO,RETURN

+MCRLF
MR

8%
(RO)+
RO,#TLAST+10
5%
.MQM

’$

#TST1,RETURN

aRE TURN

(RO) ,R3
PC

;LOAD STAUS 00-00
;PREPARE MASK.
;PREPARE CLOCKS
;GO AND CALCULATE CONF IGURATION.

;IF SWO01=1,GET STARTING TEST #

:SAVE PC

;PREPARE RETURN ADDRESS
;GO START TESTING.

;GET PARAMETERS.

SEQ 0037
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1708

170
1711 006750 012104 ACC: MOV (R1)+,R4 :GET THE FLAG FOR # OF CLOCK TICKS
1712 006752 104412 000002 18: PKCLK .2
1713 006756 000241 CLC :PUT CARRY IN A KNOWN STATE
1714 006760 032777 040000 172424 BIT #MTDATA,@TXCSR ;FIND OUT IF BIT ISA 10RO
1715 006766 001401 BEQ YA :BRIF O
1716 006770 000261 SEC :SET THE BIT

1717 006772 006004 ROR R& :PICK UP CARRY AND PUSH INTO R4
1718 006774 103366 BCC 1% :BRANCH IF MORE TO GO
1719 006776 000201 RTS R1
1720 007000 005037 001246 ABRT: CLR TEMPS
1721 007004 012137 001244 MOV (R1)+,TEMP4 :GET THE # OF ABORTS TO DO
1722 007010 104412 000002 1%: PKCLK .2 :POKE OUT A BIT
1723 007014 032777 040000 172370 BIT #MTDATA,@TXCSR :CHECK MAINT DATA OUT
1724 007022 001001 BNE 2% :BRANCH IF IT IS A ONE
1725 007024 104013 HLT 13 :OUTPUT WAS A ZERO--NG
1726 007026 005237 001246 2%: INC TEMPS :INC THE # OF BITS OUTPUT
1727 007032 022737 000010 001246 CMP #8. . TEMPS :1S THE CHARACTER DONE?
1728 007040 001363 BNE 1% :BRANCH IF NOT DONE
1729 007042 005337 001244 DEC TEMP4 :LOWER THE #TO DO
1730 007046 001360 BNE 18 :BRANCH IF NOT DONE
}g; 007050 000201 RTS R1

1733 007052 012137 001244 FLG: MOV (R1)+,TEMP4 :GET THE # OF FLAGS
1734 007056 104412 000002 64$: PKCLK .2 :POKE OUT THE FIRST BIT OF THE FLAG
1735 007062 032777 040000 172322 BIT #MTDATA,@TXCSR ;CHECK MAINT DATA OUT
1736 007070 001401 BEQ 65% :BRANCH IF 0
1737 007072 104012 HLT 12 :DUP FAILED TO CLOCK OUT FIRST BIT
1738 007074 005037 001246 65%: CLR TEMPS :SETUP FOR 1'S OUTPUT
1739 007100 104412 000002 1$: PKCLK .2 :CONTINUE TO POKE OUT BITS
1740 007104 032777 040000 172300 BIT #MTDATA,@TXCSR :TEST MAINT DATA OUT ,
1741 007112 001001 BNE 2% :BRANCH IF A 1
1742 007114 104013 HLT 13 :DUP FAILED TO CLOCK A ONE
1743 007116 005237 001246 28: INC TEMPS :KEEP UP WITH THE # OF 1'S QUTPUT
1744 007122 022737 000006 001246 CMP #6, TEMPS :ARE WE DONE WITH SIX ONES?
1745 007130 001363 BNE 1% :NO_BRANCH BACK
1746 007132 104412 000002 PKCLK ,2 :YES,OUTPUT THE LAST 0
1747 007136 032777 040000 172246 BIT #MTDATA,@TXCSR ;CHECK IT
1748 007144 001401 BEQ 3s :BRANCH IF A 0
1749 007146 104012 HLT 12 :LAST BIT OF FLAG WAS NOT CORECT
1750 007150 005337 001244 3s: DEC TEMP4 :ARE WE DONE WITH FLAGS?
1751 007154 001340 BNE 64$ :BR IF NO
};gg 007156 000201 RTS R1
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1754 JRRRRRRAANRAAAN AR AR AR AR AN TEST 1 sxsaaataannttndtnrrtahrdtdds

1755 s*VERIFY THAT ADDRESSING DEVICE DOES *NOT+ CAUSE
1756 ;*A TIME-OUT TRAP.
1757 IR R AR AR AR AR AR AR AR AN AR AN AR AR AR RN RAS

1758
1759 JINRRRRRRRNARR

1760 "y *
1761 : TEST 3
1762 3 *
1763 JIRRRARRRARRAR

1764 IRA RN R RN RANRRANR AN RN R AR

1765 007160 012737 000001 001226 TST1: MOV #1,a#TSTNO
1766 007166 012737 007272 001216 MOV #TST2 NEXT
1767 007174 012737 007226 001220 MOV #18,L0CK
1768 007202 012700 000004 MOV #4 R0 ;SET FOR MAX. & PRI. REGISTERS
1769 007206 013701 001404 MOV RXCSR,R1 ;GET FIRST PRI. ADDRESS
1770 007212 012737 007264 000004 MOV #28,4 ;SET FOR TIME-OUT TRAP.
771 007220 012737 000340 000006 MOV #340,6 ;SAFE GUARD.
772 007226 005711 1%: TST (RY) JREFERENCE THE ADDRESS.

007230 105711 TSTB (R1) sREFERENCE BYTE ADDRESS. 3500(
007232 105761 000001 TSTB 1(R1) 330
007236 104401 SCOP1 ;IF SW09=1; GOTO 1%
007240 062701 000002 ADD #2 .R1 ;UPDATE TO NEXT ADDRESS.
007244 0053200 DEC RO ;ARE ALL ADDRESS CHECKED?
007246 001367 BNE 1% BRI NO.
007250 012737 000006 000004 MOV #6,4 RESET TRAP ZONE.
007256 005037 000006 CLR a6
007262 104400 SCOPE .SC(PE THIS TEST
007264 011602 2%: MOV (SP) ,R2 ;SAVE THE TRAP PC
007266 104001 HLT 1 ;REPORT TIME-OUT TRAP
007270 000002 RTI JRETURN TO MAIN PROGRAM

JRRRRRRRARRRRAARRRARRRNRNRS TEST 2 A antaada v nasavannnnnnnnn

:*PRIMARY REGISTER ADDRESSING TEST
;*LOAD EACH PRIMARY REGISTER WITH A
;*DIFFERENT NUMBER AND VERIFY EACH
;*WAS INDIVIDUALLY ADDRESSED
;:tttittit..ttttit"t't'fiitttttt.ttttfifittttttitfititttttt!'.i't.t

kARAR ARk

.

TEST 2
B

IRAAAAAAAR AN
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007272 012737 000002 001226 TST2: MOV #2,a4TSTNO
007300 012737 007536 001216 MOV #TST3 NEXT
007306 012737 007332 001220 MOV #18,L0CK
007314 012700 007440 MOV #3$.R0 :SET THE TABLE POINTER
007320 013703 001404 MOV RXCSR,.R3 *SET THE DUP HARDWARE POINTER
007324 005013 CLR (R3) “CLR THE REGISTER BEFORE STARTING
007326 012702 000004 MOV #4 R2 :SET FOR 4 PRIMARY REGISTERS
007332 011005 18: MOV (RO) .RS :SET "EXPECTED"'
007334 010513 MOV RS, (R3) *WRITE "EXPECTED'' TO THE REGISTER
007336 011304 MOV (R%) R4 *READ THE REGISTER BACK
007340 042704 000200 BIC #B1T7,R4 “CLR UNWANTED BIT
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MACY11 30A(1052)
PN 02-MAY-78 08:23

007344 042704 000200
020504
001401
104003

104401

022023
005302
001362

012700 007440
013703 001404
012737 007410
012702 000004
011005
011304
042704 000200

012737 007474
012700 007526
013703 001404
005013
012702 000010
111005
110513
111304
142704 000200
120504

02-MAY-78

001220

001220

B 4
13:58 PAGE &1 SEQ 0040

CONTROL REGISTERS DUAL ADDRESSING TEST

BIC #BIT7.R4 :CLR UNWANTED BITS
CMP RS,R4 “DOES EXFECTED=RECEIVED?
BEQ 2% ‘BR IF YES
HLT 3 “THIS IS A DATA ERROR. IT IS #*NOT*=

*A DUAL ADDRESSING ERROR''!!!!

28: SCOP1 $SW09=12
cMP (RO)+, (R3)+ *POP DATA AND HARDWARE POINTERS
DEC R2 *UPDATE THE REGISTER COUNTER
BNE 1$ *BRANCH IF MORE TO GO

;:NOW CHECK FOR DUAL ADDRESSING
MOV #3$ R0 ;SET THE TABLE POINTER
MOV RXCSR,R3 *SET THE DUP HARDWARE POINTER
MOV #4$,L0CK *SET FOR SW09=1
MOV #4 R2 *SET FOR 4 PRIMARY REGISTERS

48: MOV (RO) ,RS *SET "EXPECTED"
MOV (R3) .R& *READ THE REGISTER BACK
BIC #BIT7,R4 *CLR UNWANTED BITS
CMP RS R4
BEQ 5% ;BRANCH IF OK
HLT 3 *THIS IS A DUAL ADDRESSING ERROR

5%: SCOP1 $SW09=12
CMP (RO)+, (R3) + :POP POINTERS
DEC R2 *UPDATE THE REGISTER COUNTER
BNE 4$ *BRANCH IF MORE TO GO
BR 6$

3$: .WORD 00020 :RXCSR
-WORD 00000 *RXDBUF AND PARCSR
.WwORD 00010 STXCSR
"WORD 00100 * TXDBUF

////////////////////////////////////////////////////////////////////////////////////

- :NOW CHECK FOR BYTE ADDRESSING s44C
6% : MOV #118,L0CK

MOV #12%.RO :SET TABLE POINTER
MOV RXCSR,R3 *SET DUP HARDWARE POINTER
CLR (R3) *CLEAR REG
MOV #10,R2 *SET 8 BYTE ADDRESSES

11$: MOVB (ROJ.RS *SET EXPECTED

MOVB RS, (R3) *WRITE EXPECTED TO REG
MOVB (R3),Ré4 *READ REG BACK
BICB #BIT7.R&4 *CLR UNWANTED BITS
CMPB RS,R4 *DOES EXPECTED=RECEIVED?
BEQ 108 “IF YES.BR
HLT 3 :DATA ERROR

108: SCOP1

CMPB (RO)+,(R3)+ :POP POINTERS
DEC R2 *UPDATE REG CNTR
BNE 1% :BR IF MORE TO GO
SCOPE

12%: .BYTE 020 :LO BYTE RXCSR

.BYTE 001 *HI BYTE RXCSR

.BYTE 000 :LO BYTE RXDBUF AND PARCSR

.BYTE 000 *HI BYTE RXDBUF AND PARCSR

.BYTE 010 *LO BYTE TXCSR

.BYTE 000 *HI BYTE TXCSR
BYTE 100 *LO BYTE TXDBUF
BYTE 002 sHI BYTE TXDBUF
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}ggg IIIITIT7777777707777770777777777777777777777777777777777777777777770777777777777777

1868
1869 IRRRRARAAR AN AR AR AR AR AR AN TEST 3 Aaaataadaantnrathhtrtthrtens

1870 :*RECEIVER CONTROL REGISTER RESET TEST. TEST THAT AFTER
1871 s*RECEIVER CONTROL REGISTER IS WRITTEN AND A BUS RESET IS
1872 :*DONE THAT RECEIVER CONTROL REGISTER IS CLEARED.
1873 IR RRR AR R AR AR KRR RRR AR RRRRA RN AR AANARAAAN R AR

1874
1875 DIRERRRRFRRRAR

1876 : .

1877 : TEST 3
1878 : -
1879 JIRRRRFRAARKRR

1880 IR AR AR AR AR AR AR R RRRRRR AR AR R AR RN ARARAAARRA AR AR RN

1881 007536 012737 000003 001226 TST3: MOV #3,a#TSTNO
1882 007544 012737 007600 001216 MOV #TST4 NEXT
1883 007552 005005 CLR RS JSET "EXPECTED''
1884 007554 013703 001404 MOV RXCSR,R3 ;GET THE RECEIVER CONTROL REGISTER
1885 007560 012713 177777 MOV #-1,(R3) ;LOAD RECEIVER CONTROL REGISTER WITH ALL ONES
1886 007564 000005 RESET
1887 007566 011304 MOV (R3) R4 ;READ THE RECEIVER CONTROL REGISTER
1888 007570 020504 CMP RS.R4 ;R5=G00D ,Ré4= ?
1889 007572 001401 BEQ 1% :BR IF OK
1890 007574 104002 HLT 2 . COMPARISON ERROR
}gg} 007576 104400 1%: SCOPE ;SCOPE THIS TEST

1893
1894 JRRRRRRARAARAAARACRAR A RARn TEST L RARRRARRAARRARRRAAR AR AR AR AR

1895 ;*RECEIVER BUFFER REGISTER RESET TEST. TEST THAT AFTER A BUS
1896 ;*RESET IS DONE THAT RECEIVER BUFFER REGISTER IS CLEARED.
1897 IR AR AR AR AR R ARARRR R AR R AR R AR AR AR RN

1898
1899 JIRRRRARRRKKKK

1900 s *

1901 ; TEST &
1902 3 *
1903 JIRKREARRRRKKK

1904 IR AR AR AR KRR AR R AR R AR RRR R AR RRR KRR RA AR AR RN RN

1905 007600 012737 000004 001226 TST4: MOV #4 ,a#TSTNO
1906 007606 012737 007636 001216 MOV H#TSTS NEXT
1907 007614 005005 CLR RS sSET "EXPECTED''
1908 007616 013703 001406 MOV RXDBUF ,R3 ;GET THE RECEIVER BUFFER REGISTER
1909 007622 000005 RESE]
1910 007624 011304 MOV (R3) ,R4 JREAD THE RECEIVER BUFFER REGISTER
1911 007626 020504 CMP RS .R4 sR5=GO0D ,R4= ?
1912 007630 001401 BEQ 1% ;BR IF OK
1913 007632 104002 HLT 2 ;COMPARISON ERROR
}g}g 007634 104400 1%: SCOPE ;SCOPE THIS TEST

1916
1917 IRAKARRRRRARARRRARRARRRRARR TEST 5 A a e et A v A kA AR A NN

1918 :*PARAMETER STATUS REGISTER RESET TEST. TEST THAT AFTER
1919 ;*PARAMETER STATUS REGISTER IS WRITTEN AND A BUS RESET IS

1920 ;*DONE THAT PARAMETER STATUS REGISTER IS CLEARED.
1921 IR AR RN R R AR AR R AR R AR R AR R AR AR AR R AR R RRRRRRNRRRA AR R R R AR



CZDPBC MACY11 30A(1052)
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1922
1923
1924
1925
1926
1927
1928
1929
1930
1931
1932
1933

02-MAY-78
02-MAY-78 08:23

012737
012737

012737

000005
007700

001410
177777

000006
007746

001412
177777

000200

001226
001216

001226
001216

D 4
13:58 PAGE 43 SEQ 0042

PARAMETER STATUS REGISTER RESET TEST

sekRkAk h Rk

. %

; TEST 5

.

.

k2

: .

IIRRERRRRARAAR

IRRERARARAR AR AR RN ARRR A AR A RARRAR AR R AR ARRIR AR AR AR RRRRRRRRRRAR AR AR

TISTS: MOV #5,a#TSTNO
MOV #TST6 NEXT

CLR R5 sSET "EXPECTED"'
MOV PARCSR,R3 ;GET THE PARAMETER STATUS REGISTER
;ggET #-1,(R3) ;LOAD PARAMETER STATUS REGISTER WITH ALL ONES

MOV (R3) R4 ;READ THE PARAMETER STATUS REGISTER
CMP R5.R4 ;R5=G00D ,R4= ?
BEQ 1% ;BR IF OK

HLT P4 ; COMPARISON ERROR
1$: SCOPE ;SCOPE THIS TEST

IRRRRRRRRRARRRARRRRRRRRRAAR TEST © AAmmm s s Ak AR A AR RNAR ®

;*TRANSMITTER CONTROL REGISTER RESET TEST. TEST THAT AFTER
s*TRANSMITTER CONTROL REGISTER IS WRITTEN AND A BUS RESET IS

;*DONE THAT TRANSMITTER CONTROL REGISTER IS CLEARED.
;:*t**tttfitt*ttttt'*'t't*fi'*tfi*ifi'**tfittttt*Q*ttt*ttttttttttt*tt

IIRRKRRRRRKARR

: «

; TEST 6
: .

JIRRRRRRRARKAR

T ee

TST6: MOV #6,a4TSTNO

MOV HTST7 ,NEXT
CLR RS :SET "EXPECTED"*
MOV TXCSR,R3 “GET THE TRANSMITTER CONTROL REGISTER
gggfr #-1, (R3) *LOAD TRANSMITTER CONTROL REGISTER WITH ALL ONES

MOV (R3) ,R4 :READ THE TRANSMITTER CONTROL REGISTER
BIC #BIT7 R4 *CLR UNWANTED BITS
CMP RS R4 *R5=GOOD ,R4= ?
BEQ 1% :BR IF OK
HLT 2 *COMPARISON ERROR

1%: SCOPE *SCOPE THIS TEST

IRRRRRRRRRARAAARARknnenwntt TEST 7 AAARAAAARAARAERCRERRRRARARN

s*TRANSMITTER BUFFER REGISTER RESET TEST. TEST THAT AFTER
s*TRANSMITTER BUFFER REGISTER IS WRITTEN AND A BUS RESET IS

;*DONE THAT TRANSMITTER BUFFER REGISTER IS CLEARED.
::tttttititttttttttttfittfiiittfittttttifi'tttt.tti*ittt'iit!'ttt't'

AR KARARRR KRR

*

TEST 7
*
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1978
1979

007746
007754
007762
007764
007770
007774
007776
010000
010002
010004
010006

012737

012737
012737
013703
012705
010513
011304
042704
020504
001401
104003

040513
011304
042704
005005
020504
001401
104003
104400

02-MAY-78
02-MAY-78 08:23

000007
010010

001414
177777

000010
010074
001412
000010

000200

000200

001226
001216

001226
001216

E &
13:58 PAGE 44 SEQ 0043

TRANSMITTER BUFFER REGISTER RESET TEST

IRRRRRRRKRR R

CRRARRRRRRARRRAR AR R RRARREAARRRRRARRARRAR RRRRRRRRRRRRARRR R AR AR AR AR

TST7 MOV #7 ,a4TSTNO
MOV #TST10 NEXT
CLR RS sSET "EXPECTED"'
MOV TXDBUF ,R3 ;GET THE TRANSMITTER BUFFER REGISTER
22!57 #-1,(R3) ;LOAD TRANSMITTER BUFFER REGISTER WITH ALL ONES

MOV (R3) ,R4 ;READ THE TRANSMITTER BUFFER REGISTER
CMP RS.R4 ;R5=G0OOD ,R4= ?
BEQ 1% :BR IF OK
HLT 2 ;COMPARISON ERROR

1%: SCOPE :SCOPE THIS TEST

IRRRRRRARRRRRRARARRARRRRANAR TEST 0 wasataaaAk AR A AR AR AR AR AR ®

;*TRANSMITTER CONTROL REGISTER READ/WRITE BIT TEST.

;*SET BIT3, VERIFY BIT3 WAS SET.
;*CLEAR BIT3, VERIFY BIT3 WAS CLEARED.
::t"ttfi'tttfitiifi"tttitfi.tfii*ttfit*tfi*fitttttttttit*t*ttt"t'i'Qt

::'t'i'.'ttt.t

*

: TEST 10
. *

IRRRRRRAARRAR

AR AR AR AARRR AR R AR R AR AR AR RRRRRRRRRKRRRRRRRRRRRERRARRAARARRRRRARAR

TSTTO MOV #10,a#TSTNO

MOV lTST11,NEXT
MOV TXCSR,R3 :SET REGISTER TO BE TESTED.
MOV #BIT3.RS *SET "EXPECTED ‘.
MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) ,R4 *READ THE REGISTER.
BIC #B1T7 R4 :CLEAR UNWANTED BITS
CMP RS ,R4 *R5=GOOD; R4=UNKNOWN.
BEQ 1% “ARE THEY THE SAME?
HLT 3 - COMPARISON ERROR.

1%: BIC RS, (R3) *CLEAR BIT3

MOV (R3) R4 *READ THE REGISTER.
BIC aexr? R4 *CLEAR UNWANTED BITS
CLR *SET "EXPECTED''
CMP RS R4 *R5=GOOD; Ré4=?
BEQ 2% ‘BR IF OK
HLT 3 :COMPARISON ERROR

28: SCOPE *SCOPE THIS TEST

JRRRRARRRAKRRRRKRRRARARRRRR TEST T] At e a et A Ak ARk AN AR

;*TRANSMITTER CONTROL REGISTER READ/WRITE BIT TEST.

;*SET BIT4, VERIFY BIT4 WAS SET.
:«CLEAR BIT4, VERIFY BIT4 WAS CLEARED.
;:tt'ttttt*'titt"iitl'titttt.itt*'QQQttttttt"titii'ti'fiit't'fit

JIKKRRRRRRRRRR

"

* TEST 11



CZDPBC MACY11 30A(1052)
CZDPBC.PN

010074
010102
010110
010114
010120
010122
010124
010130
010132
010134
010136
010140
010142
010146
010150
010152
010154
010156

010160
010166
010174
010200
010204
010206
010210
010214
010216
010220
010222
010224
010226
010232
010234
010236
010240
010242

02-MAY-7

012737
012737
013703
012705
010513
011304

012737

F 4

02-MAY-78 13:58 PAGE 45 SEQ 0044
8 08:23 TRANSMITTER CONTROL REGISTER READ/WRiTE TEST BIT 4

: *

;:'*ttttt'tttt

;:'Qt.tt'titi*""t.fifi.'ti'it'tQ'.tt.i..Qi"'."it.tt.t!'i'ttt.'.'.'t'

000011 001226 TST11: MoV #11,34TSTNO
010160 001216 MOV #TST12, NEXT
001412 MOV TXCSR,R3 :SET REGISTER TO BE TESTED.
000020 MOV #8174 RS *SET "EXPECTED .

MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) R4 *READ THE REGISTER.

000200 BIC #BIT7 R4 *CLEAR UNWANTED BITS
CMP RS.R4 *R5=GOOD; R4=UNKNOWN.
BEQ 1% “ARE THEY THE SAME?
HLT 3 *COMPARISON ERROR.

1$: BIC RS, (R3) +CLEAR BIT4
MOV (R3) R4 *READ THE REGISTER.

000200 BIC #BIT7 R4 *CLEAR UNWANTED BITS
CLR RS *SET "EXPECTED'’
CMP RS ,R4 *R5=GOOD; Ré4=?
BEQ 2% *BR IF 0K
HLT 3 *COMPARISON ERROR

2%: SCOPE *SCOPE THIS TEST

:Qtt*ttfit.*'t*ttt'*ttt't'*t TEST 12 1 333332333 33223333332332322332 2]

s *«TRANSMITTER CONTROL REGISTER READ/WRITE BIT TEST.

:«SET BIT10, VERIFY BIT10 WAS SET.
**CLEAR BIT10, VERIFY BIT10 WAS CLEARED.
;:t..'tfi'fi.tittttfitt*tt*tttt*t*ti*tfitttttfittttttfit!ttt.ttt't!ttt

;:ttlttttttttt

o *

; TEST 12
; *

::ttt*titttt*t

::titttttttfitfitifittttt'ttitttttfi*tt.tit*tt.fittttfi.ttitttt'tttttttttttt

000012 001226 TST12: MOV #12,4TSTNO
010244 001216 MOV #TST13, NEXT
001412 MOV TXCSR,R3 :SET REGISTER TO BE TESTED.
002000 MOV #8IT10,RS *SET "EXPECTED .

MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) ,R4 *READ THE REGISTER.

000200 BIC #B1T7 R4 *CLEAR UNWANTED BITS
CMP RS ,R4 *R5=GOOD; R4=UNKNOWN.
BEQ 1% “ARE THEY THE SAME?
HLT 3 :COMPARISON ERROR.

1%: BIC RS, (R3) *CLEAR BIT10

MOV (R3) ,R4 *READ THE REGISTER.
000200 BIC #BI1T7.R4 *CLEAR UNWANTED BITS

CLR RS *SET "EXPECTED''
CMP RS.R4 ;R5=G0O0OD; R4=?
BEQ 2% *BR IF OK
HLT 3 *COMPARISON ERROR

28: SCOPE “SCOPE THIS TEST

IRAKRKARRAANRKARAARAARAARAR TEST 13 Aaaaaahaae a Ak v A AN AR AR



CZDPBC
CZDPBC

2090
2091
2092
2093
2094
2095
2096
2097
2098
2099
2100
2101
2102
2103

MACY11 30A(1052)
PN

010244
010252
010260
010264
010270
010272
010274
010300
010302
010304
010306
010310
010312
010316
010320
010322
010324
010326

010330
010336
010344
010350
010354
010356

010374
010376

02-MAY-78
02-MAY-78 08:23

012737
012737
013703
012705
010513
011304

012737
012737
013703

000013
010330
001412
004000

000200

000200

98
92
-
0

ga
a
M S
TO

000200

13:58 PAGE 46
G &

TRANSMITTER CONTROL REGISTER READ/WRITE TEST BIT 11

s*TRANSMITTER CONTROL REGISTER READ/WRITE BIT TEST.
;*SET BIT11, VERIFY BIT11 WAS SET.
;*CLEAR BIT11, VERIFY BIT11 WAS CLEARED.
::""Qttt.tfi*tfit'tt't.."fitttttfitt'tt'fit"fit.ttttQi'tt."t't'tt

; TEST 13

L4

coRkAR AR AR R AR

2222332322333 2323233333332 323233233 3223223222202 22 iRttt

001226 TST13:
001216

MOV

MOV

MOV
MOV

MOV
MOV

BIC
CMP

BEQ

HLT

BIC
MOV

BIC
CLR

CMP

BEQ
HLT

SCOPE

18:

2%:

JRERRERRRRARRARRRRRARRARRASE TEST T4 At nntaa et vt nttartavchnnsn

s*TRANSMITTER CONTROL REGISTER READ/WRITE BIT TEST.

CIRRRRRRRRAAR

#13,a4TSTNO
#TST14 NEXT

TXCSR,R3 :SET REGISTER TO BE TESTED.
#8IT11.RS *SET "EXPECTED ''.
RS, (R3) *WRITE THE REGISTER.
(R3) ,R4 *READ THE REGISTER.
#B1T7 R4 *CLEAR UNWANTED BITS
RS R4 *R5=GOOD; R4=UNKNOWN.
1% “ARE THEY THE SAME?

3 *COMPARISON ERROR.
RS, (R3) *CLEAR BIT11
(R3) R4 *READ THE REGISTER.
#B1T7 R4 “CLEAR UNWANTED BITS
RS *SET "EXPECTED''
RS5,R4 *RS=GOOD; Ré4=?
2% :BR IF OK
3 :COMPARISON ERROR

;SCOPE THIS TEST

;*SET BIT12, VERIFY BIT12 WAS SET.
;*CLEAR BIT12, VERIFY BIT12 WAS CLEARED.
;:tfittfitttttlt."""fi.'t'ttt.ttttt"'t.'fi.liQt"t..t"tt.i.."t

::tttiittfi'ttt

*OTEST 14
.

::ttt'tttttttfi

a2 2222222223333 3333332223222 22 22 R Rttt Rl

001226 TST14:
001216

MOV

MOV
MOV

MOV

MOV
MOV

BIC
CMP

BEQ
HLT

BIC
MOV

BIC

1%:

#14,4TSTNO
#TST1S,NEXT
TXCSR,R3 :SET REGISTER TO BE TESTED.
#BIT12.RS *SET "EXPECTED .
RS, (R3) *WRITE THE REGISTER.
(R3) R4 *READ THE REGISTER.
#B1T7.R4 *CLEAR UNWANTED BITS
RS R4 *R5=GOOD; R&=UNKNOWN.
1% “ARE THEY THE SAME?

3 *COMPARISON ERROR.
RS, (R3) *CLEAR BIT12
(R3) ,R4 *READ THE REGISTER.
#BI1T7.R4 *CLEAR UNWANTED BITS

SEQ 0045
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2146
2147
2148
2149
2150

010414
010422
010430
010434
010440
010442
010444
010450
010452
010454
010456
010460
010462
010466
010470
010472
010474

010476

010500
010506
010514
010520
010524

02-MAY-78
02-MAY-78 08:23

005005
020504
001401
104003
104400

012737
012737
013703
012705
010513
011304
042704
020504
001401
104003
040513
011304
042704
005005
020504
001401
104003
104400

000015 001226
010500 001216
001412
020000

000200

000200

012737
012737
013703
012705
010513

000016
010554
001414
000001

001226
001216

13:58 PAGE 47
H &4

TRANSMITTER CONTROL REGISTER READ/WRITE TEST BIT 12
SEQ 0046

CLR RS JSET "EXPECTED"'
CMP RS5.R4 ;R5=GO0D; R&4=?
BEQ 2% ;BR IF OK
HLT 3 ;COMPARISON ERROR

2%: SCOPE ;SCOPE THIS TEST

JRRRRRARRARANAAR RN RRA RN AR TEST 15 Aaaasaaaaandandtaatettt tnds

;*TRANSMITTER CONTROL REGISTER READ/WRITE BIT TEST.

;=SET BIT13, VERIFY BIT13 WAS SET.
:*CLEAR BIT13, VERIFY BIT13 WAS CLEARED.
IR AR AR AR AR R AR R AR RN AR RN R RAR AR RN RN AN RN

JIRRRARARRRRRK

2 *

; TEST 15
> *

JIRRARRNKARRAK

IR AR AR AR AR AR R AR AR R AR AR RN AR AR RN RR AR AR AR AR,

TST15: MOV #15,a#TSTNO
MOV #TST16 ,NEXT
MOV TXCSR,R3 ;SET REGISTER TO BE TESTED.
MOV #BI1T135,RS :SET "EXPECTED .
MOV RS, (R3) JWRITE THE REGISTER.
MOV (Rfi).R4 JREAD THE REGISTER.
BIC #MIT7 R4 ;CLEAR UNWANTED BITS
CMP R5.R4 ;R5=GO0D; R&=UNKNOWN.
BEQ 1% ;ARE THEY THE SAME?
HLT 3 ;COMPARISON ERROR.

1%: BIC RS, (R3) ;CLEAR BIT13
MOV (R3) R4 JREAD THE REGISTER.
BIC #1717 R4 sCLEAR UNWANTED BITS
CLR RS JSET "EXPECTED''
CMP RS.R4 ;R5=G0O0D; R4=?
BEQ 2% :BR IF OK
HLT 3 ;COMPARISON ERROR

2%: SCOPE ;SCOFE THIS TEST

JRARRARRAARARAARR R AR AR AR AR TEST 16 At aaaaaaaaaake kvt kAR et ®

;*«TRANSMITTER DATA BUFFER REGISTER READ/WRITE BIT TEST.

;*«SET BITO, VERIFY BITO WAS SET.
;*CLEAR BITO, VERIFY BITO WAS CLEARED.
IR RRA R AR AR AR R AR AR RRN AR RN R R AR RN RN AR RN

JIRRRRRRRRRANR

. %

; TEST 16
*

”

skkAR AR A AR AR

2222332222232 2 3332222323223Rttt Rl

TST16: MOV #16,34TSTNO

MOV #TST17 NEXT
MOV TXDBUF .R3 <SET REGISTER TO BE TESTED.
MOV #B1T0,RS *SET "EXPECTED '
MOV RS, (R3) *WRITE THE REGISTER.
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CZDPBC MACY11 30A(1052) 02-MAY-78 13:58 PAGE 48 SEQ 0047
cZoPBC.P11 02-MAY-78 08:23 TRANSMITTER BUFFER REGISTER READ/WRITE TEST BIT 0

2202 010526 011304 MOV (R3) R4 JREAD THE REGISTER.
2203 010530 220504 (MP RS .,R4 ;sR5=GOO0D; R4=UNKNOWN.
2204 010532 001401 BEQ 1% ;ARE THEY THE SAME?
2205 010534 104003 HLT 3 ;COMPARISON ERROR.
2206 01053 040513 1%: BIC RS, (R3) ;CLEAR BITO
2207 010540 011304 MOV (R3) R4 :READ THE REGISTER.
2208 010542 005005 CLR RS JSET "EXPECTED''
2209 010544 020504 CMP RS ,R4 ;R5=G00D; R&4=?
2210 010546 001401 BEQ 2% ;BR IF OK
2211 010550 104003 HLT 3 ;COMPARISON ERROR
%%}% 010552 104400 2%: SCOPE ;SCOPE (HIS TEST

2214
2215 ARRARRRRARRARARNRRNRRAARAN TEST 17 A aa e a kA Ak A ke w k&

2216 'TRANSHITTER DATA BUFFER REGISTER READ/WRITE BIT TEST.
2217 ;*SET BIT1, VERIFY BIT1 WAS SET.
2218 :'CLEAR BIT‘I, VERIFY BIT1 WAS CLEARED.
2219 IR R AR AR R AR R AR RRR P AR KR AR AR AR AAAR AR AR R AN AR AR RN ®

2220
2221 JINKRRRARRAR AR

2222 2 *
2223 ; TEST 17
2224 3 *
2225 JIRRRRRRARARR®

2226 AR R AR R AR R AR AR AR AR AR AR R RRRR AR AR RRRANR AR

2227 010554 012737 000017 001226 TST17: MOV #17 ,a4TSTNO
2228 010562 012737 010630 001216 MOV #TST20 NEXT
2229 010570 013703 001414 MOV TXDBUF ,R3 ;SET REGISTER TO BE TESTED.
2230 010574 012705 000002 MOV #BIT1,RS JSET "EXPECTED ‘.
2231 010600 010513 MOV RS, (R3) JWRITE THE REGISTER.
2232 010602 011304 MOV (R3) ,R4 ;READ THE REGISTER.
2233 010604 020504 CMP RS ,R4 ;R5=G00D; R&4=UNKNOWN.
2234 010606 001401 BEQ 1% ;ARE THEY THE SAME?
2235 010610 104003 HLT 3 ;COMPARISON ERROR.
2236 010612 040513 1%: BIC R5, (R3) ;CLEAR BIT1
2237 010614 011304 MOV (R3) ,R4 sREAD THE REGISTER.
2238 010616 005005 CLR RS sSET "EXPECTED"’
2239 010620 020504 CMP R5.R4 ;R5=GO0OD; R4=?
2240 010622 001401 BEQ 2% ;BR IF OK
2241 010624 104003 HLT 3 ;COMPARISON ERROR
552% 010626 104400 2%: SCOPE sSCOPE THIS TEST

2244
2245 JRERRRRNARANARARRRARRANRRAn TEST 20 AARAARARRRNRAARRARANRRRRAAR

2246 *TRANSMIYTER DATA BUFFER REGISTER READ/WRITE BIT TEST.
2247 ;«SET BIT2, VERIFY BIT2 WAS SET.
2248 :'CLEAR BIT2. VERIFY BIT2 WAS CLEARED.
2249 R LR R e L

2250
2251 JIRKARRRRRAANR

2252 2 *
2253 ; TEST 20
2254 : B
2255 JIRRARNRRRRAAK

22 IR AR AR AR AR A AR R R AR AR AR R R AR R AR R AR AR AR R AR AR R R RN

2257 010630 012737 000020 001226 TST20: MOV #20,a#TSTNO



czoPBC.P1 02-MAY-78 08:23

2258 010636 012737 010704 001216
| 2259 010644 013703 001414

2260 010650 012705 000004

2272 010702 104400

2287 010704 012737 000021 001226
2288 010712 012737 010760 001216
2289 010720 013703 001414
2290 010724 012705 000010
2291 010730 010513
2292 010732 011304
2293 010734 020504
2294 010736 001401
2295 010740 104003
2296 010742 040513
2297 010744 011304
2298 010746 005005
2299 010750 020504
2300 010752 001401
2301 010754 104003
2302 010756 104400

{CZDPBC MACY11 30A(1052) 02-MAY-78 13:
J &

58 PAGE 49 SEQ 0048
TRANSMITTER BUFFER REGISTER READ/WRITE TEST BIT 2

MOV #TST21 NEXT
MOV TXDBUF ,R3 :SET REGISTER TO BE TESTED.
MOV #BIT2 RS *SET "EXPECTED '
MOV RS, (R3) *WRITE THE REGISTER.
MOV (R%) R4 *READ THE REGISTER.
CMP RS, Ré *R5=GOOD; R4=UNKNOWN.
BEQ 1% “ARE THEY THE SAME?
HLT B *COMPARISON ERROR.

1$: BIC RS, (R3) *CLEAR BIT2
MOV (R3) R4 ‘READ THE REGISTER.
CLR RS *SET "EXPECTED"’
CMP R5,R4 *R5=GOOD; Ré4=?
BEQ 2% ‘BR IF OK
HLT 3 :COMPARISON ERROR

2%: SCOPE *SCOPE THIS TEST

IRRRARNRRARRRRRARARAARRRARAE TEST 27 Saana sttt a ket arnreehh v eenns

;*TRANSMITTER DATA BUFFER REGISTER READ/WRITE BIT TEST.

;*SET BIT3, VERIFY BIT3 WAS SET.
;*CLEAR BIT3, VERIFY BIT3 WAS CLEARED.
::.tt.ttttt.it*""'ttttttfit.fitt't.tfiQ.lt'fi.tttttttttttfitt.'ttti

IRAAA AR AR AR

>

TEST 21
.

IRRRRARRRRR

AR AR RN AR AR AR R AR AR R AR R ARRRRR AR R RRRRRRRRRARRRRANRRR

ST21: MOV #21,a#TSTNO
MOV #TST22 NEXT
MOV TXDBUF ,R3 ;SET REGISTER TO BE TESTED.
MOV #BI1T3,R5 sSET "EXPECTED ''.
MOV RS, (R3) ;WRITE THE REGISTER.
MOV (R3) ,R4 ;READ THE REGISTER.
cMP R5,R4 sR5=GO0D; R&4=UNKNOWN.
BEQ 1% sARE THEY THE SAME?
HLT 3 ; COMPARISON ERROR.

18: BIC R5, (R3) ;CLEAR BIT3
MOV (R3) R4 sREAD THE REGISTER.
CLR RS sSET "EXPECTED"'
CMP R5.R4 ;R5=G0O0D; Ré4=?
BEQ 2% :BR IF OK
HLT 3 ;COMPARISON ERROR

2%: SCOPE ;SCOPE THIS TEST

IRRRRRRARRRRRARRRRRRRARNNRR TEST 20 Antatataaaa e A Ak ke d AR AR RN

s*TRANSMITTER DATA BUFFER REGISTER READ/WRITE BIT TEST.

;*SET BIT4, VERIFY BIT4 WAS SET.
s*CLEAR BIT4, VERIFY BIT4 WAS CLEARED.
::.tt..ttttttttt't"'il'fit.ttfifittt.it'tttt.tti't"t'ttfi.ttt"ttt

;:.t.ttttt'tt'

; w

2 TEST 22



r

CZDPBC MACY11 30A(1052)
cZoPBC.P1

2314
2315

010760
010766
010774
011000
011004
011006
011010
011012
011014
011016
011020
011022
011024
011026
011030
011032

011034
011042
011050
011054
011060
011062
011064
011066
011070
011072
011074
011076
011100
011102
011104
011106

02-MAY~7

012737
012737
013703
012705
010513

012737
012737
013703
012705
010513

02-MAY-78

8 08:23

000022 001226
011034 001216
001414
000020

000023 001226
011110 001216
001414
000040

K 4
13:58 PAGE 50 SEQ 0049

TRANSMITTER BUFFER REGISTER READ/WRITE TEST BIT 4

*

iRARR AR AR

TST22: MOV #22,34TSTNO
MOV #TST23,NEXT
MOV TXDBUF ,R3 :SET REGISTER TO BE TESTED.
MOV #8174 ,RS *SET "EXPECTED '
MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) R4 *READ THE REGISTER.
CMP RS R *R5=GOOD; R4=UNKNOWN.
BEQ 1% “ARE THEY THE SAME?
HLT 2 *COMPARISON ERROR.

1%: BIC RS, (R3) *CLEAR BIT4
MOV (R3) R4 *READ THF REGISTER.
CLR RS *SET "EXPECTED"’
TMP RS R4 *R5=GOOD; Ré4=?
BEQ 2% ‘BR IF OK
HLT 3 *COMPARISON ERROR

28: SCOPE “SCOPE THIS TEST

IRRAAKRRRARARNRRARAAAARRARE TEST 23 A aaa et aa e e a ket vt v etnn

;*TRANSMITTER DATA BUFFER REGISTER READ/WRITE BIT TEST.

;*SET BITS5, VERIFY BITS5 WAS SET.
;*CLEAR BITS, VERIFY BIT5 WAS CLEARED.
::.tttfifit.ttt'fit'.tfi.t..t.tttlttttttittQ'fiit't.i.fit'tfit'.t'tfittt

Rk Ak Ak

.

TEST 23
*

IRARARRRRARRR

AR AR AR AR AR AR R AR AR AR AR AR AR R RARRRRRARRRRRANRRR R RRRRNRRRRRN

ST23: MOV #23,a#TSTNO
MOV HTST24 NEXT

-
4
t
 

L
N
,
 
N
N
,

MOV TXDBUF .R3 :SET REGISTER TO BE TESTED.
MOV #B1TS5,RS *SET "EXPECTED .
MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) R4 *READ THE REGISTER.
CMP RS.R4 *R5=GOOD; R4=UNKNOWN.
BEQ 1% “ARE THEY THE SAME?
HLT 3 *COMPARISON ERROR.

1$: BIC RS, (R3) *CLEAR BITS
MOV (R3) R4 *READ THE REGISTER.
CLR RS *SET "EXPECTED''
CMP RS5.R4 ;R5=GO0D; Ré4=?
BEQ 28 ‘B8R IF OK
HLT 3 *COMPARISON ERROR

28: SCOPE “SCOPE THIS TEST

Jhnknknknnnnnnnnnnnnnnnnntn TEST 24 wnnnnnnnnnnnnnnnnenannnnnnn

;*TRANSMITTER DATA BUFFER REGISTER READ/WRITE BIT TEST.

;*«SET BIT6, VERIFY BIT6 WAS SET.
;*CLEAR BIT6, VERIFY BIT6 WAS CLEARED.
;:tttttt.t..tttfi't'tttttt'ttt..fitttttttfi.'tt..tititt'...'.t.'t'.



L &
CZDPBC MACY11 30A(1052) 02-MAY-78 13:58 PAGE 51 SEQ 0050
CZDPBC.P11 02-MAY-78 08:¢23 TRANSMITTER BUFFER REGISTER READ/WRITE TEST BIT 6

2370
2371 JINRRRRRRR AR AN

2372 : .
2373 ] : TEST 24
2374 : .
2375 JIRRRRRRARRARR

2376 AR AR AR AR AR AR AR AR AR R AR AR RR R RARRRRRAR R RN R AR R AR R RN R,

2377 011110 012737 000024 001226 TST24: MOV #24 ,a#TSTNO
2378 011116 012737 011164 001216 MOV #TST2S NEXT
2379 011124 013703 001414 MOV TXDBUF ,R3 ;SET REGISTER TO BE TESTED.
2380 011130 012705 000100 MOV #BIT6,RS JSET "EXPECTED *'.
2381 011134 010513 MOV RS, (R3) :WRITE THE REGISTER.
2382 011136 011304 MOV (R3) R4 *READ THE RLSISTER.
2383 011140 020504 CMP R5,R4 ;R5=G00D; R&=UNKNOWN.
2384 011142 001401 BEQ 1% ;ARE THEY THE SAME?
2385 011144 104003 HLT 3 ;COMPARISON ERROR.
2386 011146 040513 1%: BIC RS, (R3) ;CLEAR BIT6
2387 011150 011304 MOV (R3) R4 JREAD THE REGISTER.
2388 011152 005005 CLR RS JSET "EXPECTED''
2389 011154 020504 CMP RS R4 ;R5=G0O0D; R&4=?
2390 011156 001401 BEQ 2% ;BR IF OK
2391 011160 104003 HLT 3 ;COMPARISON ERROR
g%g% 011162 104400 2%: SCOPE ;SCOPE THIS TEST

2394
2395 JRRARRRARRAANARAR ARk RRkAnn TEST 25 AAARRARAAARAARARAARAARARRAR

2396 ;*TRANSMITTER DATA BUFFER REGISTER READ/WRITE BIT TEST.
2397 :#SET BIT7, VERIFY BIT7 WAS SET.
2398 :*CLEAR BIT7, VERIFY BIT7 WAS CLEARED.
2399 IR A AR AR AR R AR R AR AR AR R AR AR RARR AR R AR RRRA AR AR AR AR

2400
2401 JIRKRRRRRARRRR

2402 : *
2403 : TEST 25
24604 2 “
2405 JIRRRRARRARRAR

2406 AR AR AR AR AR AR AR AR A AR AR AR AR AR AR AR AR R R RRARRRRRRR AR RRR AR AR R AR

2607 011164 012737 000025 001226 TST25: MOV #25,a#TSTNO
2408 011172 012737 011240 001216 MOV #TST26 NEXT
2409 011200 013703 001414 MOV TXDBUF ,R3 ;SET REGISTER TO BE TESTED.
2410 011204 012705 000200 MOV #IT7,RS ;SET "EXPECTED ‘.
26411 011210 010513 MOV RS, (R3) :WRITE THE REGISTER.
26412 011212 011304 MOV (R%) R4 :READ THE REGISTER.
26413 011214 020504 CMP RS ,R4 sR5=G0O0D; R4=UNKNOWN.
2414 011216 001401 . BEQ 1% ;ARE THEY THE SAME?
2415 011220 104003 HLT 3 ;COMPARISON ERROR.
26416 011222 040513 1%: BIC RS, (R3) ;CLEAR BIT7
2617 011224 011304 MOV (R3) R4 :READ THE REGISTER.
2418 011226 005005 (LR RS ;SET "EXPECTED''
2419 011230 020504 CMP RS R4 ;R5=G0O0D; R4=?

2420 011232 001401 BEQ 2% ;BR IF OK
2421 011234 104003 HLT 3 ;COMPARISON ERROR
gzg% 011236 104400 2%: SCOPE ;SCOPE THIS TEST

2425 JRRRRRRARARRRRNARAR nnnwnnn TEST 6 *AARARARRARANANRARRARARRENR



L

CZDPBC MACY11 30A(1052) 02-MAY-78 13:58 PAGE 52 SEQ 0051
CZDPBC.P11 02-MAY-78 08:23 TRANSMITTER BUFFER REGISTER READ/WRITE TEST BIT 8

| 2426 :*TRANSMITTER DATA BUFFER REGISTER READ/WRITE BIT TEST.
2427 ;=SET BIT8, VERIFY BIT8 WAS SET.
2428 :*CLEAR BIT8, VERIFY BIT8 WAS CLEARED.
2429 P ee

2430
2631 JINRRRRRRRRANR

2632 : *
2433 ; TEST 26
2434 : .
2435 JIRRNRRRRRNNASR

2436 Re e

2637 011240 012737 000026 001226 TST26: MOV #26,a#TSTNO
2438 011246 012737 011314 001216 MOV #TST27 NEXT
2639 0112564 013703 001414 MOV TXDBUF ,R3 ;SET REGISTER TO BE TESTED.
2440 011260 012705 000400 MOV #BIT8,RS ;SET "EXPECTED *'.
2641 011264 010513 MOV RS, (R3) :WRITE THE REGISTER.
2642 011266 011304 MOV (R3) R& JREAD THE REGISTER.
2443 011270 020504 CMP RS5.R4 ;R5=GO0D; R&=UNKNOWN.
2444 011272 001401 BEQ 1% JARE THEY THE SAME?
2445 011274 104003 HLT 3 ;COMPARISON ERROR.
26446 011276 040513 1%: BIC RS, (R3) ;CLEAR BITS8
2647 011300 011304 MOV (R3) ,R4 *READ THE REGISTER.
2648 011302 005005 CLR RS *SET "EXPECTED"'
2649 011306 020504 CMP RS R4 *R5=GOOD; Ré4=?
2450 011306 001401 BEQ 2% :BR IF OK
2451 011310 104003 HLT 3 ;COMPARISON ERROR
26452 011312 104400 2%: SCOPE :SCOPE THIS TEST

52
2455 IRRRRRRRRRRRRRRRRAAAARARNAN TEST 27 Stttaaa v A v e v v v et tnsn

2456 :*TRANSMITTER DATA BUFFER REGISTER READ/WRITE BIT TEST.
2457 :#SET BIT9, VERIFY BIT9 WAS SET.
2458 **CLEAR BIT9, VERIFY BIT9 WAS CLEARED.
2459 PR ee

2460
2461 JIRRNRRRRRRRN&

2462 3 *
2463 ; TEST 27
2464 2 .
2465 JIRRRRRRRANARK

I 2466 L e L
26467 011314 012737 000027 001226 TST27: MOV #27 ,a#TSTNO
2468 011322 012737 011370 001216 MOV #TST30 ,NEXT
2469 011330 013703 001414 MOV TXDBUF ,R3 ;SET REGISTER TO BE TESTED.
2470 011334 012705 001000 MOV #IT9 RS sSET "EXPECTED ‘',
26471 011340 010513 MOV RS, (RS) :WRITE THE REGISTER.
2472 011342 011304 MOV (R$) R4 :READ THE REGISTER.
2473 011344 020504 CMP RS .R4 ;JR5=GO0D; R&=UNKNOWN.
24764 011346 001401 BEQ 1% ;ARE THEY THE SAME?
2475 011350 104003 HLT 3 ;COMPARISON ERROR.
2476 011352 040513 1%: BIC RS, (R3) ;CLEAR BIT9
2477 011354 011304 MOV (Rs).Rlo JREAD THE REGISTER.
2478 011356 005005 CLR RS JSET "EXPECTED"'
2479 011360 020504 cMP RS.R4 ;R5=G00D; R4=?
2480 011362 001401 BEQ 2% ;BR IF OK
2481 011364 104003 HLT 3 ;COMPARISON ERROR



N &
CZDPBC MACY11 30A(1052) 02-MAY-78 13:58 PAGE 53 SEQ 0052
CZDPBC.P1 02-MAY-78 08:23 TRANSMITTER BUFFER REGISTER READ/WRITE TEST BIT 9

2482 011366 104400 2%: SCOPE ;SCOPE THIS TEST

548
2485 JRanknnknnnnnntnnnnnnnnnn TEST 30 sennannnnnnnnannannavttnnns

2486 “*TRANSMITTER DATA BUFFER REGISTER READ/WRITE BIT TEST.
2487 :#SET BIT10, VERIFY BIT10 WAS SET.
2488 'CLEAR BIT10, VERIFY BIT10 WAS CLEARED.
2489 RN AR AN RN RN AR R AR AR AN AR N AR AR AR AR AR AR AR AN AR AR AR

4905491 JINRRRRRRARAAN
2692 ; .
2493 : TEST 30
2494 : .
2495 JIRRRRRRARRANR

2496 IR AR AR AR AR RN RN RRR AR AR RN R AR R AN AR

2497 011370 012737 000030 001226 TST30: MOV #30,a#TSTNO
2498 011376 012737 011444 001216 MOV #TST31,NEXT
2499 011404 013703 001414 MOV TXDBUF ,R3 ;SET REGISTER TO BE TESTED.
2500 011410 012705 002000 MOY #8I1T10,R5 sSET "EXPECTED *'.
2501 011414 010513 MOV RS, (R3) JWRITE THE REGISTER.
2502 011416 011304 MOV (R3) R4 ;READ THE REGISTER.
2503 011420 020504 cMP RS R4 sR5=GO0D; R4=UNKNOWN.
2504 011422 001401 BEQ 1% sARE THEY THE SAME?
2505 011424 104003 HLT 3 ; COMPARISON ERROR.
2506 011426 040513 1$: BIC RS, (R3) ;CLEAR BIT10
2507 011430 011304 MOV (R3) R4 ;READ THE REGISTER.
2508 011432 005005 CLR RS sSET "EXPECTED"’
2509 011434 020504 CMP RS.R4 :R5=G0OD; R&4=?
2510 011436 001401 BEQ 2 :BR IF OK
2511 011440 104003 HLT 3 ; COMPARISON ERROR
2512 011442 104400 28: SCOPE :SCOPE THIS TEST

5314
2515 IRERARRRRRAANAARARARARRARAR TEST 3] Arana A e v A A AN AN AN

2516 **RECEIVER CONTROL REGISTER READ/WRITE BIT 1 RESET AND CLEAR TEST
2517 *+WRITE BIT 1,AND TEST THAT IT WILL BE CLEARED AFTER A
2518 :«DEVICE RESET AND RECEIVER CONTROL REGISTER CLR INSTRUCTION
2519 IR AR AR AR R R RN AR RN AR AR AR R R R AR AN ANNNR AR

2520
2521 JIRRRRARARRRAK

2522 : w
2523 ; TEST 31
2524 H .
2525 ;:tttttttttttt

2526 RNRRARAR AR RRARRR AR R AR AR ®

2527 011444 012737 000031 001226 TST31: MOV #31,a4TSTNO
2528 011452 012737 011540 001216 MOV #TST32 NEXT
2529 011460 013703 001404 MOV RXCSR,R3 :GET THE RECEIVER CONTROL REGISTER
2530 011464 052713 000002 BIS #BIT1,(R3) sSET BIT 1 AT RECEIVER CONTROL REGISTER
2531 011470 005005 CLR RS sSET "EXPECTED''
2532 011472 052777 000400 167712 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
2533 011500 004737 005044 JSR PC,SMALL sWAIT FOR RESET TO FINISH
2534 011504 032713 000002 BIT #8I1T1,(R%) sTEST BIT 1
2535 011510 001402 BEQ 1% ;BIT 1 IS CLEARED
2536 011512 011304 MOV (R3) R4 sLOAD "FOUND'’
2537 011514 104003 HLT 3 ;BIT 1 IS SET AND SHOULDN'T BE



(ZDPBC MACY11 30A(1052)
CZDPBC.P11

2538
2539
2540
2541
2542
2543
2544
2545
2546
2547
2548

011540
011546
011554
011560
011564
011566
011574
011600
011604
011606
011610
011612
011616
011620
011624
011626
011630
011632

02-MAY-78
02-MAY-78 08:¢3

052713
005013
032713
001402
011304
104003
104400

012737
012737
013703
052713

000002

000092

000032 001226
011634 001216
001404
000004

000400
005044
000004

000004

000004

167616

011634 012737 000033 001226
011642 012737 011730 001216
011650 013703 001404

B 5
13:58 PAGE 54 SEQ 0053

RECEIVER CONTROL REGISTER RESET AND CLEAR TEST BIT 1

'$: BIS #B1T1,(R3) ;SET BIT 1 AGAIN
CLR (R3) ;CLEAR THE RECEIVER CONTROL REGISTER
BIT #BIT1,(R3) ;TEST TO SEE IF BIT 1 CLEARED
BEQ 2% ;BIT 1 IS OK
MOV (R3) ,R4 sLOAD "FOUND''
HLT 3 ;BIT 1 FAILED TO CLEAR

2%: SCOPE ;SCOPE THIS TEST

sanannnnnnnnnnnerennnwnnnts [EST 32 wannnnannnnannnnnvennwntnen

;*RECEIVER CONTROL REGISTER READ/WRITE BIT 2 RESET AND CLEAR TEST
;*WRITE BIT 2,AND TEST THAT IT WILL BE CLEARED AFTER A
;*DEVICE RESET AND RECEIVER CONTROL REGISTER CLR INSTRUCTION
::Q'ttttttttfit"tt'tttt'fiQ'tttt..'i.*'t.ifitt..."ttt."".'.'..Q

a2 22222 2ssd ]

B

TEST 32
.

TRRRRRRAKRR R

IR AR AR R AR RARRRARRRERRRRR AR AR RRRRRRRRRRRARARAR AR AR R AR R AR RRRRRAAR

ST32: MOV #32,a#TSTNO
MOV #TST33 NEXT

T
 
T
R
 
T
E
T
ET
R

MOV RXCSR,R3 ;sGET THE RECEIVER CONTROL REGISTER
BIS #BIT2, (R3) ;SET BIT 2 AT RECEIVER CONTROL REGISTER
CLR RS sSET "EXPECTED''
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL ;WAIT FOR RESET TO FINISH
BIT #BI1T2, (R3) ;TEST BIT 2
BEQ 1$ ;BIT 2 IS CLEARED
MOV (R3) .R4 sLOAD "FOUND''
HLT 3 ;BIT 2 IS SET AND SHOULDN'T BE

1%: BIS #BIT2,(R3) ;SET BIT 2 AGAIN
CLR (R3) sCLEAR THE RECEIVER CONTROL REGISTER
BIT #BI1T2, (R3) sTEST TO SEE IF BIT 2 CLEARED
BEQ 2% ;BIT 2 IS OK
MOV (R3) R4 sLOAD "FOUND''
HLT 3 ;BIT 2 FAILED TO CLEAR

2%: SCOPE ;SCOPE THIS TEST

IRRRKRRARRNNARRARRRRAAAARRE TEST 3T Attt e e e a vk kAR AN RN

;*RECEIVER CONTROL REGISTER READ/WRITE BIT 3 RESET AND CLEAR TEST
;*WRITE BIT 3,AND TEST THAT IT WILL BE CLEARED AFTER A
;*DEVICE RESET AND RECEIVER CCNTROL REGISTER CLR INSTRUCTION
::tt*t*titttt*ttii'ttttfifit'tiwttfifitttttttttflt.'ikittttt'ttttttt'

crRkAAR A AN A AR AN

*

TEST 33
*

IIRRRRRAKARRAR

IIRRRRRRRRRARARARRRARRRRERRRRRRRRARARRAR AR RRRRRRRRRARRRRRRRRRRRRRRRRRA RN

TST33: MOV #33,a#TSTNO
MOV #TST34 NEXT
MOV RXCSR,R3 ;GET THE RECEIVER CONTROL REGISTER



(ZDPBC MACY11 30A(1052)
CZDPBC.P11

2594
2595
2596
2597

011654
011660
011662
011670
011674

011712
011714
011720
011722
011724
011726

011730
011736
011744
011750
011754
011756
011764
011770
011774
011776
012000
012002
012006
012010
012014
012016
012020
012022

02-MAY-78
02-MAY-78 08:23

052713

012737
012737
013703

000010

000400
005044
000010

000010

000010

000034
012024
001404
000020

000400
005044
000020

000020

000020

167522

001226
001216

167426

13:58 PAGE 55
cC 5

SEQ 0054

RECEIVER CONTROL REGISTER RESET AND CLEAR TEST BIT 3

BIS
CLR
BIS
JSR

BIT
BEQ
MOV
HLT

1%: BIS
CLR

BIT

BEQ
MOV
HLT

2%: SCOPE

#8173, (R3)
RS
#MRESET ,@TXCSR

PC,SMALL

#8173, (R3)
1%

(R3) ,R4
3
#8173, (R3)
(R3)
#B1T3,(R3)
2%
(R3) R4
3

sSET BIT 3 AT RECEIVER CONTROL REGISTER
sSET "EXPECTED''
JRESET THE DEVICE

;WAIT FCR RESET TO FINISH
;TEST BIT 3

;BIT 3 IS CLEARED
;LOAD "FOUND"'
;BIT 3 IS _SET AND SHOULDN'T BE
;SET BIT 3 AGAIN
;CLEAR THE RECEIVER CONTROL REGISTER
sTEST _TO SEE IF BIT 3 CLEARED
:BIT 3 1S OK
:LOAD ' FOUND'*
;BIT 3 FAILED TO CLEAR
;SCOPE THIS TEST

IRRRRRRRRANRRAARRARRRAANNRR TEST 34 AAaaa sttt e e a kv a ke ke A v e ns

:*RECEIVER CONTROL REGISTER READ/WRITE BIT 4 RESET AND CLEAR TEST
:«WRITE BIT 4,AND TEST THAT IT WILL BE CLEARED AFTER A

:*DEVICE RESET AND RECEIVER CONTROL REGISTER CLR INSTRUCTION
::ttfitt*t.ttiit't't'tttttfifitttfitt.t'*ttfifltttfittfiit'i'lQfit'tt.tfit

TRkhk

*

TEST 34
*

Rk Ak A A Ak

SRR A AR A AR A AR AR A AR A AR AR AR A A A AN AR A AR AR A AR AR AR AR AR AR A ARk ek

TST34 MOV
MOV

MOV

BIS
CLR

BIS
JSR

BIT

BEQ
MoV

HLT
1%: BIS

CLR

BIT

BEQ
MOV
HLT

2%: SCOPE

#34 ,Q#TSTNO
#TST35 NEXT
RXCSR,R3
#B1T4, (R3)
R5
#MRESET ,@TXCSR

PC,SMALL

#B1T4, (R3)
1%
(R3) ,R4
3
#8174, (R3)
(R3)
58174.(R3)
$
(R3) R4

3

;JGET THE RECEIVER CONTROL REGISTER
;SET BIT & AT RECEIVER CONTROL REGISTER

sSET "EXPECTED''
sRESET THE DEVICE

;WAIT FOR RFESET TO FINISH
;TEST BIT 4
;BIT & IS CLEARED
;LOAD "FOUND''
;BIT 4 IS SET AND SHOULDN'T BE
;SET BIT 4 AGAIN
sCLEAR THE RECEIVER CONTROL REGISTER
sTEST TO SEE IF BIT 4 CLEARED

:BIT 4 IS OK
2LOAD "FOUND''
:BIT 4 FAILED TO CLEAR
:SCOPE THIS TEST

rrarkRRRRRRRRRRRrrannnnnnen JEST 35 swanannnnnnnnnnnnnnnnnnnnnns

s*RECEIVER CONTROL REGISTER READ/WRITE BIT 8 RESET AND CLEAR TEST
;*WRITE BIT 8,AND TEST THAT IT WILL BE CLEARED AFTER A
;*DEVICE RESET AND RECEIVER CONTROL REGISTER CLR INSTRUCTION
::itttttfitttttttit't"fitfitttfit.t"'i...tfitt"tt'ttt't'ttt'.'tttt

sikkhkA AN AR



CZDPBC MACY11 30A(1052)
CZDPBC.P11

2650
2651
2652
2653
2654

012116

012120
012126
012134
012140
012144
012146
012154
012160
012164
012166
012170
012172
012176
012200
012204
012206
012210
012212

012737
012737
013703

012737
012737
013703
052713
005005
052777
004737
032713

02-MAY-~78
02-MAY-78 08:23

000035
012120
001404
000400

000400
005044
000400

000400

000400

000036
012214
001412
000010

000400
005044
000010

000010

000010

001226
001216

167332

001226
001216

167236

D 5
13:58 PAGE 56 SEQ 0055

RECEIVER CONTROL REGISTER RESET AND CLEAR TEST BIT 8

4 *

: TEST 35
: >

JIRRRRRRRRERAN

IR A R R R AR AR R AR RARAR R AR IR AR AR AR AR R AR RRRAR AR ®

TST35: MOV #35,a#TSTNO
MOV #TST36 NEXT
MOV RXCSR,R3 ;GET THE RECEIVER CONTROL REGISTER
BIS #8178, (R3) ;SET BIT 8 AT RECEIVER CONTROL REGISTER
CLR RS sSET "EXPECTED"'
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL sWAIT FOR RESET TO FINISH
BIT #BIT8, (R3) ;TEST BIT 8
BEQ 1% BIT 8 IS CLEARED
MOV (R3) ,R4 ;LOAD "FOUND''
HLT 3 :BIT 8 IS SET AND SHOULDN'T BE

1$: BIS #BIT8, (R3) ;SET BIT 8 AGAIN

CLR (R3) ;CLEAR THE RECEIVER CONTROL REGISTER
BIT #BIT8, (R3) ;TEST TO SEE IF BIT 8 CLEARED
BEQ 2% :BIT 8 IS OK
MOV (R3) R4 ;LOAD ‘FOUND'’
HLT 3 ;BIT 8 FAILED TO CLEAR

2%: SCOPE ;SCOPE THIS TEST

JRERARRRRAARRARARRRARARANRNRE TEST 36 AAARAAAAARRAARRARRRRARCRAAR

;*TRANSMITTER CONTROL REGISTER READ/WRITE BIT 3 RESET AND CLEAR TEST
;*WRITE BIT 3,AND TEST THAT IT WILL BE CLEARED AFTER A
;*DEVICE RESET AND TRANSMITTER CONTROL REGISTER CLR INSTRUCTION
R AR AR AR AR RN AR A AR AR A AR AAA AR AR AR A AR AR RN AR AR AR,

::t*tttttttfi*t

; *

; TEST 36
; *

. TRAAR R A A AR A AL

IR R AR AR R ARA AR AAARRRAARAR AR ARAAR AR

TST36 MOV #36,a#TSTNO

MOV #TST37,NEXT
MOV TXCSR,R3 ;GET THE TRANSMITTER CONTROL REGISTER
BIS #BIT3,(R3) sSET BIT 3 AT TRANSMITTER CONTROL REGISTER
CLR RS ;SET "EXPECict!"’
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL ;WAIT FOR RESET TO FINISH
BIT #8113, (R3) ;TEST BIT 3
BEQ 1% :BIT 3,1S CLEARED
MOV (R3) ,R4 ;LOAD _"FOUND''
HLT 3 :BIT 3 IS SET AND SHOULDN'T BE

1$: BIS #8113, (R3) :SET BIT 3 AGAIN

CLR (R3) sCLEAR THE TRANSMITTER CONTROL REGISTER
BIT #8173, (R3) sTEST_TO SEE IF BIT 3 CLEARED
BEQ 2% ;BIT 3 IS OK
MOV (R3) ,R4 sLOAD _"FOUND''
HLT 3 ;BIT 3 FAILED TO CLEAR

2%: SCOPE ;SCOPE THIS TEST



MACY11 30A(1052)
02-MAY-78P11

012214
012222
012230
012234
012240
012242
012250
012254
012260
012262
012264
012266
012272
012274
012300
012302
012304
012306

012310
012316
012324
012330
012334
012336
012344
012350
012354
012356
012360

012737
012737

012737
012737
013703
052713

E 5
02-MAY-78 13:58 PAGE 57 SEQ 0056

08:23 TRANSMITTER CONTROL REGISTER RESET AND CLEAR TEST BIT 4

JERRARARRARARRARRE A AR AN RN RN TEST 37 Ao aathaahthttatthhthtahahnn

;s*TRANSMITTER CONTROL REGISTER READ/WRITE BIT & RESET AND CLEAR TEST
;*WRITE BIT 4 ,AND TEST THAT IT WILL BE CLEARED AFTER A

;*DEVICE RESET AND TRANSMITTER CONTROL REGISTER CLR INSTRUCTION
IR AR AR AR AR R AR AR AR AR AR AARAA AR AARARRARARR AR AR R AN

JIRARRRRRAAKAN

. *

s TEST 37
. ¥

E;tttt'tttttt.
IR AR AR AR AR R AR AR AR AR AR R AR AR AR R AR RAAA AR AR RRAR RN AR AR AR AR

000037 001226 TST37: MOV #37 ,a4TSTNO
012310 001216 MOV #TST40 NEXT
001412 MOV TXCSR,R3 JGET THE TRANSMITTER CONTROL REGISTER
000020 BIS #8174, (R3) sSET BIT & AT TRANSMITTER CONTROL REGISTER

CLR RS JSET "EXPECTED''
000400 167142 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
000020 BIT #MIT4, (R3) sTEST BIT 4

BEQ 1% ;BIT 4 IS CLEARED
MOV (R3) ,R4 ;1.LOAD 'FOUND''
HLT 3 JBIT & IS SET AND SHOULDN'T BE

000020 18: BIS #BIT4, (R3) ;SET BIT & AGAIN
CLR (R3) ;CLEAR THE TRANSMITTER CONTROL REGISTER

000020 3IT #8174, (R3) sTEST TO SEE IF BIT 4 CLEARED
BEQ P 3 ;BIT 4 IS OK
MOV (R3) ,R4 ;LOAD ‘FOUND''

. HLT 3 ;BIT & FAILED TO CLEAR
28: SCOPE ;SCOPE THIS TEST

JRARARKARRARAA AR R AR AR R AR AR TEST 40 *aaaaatrnrhkhnkrhhrhthhhkhrn

:*TRANSMITTER CONTROL REGISTER READ/WRITE BIT 10 RESET AND CLEAR TEST

;*WRITE BIT 10,AND TEST THAT IT WILL BE CLEARED AFTER A
;*DEVICE RESET AND TRANSMITTER CONTROL REGISTER CLR INSTRUCTION
IR RNRA AR AR R RAARRARRAR AR AR ARAR AR A R AR AR

JIRRRRRARARKRR

. *

; TEST 40
. *

;;tttttttttttt
IR RA R AR AR AR AR AR AR R AR AR AR R AR AR AR AR AR AR AR AR

000040 001226 TST40: MOV #40,a#TSTNO
012404 001216 MOV #TST41 NEXT
001412 MOV TXCSR,R3 ;GET THE TRANSMITTER CONTROL REGISTER
002000 BIS #BIT16.(R3) JSET BIT 10 AT TRANSMITTER CONTROL REGISTER

CLR RS JSET "EXPECTED''
000400 167046 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
002000 BIT #81T10, (R3) sTEST BIT 10

BEQ 1% ;BIT 10 IS CLEARED
MOV (R3) ,R4 ;LOAD ‘‘FOUND'’
HLT 3 ;BIT 10 IS SET AND SHOULDN'T BE
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2762
2763
2764
2765
2766
2767
2768
2769
2770
2771
2772
2773
2774
2775
2776
2777
2778
2779
2780
2781
2782
2783

012374
012376
012400
012402

012404
012412
012420
012424
012430
012432
012440
012444
012450
012452
012454
012456
012462
012464
012470
012472
012474
012476
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052713
005013
032713
001402
011304
104003
104400

012737
012737
013703

002000

002000

000041

012500
001412
004000

000400
005044
004000

004000

004000

001226
001216

166752

012500 012737 000042 001226
012506 012737 012574 001216
012514 013703 001412

F 5
13:58 PAGE 58 SEQ 0057

TRANSMITTER CONTROL REGISTER RESET AND CLEAR TEST BIT 10

1%: BIS #BIT10, (R3) ;SET BIT 10 AGAIN
CLR (R3) ;CLEAR THE TRANSMITTER CONTROL REGISTER
BIT #B1T10, (R3) sTEST TO SEE IF BIT 10 CLEARED
BEQ 2% :BIT 10 IS OK
MoV (R3) ,R4 sLOAD 'FOUND''
HLT 3 ;BIT 10 FAILED TO CLEAR

2%: SCOPE ;SCOPE THIS TEST

IRRRRRRRRRRARARAR ARRRRARARR [EST 4] Armm kek kAR R AR AR AN A

s*TRANSMITTER CONTROL REGISTER READ/WRITE BIT 171 RESET AND CLEAR TEST

s*WRITE BIT 11,AND TEST THAT IT WILL B8E CLEARED AFTER A
s*DEVICE RESET AND TRANSMITTER CONTROL REGISTER CLR INSTRUCTION
::ttt.ttttttttttiti'tfit.tfit*'*tttfittttfitttiit.*t*tttitt'fi't'tttt

IRRAKR IR AR AR

*

: TE3T ¥
® *

E;tttttttttttt
'°ttttttttttt*tttttttttt'ttttttttttttttttttttttttttttttttt'tfiittttittt

TST41: MOV #4171 ,a#TSTNO
MOV cTSTéZ.NEXT
MOV TXCSR,R3 ;GET THE TRANSMITTER CONTROL REGISTER
BIS #MBIT11,(R3) JSET BIT 11 AT TRANSMITTER CONTROL REGISTER
CLR RS JSET "EXPECTED''
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL sWAIT FOR RESET TO FINISH
BIT #BIT11,(R3) JTEST BIT 11
BEQ 1% :BIT 11 1S CLEARED
MOV (R3) ,R4 :LOAD 'FOUND"’
HLT 3 JBIT 11 IS SET AND SHOULDN'T BE

1%: BIS #BIT11,(R3) ;SET BIT 11 AGAIN

CLR (R3) ;CLEAR THE TRANSMITTER CONTROL REGISTER
BIT #BIT11,(R3) :TEST TO SEE IF BIT 11 CLEARED
BEQ 2% :BIT 11 IS OK
MOV (R3) ,R4 :LOAD 'FOUND''
HLT 3 ;BIT 11 FAILED TO CLEAR

2%: SCOPE ;SCOPE THIS TEST

_
p

 S
e
s
.
s
,
n
,
 N
,

IRRRRRRRRRARARRARRAARRARRRE TEST 42 A naaad kA AR AR RAARNAN

;*TRANSMITTER CONTROL REGISTER READ/WRITE BIT 12 RESET AND CLEAR TEST

J*WRITE BIT 12,AND TEST THAT IT WILL BE CLEARED AFTER A
s*DEVICE RESET AND TRANSMITTER CONTROL REGISTER CLR INSTRUCTION
::ttttttt*tfitttttititttttQtfifit*itifiitttfittt'ittttttttt'ttt"i!tt

TRk AR AR Ak h

*

TEST 42
*

IRRRRRRRRRARR

AR AR AR AR AR AR R AR AR AR AR R AR AR AR AR RRARRRRRRRRRRRRRRARRRRRRRR AR R RN

ST42: MOV #42,a#TSTNO
MOV #TST43 NEXT
MOV TXCSR,R3 JGET THE TRANSMITTER CONTROL REGISTER
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012520
012524

012540
012544
012546
012550
012552
012556
012560
012564
012566
012570
012572

012574
012602
012610
012614
012620
012622
012630
012634
012640
012642
012644
012646
012652
012654
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052713

012737
012737
013703
052713
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08:23 TRANSMITTER CONTROL REGISTER RESET AND CLEAR TEST BIT 1¢

010000 BIS #81T12,(R3) JSET BIT 12 AT TRANSMITTER CONTROL REGISTER
CLR RS sSET "EXPECTED''

000400 166656 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
010000 BIT #81T12,(R3) sTEST BIT 12

BEQ 1% ;BIT 12 1S CLEARED
MOV (R3) ,R4 ;LOAD ‘FOUND''
HLT 3 JBIT 12 IS SET AND SHOULDN'T BE

010000 1%: BIS #81T12, (R3) ;SET BIT 12 AGAIN
CLR (R3) ;CLEAR THE TRANSMITTER CONTROL REGISTER

010000 BIT #1712, (R3) JTEST TO SEE IF BIT 12 CLEARED
BEQ 2% JBIT 12 IS 0K
MOV (R3) R4 ;LOAD 'FOUND''
HLT 3 ;BIT 12 FAILED TO CLEAR

2%: SCOPE ;SCOPE THIS TEST

JRRRERARARA AR RN AR AR RN R TEST 43 AaaaaaataatkAt Adtkhthns

;*TRANSMITTER CONTROL REGISTER READ/WRITE BIT 13 RESET AND CLEAR TEST
:*WRITE BIT 13,AND TEST THAT IT WILL BE CLEARED AFTER A

s*DEVICE RESET AND TRANSMITTER CONTROL REGISTER CLR INSTRUCTION
IR AR AR AN AR AR AR AR AR RR AR AR ARRRANRRACRAN AR AR

JIRRRRRAARARRR

4 *

; TEST 43
2 *

JIRRRRRARRRRRK

IRRA R AR AR AR AR AR AR AR R AR AR AR AR RN R AN

000043 001226 TST43: MOV #43,a4TSTNO
012670 001216 MOV RTST4L4L NEXT
001412 MOV TXCSR,R3 ;GET THE TRANSMITTER CONTROL REGISTER
020000 BIS #BIT13.(R3) JSET BIT 13 AT TRANSMITTER CONTROL REGISTER

CLR R5 ;SET "EXPECTED''
000400 166562 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
020000 BIT #B1T13,(R3) ;TEST BIT 13

BEQ 1% ;BIT 13 IS CLEARED
MOV (R3) R4 ;LOAD ‘FOUND''
HLT 3 ;BIT 13 IS SET AND SHOULDN'T BE

020000 1%: BIS #81T13,(R3) ;SET BIT 13 AGAIN
CLR (R3) ;CLEAR THE TRANSMITTER CONTROL REGISTER

020000 BIT #BI1T13,(R3) :TEST TO SEE IF BIT 13 CLEARED
BEQ P 3 ;BIT 13 IS OK
MOV (R3) ,R4 ;LOAD 'FOUND''
HLT 3 ;BIT 13 FAILED TO CLEAR

2%: SCOPE ;SCOPE THIS TEST

IRERRANRRRANKAACRRRCAARARAN TEST L4 A aaaa s a kA n vktttenn

;*TRANSMITTER BUFFER REGISTER READ/WRITE BIT O RESET AND CLEAR TEST
;*WRITE BIT O,AND TEST THAT IT WILL BE CLEARED AFTER A

;*DEVICE RESET AND TRANSMITTER BUFFER REGISTER CLR INSTRUCTION
2 2222222322322ttt l )

2 Tk R A AR AR AR
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2874
2875

012670
012676
012704
012710
012714
012716
012724
012730
012734
012736
012740
012742
012746
012750
012754
012756
012760
012762

012737
012737
013703
052713

012737
012737
013703
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000044 001226
012764 001216
001414
000001

000400
005044
000001

000001

000001

000045
013060
001414
000002

000400
005044
000002

0000C?2

000002

166466

001226
001216

166372

H 5
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TRANSMITTER BUFFER REGISTER RESET AND CLEAR TEST BIT 0

: *

; TEST 44
: *

3 IRRAARRA AR R EY

M IRRRR AR RA A AR AR ARAARAR AR REAAAAANAAANCAANAAARARAAAAAARAAARRATRRR TR,

TST44: MOV #64 ,ANTSTNO

MOV ITSTGS.NEXT
MOV TXDBUF ,R3 sGET THE TRANSMITTER BUFFER REGISTER
BIS #3170, (R3) sSET BIT O AT TRANSMITTER BUFFER REGISTER
CLR RS sSET "EXPECTED"’
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL SWAIT FOR RESET TO FINISH
BIT #8170, (R3) ;TEST BIT O
BEQ 1% BlT 0 IS CLEARED
MOV (R3) ,R4 LOAD “FOUND''
HLT 3 BIT 0 IS SET AND SHOULDN'T BE

1%: BIS #8170, (R3) ;SET BIT 0 AGAIN

CLR (R3) *CLEAR THE TRANSMITTER BUFFER REGISTER
BIT #8170, (R3) sTEST TO SEE IF BIT O CLEARED

BEQ 2% ;BIT 0 IS OK
MOV (R3) ,R4 ;LOAD "FOUND'’
HLT 3 ;BIT O FAILED TO CLEAR

2%: SCOPE ;SCOPE THIS TEST

Janannnnnnnnnnnernennnnnnnt TEST 45 wnnnannnnnnnnennvennnnnnnnn

;*TRANSMITTER BUFFER REGISTER READ/WRITE BIT 1 RESET AND CLEAR TEST
J*WRITE BIT 1,AND TEST THAT IT WILL BE CLEARED AFTER A
;*DEVICE RESET AND TRANSMITTER BUFFER REGISTER CLR INSTRUCTION
;:ttt'.tt.tt...""Q't.fi.t.tt.'Qt.'tt.'.t..'....'..".t'..t.t'.'

TRARRAR AR AR AN

*

TEST 45
*

IRAAARR AR AR

AR AR AR AN AR AR AR AR AN AR R AR AR AR R AR AR AR AR A AR A AR R R AR AR AR AR R AR AR RRR

ST45: MOV #45,a4#TSTNO
MOV HTSTL6 NEXT

—
d
s
 
S
N
,
 

0
,
8
,

MOV TXDBUF ,R3 ;GET THE TRANSMITTER BUFFER REGISTER
BIS #BI1T1,(R3) ;SET BIT 1 AT TRANSMITTER BUFFER REGISTER
CLR RS ;SET "EXPECTED''
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL ;sWAIT FOR RESET TO FINISH
BIT #B1T1,(R3) STEST BIT 1
BEQ 1% BIT 1 1S CLEARED
MOV (R3) ,R4 :LOAD "FOUND"'
HLT 3 :BIT 1 IS SET AND SHOULDN'T BE

1%: BIS #B1T1,(R3) :SET BIT 1 AGAIN

CLR (R3) ;CLEAR THE TRANSHITTER BUFFER REGISTER
BIT #B1T1,(R3) sTEST TO SEE IF BIT1 CLEARED
BEQ 2% :BIT 1 IS OK
MOV (R3) R4 'LOAD *FOUND'
HLT 3 ;BIT1 FAILED TO CLEAR

2%: SCOPE ;SCOPE THIS TEST
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cZoP8C.P11 02-MAY-78 08:23 TRANSMITTER BUFFER REGISTER RESET AND CLEAR TEST BIT 2

2930
2931 JRRRRRANANRRARARRNRREAARANRSD TEST 46 rxnannnntnrntttttttttetetnn

2932 'TRANSHITTER BUFFER REGISTER READ/WRITE BIT 2 RESET AND CLEAR TEST
2933 :*WRITE BIT 2,AND TEST THAT IT WilLL BE CLEARED AFTER A
2934 :'DEVICE RESET AND TRANSMITTER BUFFER REGISTER CLR INSTRUCTION
2935 IR RN R AR R R RN R R AR R R AR AR AR AR AN AR RN R AR TR AR R TR RO RN R RS

2936
293%7 JIRRRARRRARRAR

2938 : .
2939 ; TEST 46
2940 3 .
2941 JIRRRSIRRRRRRRR

2942 R ey

2943 013060 012737 000046 001226 TST46: MOV #46,aN¥TSTNO
2944 013066 012737 013154 001216 MOV lTSM?,NEXY
2945 013074 013703 001414 MOV TXDBUF ,R3 ;GET THE TRANSMITTER BUFFER REGISTER
2946 013100 052713 000004 BIS #IT2,(R3) JSET BIT 2 AT TRANSMITTER BUFFER REGISTER
2947 013104 005005 CLR RS sSET "EXPECTED"'
2948 013106 052777 000400 166276 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
2949 013114 004737 005044 JSR PC,SMALL sWAIT FOR RESET TO FINISH
2950 013120 032713 000004 BIT #8172, (R3) ;TEST BIT 2
2951 013124 001402 BEQ 1% BIT 2 lS CLEARED
2952 013126 011304 MOV (R3) R4 ;LOAD ‘FOUND'’
2953 013130 104003 HLT 3 BIT 2 IS SET AND SHOULDN'T BE
2954 013132 052713 000004 is: BIS #BIT12,(R3) “SET BIT 2 AGAIN
2955 013136 005013 CLR (R3) ;CLEAR THE TRAN"MITTER BUFFER REGISTER
2956 013140 032713 000004 BIT 08”2 (R3) sTEST TO SEE IF BIT 2 CLEARED
2957 013144 001402 BEQ 2% ;BIT 2 IS OK
2958 013146 011304 MOV (R3) R4 ;LOAD ‘FOUND''
2959 013150 104003 HLT 3 ;BIT 2 FAILED TO CLEAR
% 013152 104400 2%: SCOPE ;SCOPE THIS TEST

2962
2963 JRRRRRRARRRARANRRAR R nnnwnn TEST 47 AR RARARRRRRARAANAR RRANANNAE

2964 ;*TRANSMITTER BUFFER REGISTER READ/WRITE BIT 3 RESET AND CLEAR TEST
2965 :*WRITE BIT 3,AND TEST THAT IT WILL BE CLEARED AFTER A
2966 ;*DEVICE RESET AND TRANSMITTER BUFFER REGISTER CLR INSTRUCTION
2967 IR AR AR AR AR R AR RN RR RN RN RRRRA AR R AR R RN R AR R AR AR

2968
2969 JIRRRRRRRRARKR

2970 2 »
2971 ; TEST &7
2972 : .
2973 IINRNRNRRNANNR

2974 IR R AR AR AR R AR AR AR AR AR AR R R RN R AR R AR RN NNR

2975 013154 012737 000047 001226 TST47: MOV #47 ,a4TSTNO
2976 013162 012737 013250 001216 MOV #TSTS0 NEXT
2977 013170 013703 001414 MOV TXDBUF ,R3 JGET THE TRANSMITTER BUFFER REGISTER
2978 013174 052713 000010 BIS #BIT3,(R3) JSET BIT 3 AT TRANSMITTER BUFFER REGISTER
2979 013200 005005 (LR RS ;SET "EXPECTED''
2980 013202 052777 000400 166202 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
2981 013210 004737 005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
2982 013214 032713 000010 BIT #8173, (R3) JTEST BIT 3
2983 013220 001402 BEQ 1% BIT 3 IS CLEARED
2984 013222 011304 MOV (R3) ,R4 ;LOAD ‘FOUND'*
2985 013224 104003 HLT 3 :BIT 3 IS SET AND SHOULDN'T BE
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013226

013242
013244
013246

013250
013256
013264
013270
013274
013276
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052713
005013
032713
001402
011304
104003
104400

012737
012737
013703

000010

000010

000050
013344
001414
000020

000400
005044
000020

000020

000020

013344 012737 000051
013352 012737 013440 001216
013360 013703 001414

001226
001216

166106

001226

13:58 PAGE 62
J 5

SEQ 0061

TRANSMITTER BUFFER REGISTER RESET AND CLEAR TEST BIT 3

1%: BIS

CLR
BIT
BEQ
MOV

HLT

2%: SCOPE

#8173, (R3)
(R3)
58173.(R3)
$
(R3) R4
3

;SET BIT 3 AGAIN
:CLEAR THE TRANSMITTER BUFFER REGISTER
sTEST _TO SEE IF BIT 3 CLEARED
BIT 3 1S Ok
;LOAD "FOUND'’
:BIT 3 FAILED TO CLEAR
;SCOPE THIS TEST

IARRRRRARARARRARRRRRRAANRRR [EST SO wunnnnnnanannanteteenanannns

;*TRANSMITTER BUFFER REGISTER READ/WRITE BIT 4 RESET AND CLEAR TEST

s*WRITE BIT 4 ,AND TEST THAT IT WILL BE CLEARED AFTER A
;*DEVICE RESET AND TRANSMITTER BUFFER REGISTER CLR INSTRUCTION
::t.tt.t.ttttfi"t't"t.fi'Qttttt.t..'t...t't.ttt..fi.'t."...t'tt'

ARAR R A AR AR

.

TEST 50
»

chhh kR k

q
.
.
n
.
.
n
.
.
c

ST50: MOV
MOV

MOV
BIS
CLR
BIS
JSR

BIT

BEQ

MOV
HLT

1%: BIS

CLR

BIT
BEQ

MOV
HLT

2%: SCOPE

#50,a#TSTNO
#TST51 NEXT

TXDBUF ,R3
:?174.(R3)

#MRESET ,@TXCSR

PC,SMALL

#BI1T4, (R3)
1%
(R3) R4

3
#B1T4, (R3)

R 3222223233322 2 3222323222222 22 i iRttt ittt d)

sGET THE TRANSMITTER BUFFER REGISTER
;SET BIT & AT TRANSMITTER BUFFER REGISTER
;SET "EXPECTED'’
sRESET THE DEVICE
;WAIT FOR RESET TO FINISH

;TEST BIT 4
:BIT 4 IS CLEARED
;LOAD “FOUND''
:BIT 4 IS SET AND SHOULDN'T BE
:SET BIT 4 AGAIN
;CLEAR THE TRANSMITTER BUFFER REGISTER

;TEST TO SEE IF BIT 4 CLEARED

;BIT & FAILED TO CLEAR
;SCOPE THIS TEST

ERRRRRRRARRRRRRRRRRRRnnnnt TEST 51 annnnnnnnnnnnnnveenennnnnnn

s*TRANSMITTER BUFFER REGISTER READ/WRITE BIT 5 RESET AND CLEAR TEST

J*WRITE BIT 5,AND TEST THAT IT WILL BE CLEARED AFTER A
s*DEVICE RESET AND TRANSMITTER BUFFER REGISTER CLR INSTRUCTION
::t'tttt...tttfiti't"t.t.titttttt'titt'..t'.tiittt'tfifittttttt!tt

kRh Ak h &

*

* TEST 51
® k3

E:t*tfi.tt!tt'fi

TSTS1: MOV
MOV
MOV TXDBUF ,R3

AR AR AR AR AR AR AR AR R AR R R R AR R AR ARRA AR AR R AR R R AR R R R AR R AR AR R RRRR R R AR

#51,a4#TSTNO
#TST52 NEXT

JGET THE TRANSMITTER BUFFER REGISTER
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3042
3043

3045
3046

3
g

3048
3049
3050
3051
3052
3053
3054
3055
3056
3057
3058
3059
3060
3061
3062
3063
3064
3065
3066
3067
3068
3069
3070
3071
3072
3073
3074
3075
3076
3077
3078
3079

3081

3083

3085

3087

3089
3090
3091
3092
3093
3094
3095
3096
3097

013364

013532
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052713
005

052777

012737
012737
013703
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8 08: 23 TRANSMITTER BUFFER REGISTER RESET AND CLEAR TEST BIT §

000040 BIS #BITS,(R3) JSET BIT S AT TRANSMITTER BUFFER REGISTER
CLR RS :SET "EXPECTED''

000400 166012 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
000040 BIT #BITS5,(R3) ;TEST BIT S

BEQ 1% BIT 5 IS CLEARED
MOV (R3) R4 ;LOAD "FOUND''
HLT 3 817 S IS SET AND SHOULDN'T BE

000040 1%: BIS #BITS5,(R3) ;SET BIT S5 AGAIN
CLR (R3) CLEAR THE TRANSMITTER BUFFER REGISTER

000040 BIT #BITS5,(R3) :TEST TO SEE IF BIT S CLEARED
BEQ 2% BIT S IS 0K
MOV (R3) R4 :LOAD ‘FOUND''
HLT 3 BIT S FAILED TO CLEAR

2%: SCOPE :SCOPE THIS TEST

:ttttttttfi.tttt'tt't.fitt..t TEST 52 1 2333333333333 2333323232322322 31

:*TRANSMITTER BUFFER REGISTER READ/WRITE BIT 6 RESET AND CLEAR TEST

:*WRITE BIT 6,AND TEST THAT IT WILL BE CLEARED AFTER A
:*DEVICE RESET AND TRANSMITTER BUFFER REGISTER CLR INSTRUCTION
:;tttttfittttttttt'tttt.tttttttttttfi.'t.tttQtt.tt'tttt..t.'tttttt

::tttt.tttt.tt

4 *

; TEST 52
. #

E:tttttttttttt
. ttttttttttttttttttt.tttttttttttttttttt.ttltttttttttttttt.ttttttfittt'

000052 001226 TST52: MOV #52 ,a4TSTNO
013534 001216 MOV #TSTS3,NEXT
001414 MOV TXDBUF ,R3 ;GET THE TRANSMITTER BUFFER REGISTER
000100 BIS #BIT6,(R3) ;SET BIT 6 AT TRANSMITTER BUFFER REGISTER

CLR RS ;SET "EXPECTED''
000400 165716 BIS A#MRESET ,@TXCSR ;RESET THE DEVICE
005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
000100 BIT #8176, (R3) ;TEST BIT 6

BEQ 1% ;BIT 6 IS CLEARED
MOV (R3) R4 ;LOAD ‘FOUND''
HLT 3 ;BIT 6 IS SET AND SHOULDN'T BE

000100 1%: BIS #BIT6,(R3) ;SET BIT 6 AGAIN
CLR (R3) ;CLEAR THE TRANSMITTER BUFFER REGISTER

000100 BIT #BIT6,(R3) :TEST TO SEE IF BIT 6 CLEARED
BEQ 2% ;BIT 6 IS OK
MOV (R3) ,R4 :LOAD 'FOUND'*
HLT 3 ;BIT 6 FAILED TO CLEAR

2%: SCOPE :SCOPE THIS TEST

IRRRRRRARRANAARRARRRRRAAAAR TEST 53 wnnannnnananannnnnkteernnns

;*TRANSMITTER BUFFER REGISTER READ/WRITE BIT 7 RESET AND CLEAR TEST
:«WRITE BIT 7,AND TEST THAT IT WILL BE CLEARED AFTER A

:«DEVICE RESET AND TRANSMITTER BUFFER REGISTER CLR INSTRUCTION
;:tttttt.ttttttt'tttttfi..tfitttlttttttttttttt.ti'tt..ttlt.ttfitttt

::ttt.'t.t.t.t
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3098
3099
3100
3101
3102

013630
013636
013644
013650
013654
013656
013664
013670
013674
013676
013700
013702
013706
013710
013714
013716
013720
013722

012737
012737
013703
052713
00

012737
012737
013703
052713

02-MAY-78 08:23

000053
013630
001414
000200

000400
005044
000200

000200

000200

000054
013724
001414
000400

000400
005044
000400

0004C0

000400

001226
001216

165622

001226
001216

165526

L 5
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TRANSMITTER BUFFER REGISTER RESET AND CLEAR TEST BIT 7

: *

; TEST 53
*

;:tt.tttt.t...
IR AR AR AR AR AR R R AR AR AR R R R AN R AR AR RN AR A AN AR AR AN RN RN

TST53: MoV #53,a#TSTNO
MOV #TSTS4 NEXT
MOV TXDBUF ,R3 JGET THE TRANSMITTER BUFFER REGISTER
BIS #8I1T17,(R3) JSET BIT 7 AT TRANSMITTER BUFFER REGISTER
CLR RS ;JSET "EXPECTED''

. BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL sWAIT FOR RESET TO FINISH
BIT #B1T7,(R3) ;TEST BIT 7
BEQ 1% BIT 7 IS CLEARED
MOV (R3) ,R4 ;LOAD *FOUND'’
HLT 3 BIT 7 IS SET AND SHOULDN'T BE

1%: BIS #B1T7,(R3) ;SET BIT 7 AGAIN
CLR (R3) ;CLEAR THE TRANSMITTER BUFFER REGISTER
BIT #81T77,(R3) ;TEST TO SEE IF BIT 7 CLEARED
BEQ 2% :BIT 7 1S OK
MOV (R3) ,R4 ;LOAD "FOUND''
HLT 3 ;BIT 7 FAILED TO CLEAR

2%: SCOPE ;SCOPE THIS TEST

JRRRARARARARARRA AR AR AR AN AR TEST S4 Ataaaaaaanttttttdtentdedtaens

;*TRANSMITTER BUFFER REGISTER READ/WRITE BIT 8 RESET AND CLEAR TEST

;*WRITE BIT B8,AND TEST THAT IT WILL BE CLEARED AFTER A
;*DEVICE RESET AND TRANSMITTER BUFFER REGISTER CLR INSTRUCTION
PR R R AR AR AR RN AR AR AR AA R AR AN RN RRANRRN RN RN

JIRKARARRRRAAR

2 *

; TEST 54
: &

JIRKRRRRANRAAK

DR AR KRR AR AR R AR AR RN AR AR AR AR AR AR AR R AN AR RN AR RANRNRRR AN AR

TSTS4: MOV #54 ,a#TSTNO

MOV lTSTSS.NEXT
MOV TXDBUF ,R3 JGET THE TRANSMITTER BUFFER REGISTER
BIS #3178, (R3) sSET BIT 8 AT TRANSMITTER BUFFER REGISTER
CLR RS ;SET "EXPECTED''
BIS #MRESET ,aTXCSR RESET THE DEVICE
JSR PC,SMALL UAIT FOR RESET TO FINISH
BIT #8178, (R3) ;TEST BIT 8
BEQ 1% BIT 8 IS CLEARED
MOV (R3) R4 :LOAD ‘FOUND''
HLT 3 BIT 8 IS SET AND SHOULDN'T BE

1%: BIS #8178, (R3) ;SET BIT 8 AGAIN
(LR (R3) 'CLEAR THE TRANSMITTER BUFFER REGISTER
BIT #8178, (R3) sTEST TO SEE IF BIT 8 CLEARED
BEQ 2% BIT 8 IS OK
MOV (R3) R4 ;LOAD "FOUND"’
HLT 3 BIT 8 FAILED TO CLEAR

2%: SCOPE :SCOPE THIS TEST
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013724
013732
013740
013744
013750
013752
013760
013764
013770
013772
013774
013776
014002
014004
014010
014012
014014
014016

014020
014026
014034
014040
014044

014066
014070
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012737
012737
013703
052713

012737
012737
013703
052713

00
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08:23

000055 001226
014020 001216
001414
001000

000400
005044
001000

001000

001000

000056
014114
001414
002000

000400
005044
002000

165432

001226
001216

165336

mS
13:58 PAGE 65 SEQ 0064

TRANSMITTER BUFFER REGISTER RESET AND CLEAR TEST BIT 9

awannnnnnnannsanrnennnnnnn [EST 55 wnnnnnnnnnannnannnenennnnnns

:*TRANSMITTER BUFFER REGISTER READ/WRITE BIT 9 RESET AND CLEAR TEST
;*WRITE BIT 9,AND TEST THAT IT WILL BE CLEARED AFTER A

:«DEVICE RESET AND TRANSMITTER BUFFER REGISTER CLR INSTRUCTION
:;Q'tifi.'.fit!'t't".t.t..ttt...tt....'......."QQ.'.Q.QQ...'.t'.

IR A AR AR AR AN

*

TEST 55
*

IRRRRRRARRAR

AR AR AR AR AR R AR AR RN AR AR AR AR AR AR R RN RRRRRRRRRRRRRNRARR

ST55: MOV #55,a4TSTNO
MOV #TST56 ,NEXT
MOV TXDBUF ,R3 sGET THE TRANSMITTER BUFFER REGISTER
BIS #8179, (R3) ;SET BIT 9 AT TRANSMITTER BUFFER REGISTER
CLR R5 sSET "EXPECTED'’
BIS #MRESET ,@TXCSR :RESET THE DEVICE
JSR PC,SMALL ;WAIT FOR RESET TO FINISH
BIT #BIT9, (R3) ;TEST BIT 9
BEQ 1% BIT 9 IS CLEARED
MOV (R3) ,R4 ;LOAD ‘FOUND''
HLT 3 :BIT 9 IS SET AND SHOULDN'T BE

1%: BIS #BIT9, (R3) ;SET BIT 9 AGAIN
CLR (R3) ;CLEAR THE TRANSMITTER BUFFER REGISTER
BIT #BI1T9,(R3) sTEST TO SEE IF BIT 9 CLEARED
BEQ 2% :BIT 9 IS OK
MOV (R3) R4 ;LOAD *FOUND''
HLT 3 :BIT 9 FAILED TO CLEAR

2%: SCOPE :SCOPE THIS TEST

JRkRARRRnRnrnnrnrnrannnannn TEST 56 snnnnnnnnnantannanntnnnnnns

:*TRANSMITTER BUFFER REGISTER READ/WRITE BIT 10 RESET AND CLEAR TEST
;*WRITE BIT 10,AND TEST THAT IT WILL BE CLEARED AFTER A
:*DEVICE RESET AND TRANSMITTER BUFFER REGISTER CLR INSTRUCTION
;:Qlitll'tfitti.'tt'ttttttfl!titt!tt.ttiltttttttt.'..ttttt.t'ttttt

IRRRRARARRRAR

.

TEST 56
i

IRARRRRARRARR

AR AR AR AR AR R AR RN R RN RRR AR AR AR RN R AR AR R RN RN R R R AR

T56: MOV #56,4TSTNO

MOV #TST57 NEXT
MOV TXDBUF ,R3 sGET THE TRANSMITTER BUFFER REGISTER
BIS #81T10, (R3) ;SET BIT 10 AT TRANSMITTER BUFFER REGISTER
CLR RS ;SET "EXPECTED'’
BIS #MRESET,@TXCSR :RESET THE DEVICE
JSR PC,SMALL ;WAIT FOR RESET TO FINISH
BIT #81710, (R3) ;TEST BIT 10
BEQ 1% BIT 10 IS CLEARED
MOV (R3) R4 *FOUND"*: LOAD
HLT 3 :BIT 10 IS SET AND SHOULDN'T BE
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052713
005013
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013703
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011304
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78 08:23 RANSMITTER BUFFER REGISTER RESET AND CLEAR TEST BIT 10

$: 8IS #81T10, (R3) ;SET BIT 10 AGAIN
(R3) ;CLEAR THE TRANSMITTER BUFFER REGISTER

BIT #81T10, (R3) sTEST TO SEE IF BIT 10 CLEARED
BEQ 2% ;BIT 10 IS OK
MOV (R3) ,R4 ;LOAD ‘FOUND''
HLT 3 ;BIT 10 FAILED TO CLEAR

2$: SCOPE ;SCOPE THIS TEST

1

IRRRRRRARNRARRARRARRAARNNRR [EST 57 wnnnnnnnnnnnnnwrnbtenenannns

;*RECEIVER BUFFER REGISTER TEST
s*TEST THAT RECEIVER BUFFER REGISTER CANNOT BE WRITTEN.

;*WRITE RECEIVER BUFFER REGISTER WITH ALL 1'S
;*AND VERIFY THAT ALL 0°'S ARE READ BACK.
::ttfit.fittttfi....'t...tt'..ttt.l'tfittfittfitt'..QQ....!..'Q.QQ....

IR AAA A AR R AR

*

TEST 57
*

IRRRRARANRAAR

T

ST57: MOV #57 ,a#TSTNO
MOV #TST60,NEXT
MoV RXDBUF ,R3

;JGET THE REGISTER.
CLR RS ;SET EXPECTED (ZERO)
MOV #-1,(R3) ;WRITE REGISTER WITH ALL 1°'S
MOV (R3) R4 ;READ THE REGISTER.
CMP R5 R4 ;1S THE REGISTER EQUAL TO ZERO.
BEQ 1% ;BR IF OK.
HLT 3 sREGISTER NOT ZERO.

$: SCOPE ;SCOPE THIS TEST.

IRRRRRNARARRARRANRARAAARRAN TEST G0 ANt aaaaaaaaaae v aateenanns

; *PARAMETER STATUS REGISTER TEST
;*TEST THAT PARAMETER STATUS REGISTER CANNOT BE WRITTEN

;*READ THE PARAMETER STATUS REGISTER AND STORE THE DATA;
;*COMPLEMENT THE DATA AND WRITE THE PARAMETER STATUS REGISTER
;*VERIFING THAT THE PARAMETER STATUS REGISTER DID NOT CHANGE.
::ttttttttttttttttttt.tQtfitfittttfittifitttttittt.ttitttfiti.ititttt

kAR RRRARRKKR

*

TEST 60
*

IRRRRRRRRRKR

AR AR AR A AR AR AR AR AR AR R R AR R R RR AR AR AR AR RRRRRRRRRRRRRRRRRNRR RN

ST60: MOV #60,a#TSTNO
MOV #TST61 NEXT

MOV PARCSR,.R3
;GET THE REGISTER.

MOV (R3) ,RS ;READ THE REGISTER INTO RS
MOV R5,R4 ;SAVE REG INTO R4
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3266 014200 005104 oM R4 JMAKE R4 OPPOSITE TO REGISTER
3267 014202 010413 MOV R4, (R3) JWRITE THE REGISTER WITH THE COMPL IMENT
3268 014204 011304 MOV (R3) R4 :READ THE REGISTER.
3269 014206 020504 CMP RS ,R4 ;1S THE REGISTER EQUAL TO ZERO.
3270 014270 0014601 BEQ 1% ;BR IF OK.
3271 014212 104003 HLT 3 JREGISTER NOT ZERO.
%g;% 014214 104400 1%: SCOPE ;SCOPE THIS TEST.

3274
3275 JRRRRFRRRRARRRARENRRRRAARAR [EST 6] tantantantntataattatrnnennnn

3276 s*RECEIVER CONTROL REGISTER BIT O READ ONLY DEVICE RESET AND CLEAR TEST
3277 s*WRITE BIT O A ONE AND VERIFY A ZERO IS READ BACK
3278 ;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
3279 IR A AR AR AR AR R AR RN AR AR RN AR AR R R

3280
3281 JIRRRRRAKRKR AR

3282 : .
3283 ; TEST 61
3284 : *
3285 JIRRARRRKAKAA R

3286 AR AR R AR AR AR AR RN ANRRARRRRARRARA AR R RARRRRRRRRRRAR RN

3287 014216 012737 000061 001226 TST61: MOV #6171 ,a#TSTNO
3288 014224 012737 014330 001216 MOV #TST62 NEXT
3289 014232 013703 001404 MOV RXCSR,R3 JGET THE RECEIVER CONTROL REGISTER
3290 014236 012705 000001 MOV #BITO,RS ;GET BIT 0
3291 014242 010513 MCV RS (Rj) JWRITE BIT O TO RECEIVER CONTROL REGISTER
3292 014244 011304 MOV (Rj).R4 : JREAD RECEIVER CONTROL REGISTER BACK
3293 014246 005005 CLR RS sSET "EXPECTED''
3294 014250 020504 CMP RS .R4 ;R5=GO0D ,R4= ?
3295 014252 001401 BEQ 5% ;BIT 0 IS OK
3296 014254 104003 HLT 3 ;BIT FAILED TO CLR
3297 014256 012705 000001 5%: MoV #BITO,RS JRELOAD THE BIT
3298 014262 010513 MOV RS, (R3) :WRITE BIT 0 TO THE REG
3299 014264 052777 000400 165120 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
3300 014272 004737 005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
3301 014276 011304 MOV (R3) ,R4 ;GET BIT 0
3302 014300 032704 000001 BIT #B1TO,RG JTEST BIT O FOR RESET CLR
3303 014304 001401 BEQ 7% ;BIT 0 IS OK
3304 014306 104003 HLT 3 ;BIT FAILED TO CLEAR
3305 014310 010513 7%: MOV RS, (R3) ;SET BIT O
3306 014312 005013 CLR (R3) sCLR RECEIVER CONTROL REGISTER
3307 014314 011304 MOV (R3) R4 JREAD THE RECEIVER CONTROL REGISTER
3308 014316 005005 CLR RS sSET "EXPECTED''
3309 014320 020504 CMP R5 R4 sR5=GO0OD ,R4= ?
3310 014322 001401 BEQ 10% ;BIT 0 IS OK
3311 014324 104003 HLT 3 ;BIT FAILED TO CLEAR
gg}% 014326 104400 10%: SCOPE ;SCOPE THIS TEST

3314
3315 JRRRKRARARRARARRARARARARNRN TEST 62 St aaaa A A AR AR RN AR AR AA AR

3316 s*RECEIVER CONTROL REGISTER BIT 7 READ ONLY DEVICE RESET AND CLEAR TEST
3317 s*WRITE BIT 7 A ONE AND VERIFY A ZERO IS READ BACK
3318 s *REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
3319 IR AR AR AR AR AR AN AR RN AR RN AR AR AR R AR AR ARR RN AR RN AR AR AR

3320
3321 siRkAkR N AR AR AN AN
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3322
3323
3324
3325

014330
014336
014344
014350
014354
014356
014360
014362
014364
014366
014370
014374
014376
014404
014410
014412
014416

014420
014422
014424
014426
014430
014432
014434
014436
014440

014442
014450
014456
014462
014466
014470
014472
014474
014476
014500
014502
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012737
012737
013703
012705
010513
011304
005005
020504
001401
104003
012705
010513
052777
004737
011304
032704
001401
104003
010513
005013
011304
005005
020504
001401
104003
104400

012737
012737
013703

012705

000062
014442
001404
000200

000200

000400
005044

000200

000063
014554
001404
0010C0

001000

001226
001216

165006

001226
001216

C 6
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RECEIVER CONTROL REGISTER READ ONLY BIT 7 TEST

-4 *

s TEST 62
. *
.

IIRRARRNRRARARN

IR RRR AR RN RRRRARR AR R AR RN R AR AR AR AN RNRARRRRRRRRERRR AR AR RS

TST62: MOV #62 ,a4TSTNO
MOV #TST63 NEXT
MOV RXCSR,R3 :GET THE RECEIVER CONTROL REGISTER
MOV #BIT7.RS “GET BIT 7
MOV RS, (R3) SWRITE BIT 7 TO RECEIVER CONTROL REGISTER
MOV (R3) ,R4 *READ RECEIVER CONTROL REGISTER BACK
CLR RS *SET "EXPECTED"’
CMP RS.R4 *R5=GOOD ,R4= ?
BEQ 5% ‘BIT 7 IS OK
HLT 3 :BIT FAILED TO CLR

5%: MOV #BIT7,RS *RELOAD THE BIT
MOV RS, (R3) *WRITE BIT 7 TO THE REG
BIS #MRESET ,@TXCSR :RESET THE DEVICE
JSR PC,SMALL *WAIT FOR RESET TO FINISH
MOV (R3) ,Ré4 ‘GET BIT 7
BIT #B1T7 R4 “TEST BIT 7 FOR RESET CLR
BEQ 7% BIT 7 IS OK
HLT 3 :BIT FAILED TO CLEAR

7%: MOV RS, (R3) SSET BIT 7
CLR (R3) *CLR RECEIVER CONTROL REGISTER
MOV (R3) R4 *READ THE RECEIVER CONTROL REGISTER
CLR RS *SET "EXPECTED'*
MP RS R4 *R5=GOOD ,R4= ?

BEQ 10$ :BIT 7 IS OK
HLT 3 :BIT FAILED TO CLEAR

108: SCOPE *SCOPE THIS TEST

IRRRARRRRRARRNNAARRNARARANR [EST 63 St raa ekt A v ek ka AR AR AN R AR

;*RECEIVER CONTROL REGISTER BIT 9 READ ONLY DEVICE RESET AND CLEAR TEST
*WRITE BIT 9 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
;;t't'tttttttttttt'tttttittttttttttfitttttttttttttttt.tittttfitt't

::tttttttttttt

® k1
L

; TEST 63
: *

::ttfittttt.ttt

TST63: MOV #63,a4TSTNO
MOV #TST64 NEXT
MOV RXCSR,R3 ;GET THE RECEIVER CONTROL REGISTER
MOV #BIT9,RS ;GET BIT 9
MOV RS, (R3) JWRITE BIT 9 TO RECEIVER CONTROL REGISTER
MOV (R3) R4 sREAD RECEIVER CONTROL REGISTER BACK
CLR RS ;SET "EXPECTED''
CMP R5,R4 sR5=G0O0D ,R4= ?
BEQ 5% ;BIT 9 IS OK
HLT 3 ;BIT FAILED TO CLR

5%: MOV #BIT9,RS JRELOAD THE BIT
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014506
014510
014516
014522
014524
014530
014532
014534
014536
014540
014542
014544
014546
014550
014552

014554
014562
014570
014574
014600
014602
014604

014606
014610
014612
014614
014620
014622
014630
014634
014636
014642
014644
014646
014650
014652
014654
014656
014660
014662
014664
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010513
052777
004737
011304
032704
001401
104003
010513
005013
011304
005005
020504
001401
104003
104400

012737
012737
013703
012705
010513
011304
005005
020504
001401
104003
012705
010513
052777
004737
011304
032704

000400
005044

001000

000064 001226

164674

014666 001216
001404
002000

002000

000400
005044

002000

164562

D 6
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RECEIVER CONTROL REGISTER READ ONLY BIT 9 TEST

MOV RS, (R3) :WRITE BIT 9 TO THE REG
BIS AMRESET ,@TXCSR :RESET THE DEVICE
JSR PC, SMALL *WAIT FOR RESET TO FINISH
MOV (R3) R4 SGET BIT 9
BIT #81T9,R4 *TEST BIT 9 FOR RESET CLR
BEQ 7% BIT 9 IS OK
HLT 3 :BIT FAILED TO CLEAR

7%: MOV RS, (R3) “SET BIT 9

CLR (R3) :CLR RECEIVER CONTROL REGISTER
MOV (R3) R4 “READ THE RECEIVER CONTROL REGISTER
CLR RS *SET "EXPECTED''
CMP RS ,R4 *R5=GOOD ,R4= ?
BEQ 108 BIT 9 IS OK
HLT 4 :BIT FAILED TO CLEAR

108: SCOPE *SCOPE THIS TEST

IRRRRRRRRARARRACRRRRARARARR TEST G4 At taanattanrantrtrennttens

;*RECEIVER CONTROL REGISTER BIT 10 READ ONLY DEVICE RESET AND CLEAR TEST
;*WRITE BIT 10 A ONE AND VERIFY A ZERO IS READ BACK
; *REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::tQtt'Qt'Qtfit.."'Qttt..t!t.i.tfiQQ't*'tttfi..t'.tt.tl't"iQ'.t't

cr kA A AR AN A AN

*

TEST 64
*

IIRRRRRRARRRAR

T T Le

TST64: MOV #64 ,a#TSTNO

MOV #TSTHS5 NEXT
MOV RXCSR,R3 ;GET THE RECEIVER CONTROL REGISTER
MOV #BIT10,RS ;GET BIT 10
MOV RS, (R3) SWRITE BIT 10 TO RECEIVER CONTROL REGISTER
MOV (R$) R4 sREAD RECEIVER CONTROL REGISTER BACK
CLR RS sSET "EXPECTED"'
CMP R5.R4 ;R5=G00OD ,Ré4= ?
BEQ 5% ;BIT 10 IS OK
HLT 3 ;BIT FAILED TO CLR

5%: MOV #81T10,R5 ;RELOAD THE BIT
MOV RS, (R3) ;WRITE BIT 10 TO THE REG
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL sWAIT FOR RESET TO FINISH
MOV (R3) ,R4 ;GET BIT 10
BIT #B1T10,R4 sTEST BIT 10 FOR RESET CLR
BEQ 7% ;BIT 10 IS OK
HLT 3 ;BIT FAILED TO CLEAR

7%: MOV RS, (R3) ;SET BIT 10
CLR (R$) ;CLR RECEIVER CONTROL REGISTER
MOV (R3) R4 ;READ THE RECEIVER CONTROL REGISTER
CLR RS ;SET "EXPECTED"
CMP RS R4 ;R5=G00D ,R4= ?
BEQ 10% ;BIT 10 IS OK
HLT 3 ;BIT FAILED TO CLEAR

108: SCOPE ;SCOPE THIS TEST



E 6
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3434
3,35 JRRRRRRRAARARRACRRRARAR RN [EST 65 ARARRAAANRAARRRACARRRARAR AR

3436 ;*RECEIVER CONTROL REGISTER BIT 11 READ ONLY DEVICE RESET AND CLEAR TEST
3437 ;*WRITE BIT 11 A ONE AND VERIFY A ZERO IS READ BACK
3438 s*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
3439 IR RRRRRRRRR AR AR AR AR AR AR R AR RN AR RRRRRARAAN

3440
3441 JIRRRRARRRRNAR

3442 3 .
3443 ; TEST 65
3444 : .
3445 JIRRRERRRKRAAR

3446 IR RNRN AR AR AR R AR AR AR AR AR AR RN RAANANANR AR,

3447 014666 012737 000065 001226 TST65: MOV #65,a#TSTNO
3448 014674 012737 015000 001216 MOV #TST66 ,NEXT
3449 014702 013703 001404 MOV RXCSR,R3 ;GET THE RECEIVER CONTROL REGISTER
3450 014706 012705 004000 MOV #IT11,RS ;GET BIT 11
3451 014712 010513 MOV RS, (R3) JWRITE BIT 11 TO RECEIVER CONTROL REGISTER
3452 014714 011304 MOV (Rj).Rk sREAD RECEIVER CONTROL REGISTER BACK
3453 014716 005005 CLR RS sSET "EXPECTED"'
3454 014720 020504 CMP R5,R4 ;R5=G00D ,R4= ?
3455 014722 001401 BEQ 5% ;BIT 11 IS OK
3456 014724 104003 HLT 3 ;BIT FAILED TO CLR
3457 014726 012705 004000 5%: MOV #BIT11,RS sRELOAD THE BIT
3458 014732 010513 MOV RS, (R3) JWRITE BIT 11 TO THE REG
3459 (014734 052777 000400 164450 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
3460 014742 004737 005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
3461 014746 011304 MOV (R3) R4 ;JGET BIT 11
3462 014750 032704 004000 BIT #BIT11.,RSG JTEST BIT 11 FOR RESET CLR
3463 014754 001401 BEQ 7% ;BIT 11 IS OK
3464 014756 104003 HLT 3 ;BIT FAILED TO CLEAR
3465 014760 010513 7%: MOV RS, (R3) ;SET BIT 11
3466 014762 005013 CLR (R3) sCLR RECEIVER CONTROL REGISTER
3467 014764 011304 MOV (R3) R4 ;READ THE RECEIVER CONTROL REGISTER
3468 014766 005005 CLR RS ;SET "EXPECTED'’
3469 014770 020504 CMP RS ,R4 ;R5=GO0D ,Ré4= ?
3470 014772 001401 BEQ 108 :BIT 11 IS OK
3471 014774 104003 HLT 3 ;BIT FAILED TO CLEAR
gz;% 014776 104400 10%: SCOPE ;SCOPE THIS TEST

3474
3475 IRERARRRRKARRNRRAARRAARRRRAN [EST GO St raa e aaa v v v ek d v atv et tnns

3476 :*RECEIVER CONTROL REGISTER BIT 12 READ ONLY DEVICE RESET AND CLEAR TEST
34,77 :*WRITE BIT 12 A ONE AND VERIFY A ZERO IS READ BACK
3478 ;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
3479 IR RAARRARRRRAAARRARRRRAR RARNR AR RARR R AR NN

3480
3481 JIRKRAARAARRRAK

3482 3 .
3483 . TEST 66
3484 : B
3485 JIRKRRRRKRRRRR

3486 IR AR AR R AR AR RN AR A AR AR AR R R AR AR R R AR RR R R R RRRR R R R AR R AR R AR AR RN

3487 015000 012737 000066 001226 TSTé66: MOV #66,a4#TSTNO
3488 015006 012737 015112 001216 MOV #TSTO7 ,NEXT
3489 015014 013703 001404 MOV RXCSR,R3 JGET THE RECEIVER CONTROL REGISTER
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3490
34N
3492
3493

3495

015054
015060
015062
015066
015070
015072
015074
015076
015100
015102
015104
015106
015110
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015126
015132
015136
015140
015142
015144
015146
015150
015152
015156
015160
015166
015172
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015200
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02-MAY~78
02-MAY-78 08:23

012705

012737
012737
013703

010513

010000

010000

000400
005044

010000

00006
015224
001404
020000

020000

000400
005044

020000

164336

001226
001216

164224
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RECEIVER CONTROL REGISTER READ ONLY BIT 12 TEST

MOV #BIT12,RS ;GET BIT 12
MOV RS, (R3) JWRITE BIT 12 TO RECEIVER CONTROL REGISTER
MOV (R$) R4 ;READ RECEIVER CONTROL REGISTER BACK
CLR RS sSET "EXPECTED"
CMP R5.R4 ;R5=G00D ,Ré= ?
BEQ 5% ;BIT 12 1S OK
HLT 3 ;BIT FAILED TO CLR

5%: MOV #BIT12,RS5 sRELOAD THE BIT
MOV R5, (R3) ;WRITE BIT 12 TO THE REG
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL ;WAIT FOR RESET TO FINISH
MOV (R3),Ré :GET BIT 12
BIT #BIT12,R4 ;TEST BIT 12 FOR RESET CLR
BEQ 7$ ;BIT 12 IS OK
HLT 3 ;BIT FAILED TO CLEAR

7%: MOV RS, (R3) ;SET BIT 12
CLR (R3) ;CLR RECEIVER CONTROL REGISTER
MOov (R3) R4 ;READ THE RECEIVER CONTROL REGISTER
CLR R5 ;SET "EXPECTED"’
cMP R5,R4 ;R5=G00D ,R4= ?
BEQ 108 ;BIT 12 IS OK
HLT 3 ;BIT FAILED TO CLEAR

108: SCOPE ;SCOPE THIS TEST

IRRAARRRRAAARRRRARRRRARAARE TEST 67 Ratanaantae ttrrarnetatnnsn

;*RECEIVER CONTROL REGISTER BIT 13 READ ONLY DEVICE RESET AND CLEAR TEST

:*WRITE BIT 13 A ONE AND VERIFY A ZERO IS READ BACK
: *REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
IR A AR R AR AR RRRRRRRRRAR F IRRRRRR RN R R AR AR AR RN

JIRKRARRRARRRAR

o4 *

; TEST 67
3 *

JIRRRRKRRRRANK

IR AR AR AR AR AR AR AR R AR KRR R AR KRR AR RRARRRR AR AR R AR RN ®

TST67: MOV #67 ,a#TSTNO

MOV #TST70,NEXT
MOV RXCSR,R3 ;GET THE RECEIVER CONTROL REGISTER
MOV #BIT13.RS :GET BIT 13
MOov R5, (R3) JWRITE BIT 13 TO RECEIVER CONTROL REGISTER
MOV (R3) R4 ;READ RECEIVER CONTROL REGISTER BACK
CLR RS ;SET "EXPECTED"'
CMP R5.R4 ;R5=GO0D ,R4= ?
BEQ 5% ;BIT 13 IS OK
HLT 3 ;BIT FAILED TO CLR

5%: MOv #BIT13,R5 ;RELOAD THE BIT
MOV R5, (R3) JWRITE BIT 13 TO THE REG
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL ;WAIT FOR RESET TO FINISH
MOV (R3).R4 :GET BIT 13
BIT #B1T13,R4 ;TEST BIT 13 FOR RESET CLR
BEQ 7$ :BIT 13 IS 0K
HLT 3 ;BIT FAILED TO CLEAR

7$: MOV RS, (R3) ;SET BIT 13



CZDPBC MACY11 30A(1052)
CZDPBC.P11

015206
015210
015212
015214
015216
015220
015222

015224
015232
015240
015244
015250
015252
015254
015256
015260
015262
015264
015270
015272
015300
015304
015306
015312
015314
015316
015320
015322
015324
015326
015330
015332
015334

02=-MAY-78
02-MAY-78 08:c3

005013

012737
012737
013703
012705
010513
011304
005005
020504
001401
104003
012705
010513
052777
004737
011304
032704
001401
104003
010513
005013
011304
005005
020504
001401
104003
104400

000070 001226
015336 001216
001404
040000

040000

000400
005044

040000

164112

G 6
13:58 PAGE 72 SEQ 0071

RECEIVER CONTROL REGISTER READ ONLY BIT 13 TEST

CLR (R3) ;CLR RECEIVER CONTROL REGISTER
MOV (R3) R4 sREAD THE RECEIVER CONTROL REGISTER
CLR RS sSET "EXPECTED''
CMP RS ,R4 ;R5=GOQD ,Ré4= ?
BEQ 108 ;BIT 13 IS OK
HLT 3 ;BIT FAILED TO CLEAR

108: SCOPE ;SCOPE THIS TEST

sennnnnnnnnnnnnntenannnnnts [EST 70 wnnnnanananntnstveeentnnnnn

;*RECEIVER CONTROL REGISTER BIT 14 READ ONLY DEVICE RESET AND CLEAR TEST
s*WRITE BIT 14 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::Qt.'Qt..Q't.""".t.fi.QQt..'Q.tttt..'."tfi.'.'..'.'.'.Q'Q'Q.'

;:!Ii'....tt'.

-4 *

; TEST 70
. .
E:ttt'ttttt'.'
P L T

TST70: MOV #70,a#TSTNO

MOV #TST71 NEXT
MOV RXCSR,R3 :GET THE RECEIVER CONTROL REGISTER
MOV #BIT14 RS SGET BIT 14
MOV RS, (R3) *WRITE BIT 14 TO RECEIVER CONTROL REGISTER
MOV (R3) R4 *READ RECEIVER CONTROL REGISTER BACK
CLR RS *SET "EXPECTED''
CMP RS.R4 *R5=G0OD ,R4= ?
BEQ 58 *BIT 14 IS OK
HLT 3 *BIT FAILED TO CLR

5% MOV #BI1T14.RS *RELOAD THE BIT
MOV RS, (R3) “WRITE BIT 14 TO THE REG
BIS MMRESET,@TXCSR :RESET THE DEVICE
JSR PC,SMALL SWAIT FOR RESET TO FINISH
MOV (R3) R4 SGET BIT 14
BIT #B1T14,R4 “TEST BIT 14 FOR RESET CLR
BEQ 7% *BIT 14 IS OK
HLT 3 *BIT FAILED TO CLEAR

7%: MOV RS, (R3) *SET BIT 14

CLR (R3) *CLR RECEIVER CONTROL REGISTER
MOV (R3) ,R4 *READ THE RECEIVER CONTROL REGISTER
CLR RS *SET "EXPECTED"
CMP RS ,R4 *R5=GOOD ,R4= ?
BEQ 108 ‘BIT 14 IS OK
HLT 3 :BIT FAILED TO CLEAR

108: SCOPE “SCOPE THIS TEST

JakRRRRRnnnnnnnennnnnnnnwtt TEST 77 wannnnnnnnnnnnnnnrnannnennens

s*RECEIVER CONTROL REGISTER BIT 15 READ ONLY DEVICE RESET AND CLEAR TEST
;*WRITE BIT 15 A ONE AND VERIFY A ZERO IS READ BA(CK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
;:fitttt*t'tttt*"ttt'fi.iittttttfi.iitt"t'i.tttit't.t.ttttt't'fi"

;:Itttttttttfi'
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3602 ; .
3603 ; TEST 71
3604 : *
3605 IINRRNRRRRRNAR
3606 IR AR AR AR R R A R AR AR R R R AR AR RRR AR R R R AR AR R AR AR AN

3607 015336 012737 000071 001226 TST71: MOV #71,a#TSTNO
3608 015344 012737 015450 001216 MOV #TST72 NEXT
3609 015352 013703 001404 MOV RXCSR,R3 ;GET THE RECEIVER CONTROL REGISTER
3610 015356 012705 100000 MOV #3I1T15,RS :GET BIT 15
3611 015362 010513 MOV RS, (R3) JWRITE BIT 15 TO RECEIVER CONTROL REGISTER
3612 015364 011304 MOV (R3) R4 ;READ RECEIVER CONTROL REGISTER BACK
3613 015366 005005 CLR RS JSET "EXPECTED''
3614 015370 020504 CMP R5.R4 ;R5=G00D ,R4= ?
3615 015372 001401 BEQ 5% ;BIT 15 IS OK
3616 015374 104003 HLT 3 ;BIT FAILED TO CLR
3617 015376 012705 100000 5%: MOV #BIT15,RS ;RELOAD THE BIT
3618 015402 010513 MOV RS, (R3) JWRITE BIT 15 TO THE REG
3619 015404 052777 000400 164000 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
3620 015412 004737 005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
3621 015416 011304 MOV (R3) R4 ;GET BIT 15
3622 015420 032704 100000 BIT #BIT15,R4 JTEST BIT 15 FOR RESET CLR
3623 015424 001401 BEQ 7% ;BIT 15 IS OK
3624 015426 104003 HLT 3 ;BIT FAILED TO CLEAR
3625 015430 010513 7%: MOV RS, (R3) ;SET BIT 15
3626 015432 005013 CLR (R3) ;CLR RECEIVER CONTROL REGISTER
3627 015434 011304 MOV (R3) R4 ;READ THE RECEIVER CONTROL REGISTER
3628 015436 005005 CLR RS JSET "EXPECTED''
3629 015440 020504 CMP RS .R4 :R5=G00D ,R4= ?
3630 015442 001401 BEQ 10% ;BIT 15 IS OK
3631 015444 104003 HLT 3 ;BIT FAILED TO CLEAR
ggg% 015446 104400 10%: SCOPE ;SCOPE THIS TEST

3634
3635 IRRAKARRRRARANRRRRRANARRRRAR TEST 72 SAraaa kA A ARk kA AR AR RN A ®

3636 ;*RECEIVER BUFFER REGISTER BIT O READ ONLY DEVICE RESET AND CLEAR TEST
3637 ;*WRITE BIT O A ONE AND VERIFY A ZERO IS READ BACK
3638 ;*REPEAT FOR DEVICE RESET AND. CLR INSTRUCTIONS.
3639 DR R AR RRRARRR AR AR AR AR RRNRRR R RN AR AR AR

3640
3641 JINRRRARRRAKKK

3642 : *
3643 ; TEST 72
3644 : *
3645 IIRRRARRRRAAAR

2646 IR AR RRRRRRARARRRRRR AR AR R AR AR RRRRRRRRRRRNAN AR

3647 015450 012737 000072 001226 TST72: MOV #72, 4 TSTNO
3648 015456 012737 015562 001216 MOV #TST73 NEXT
3649 015464 013703 001406 MOV RXDBUF ,R3 ;GET THE RECEIVER BUFFER REGISTER
3650 015470 012705 0000C1 MOV #8I1T0,RS ;GET BIT 0
3651 015474 010513 MOV RS (Ri) JWRITE BIT O TO RECEIVER BUFFER REGISTER
3652 015476 011304 MOV (Rj).R4 ;READ RECEIVER BUFFER REGISTER BACK
3653 015500 005005 CLR RS sSET "EXPECTED''
3654 015502 020504 CMP RS ,R4 ;R5=G0O0OD ,R4= ?
3655 015504 001401 BEQ 5% ;BIT 0 IS 0K
3656 015506 104003 HLT 3 ;BIT FAILED TO CLR
3657 015510 012705 000001 5%: MOV #BITO,RS ;RELOAD THE BIT
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RECEIVER BUFFER REGISTER READ ONLY BiT O TEST

MOV RS, (R3) ;WRITE BIT 0 TO THE REG
BIS #MRESET ,@TXCSR :RESET THE DEVICE
JSR PC, SMALL “WAIT FOR RESET TO FINISH
MOV (R3) R4 SGET BIT 0
BIT #8170,R4 “TEST BIT O FOR RESET CLR
BEQ 7% :BIT 0 IS OK
HLT 3 *BIT FAILED TO CLEAR

7%: MOV RS, (R3) *SET BIT 0
CLR (R3) :CLR RECEIVER BUFFER REGISTER
MOV (R3) R4 “READ THE RECEIVER BUFFER REGISTER
CLR RS *SET "EXPECTED''
CMP RS, R4 *R5=GOOD ,Ré4= ?
BEQ 108 *BIT 0 IS OK
HLT 3 *BIT FAILED TO CLEAR

108: SCOPE “SCOPE THIS TEST

IRRRRRRRRARARRRRRRRRRRARRAN TEST 73 stk k kAR AR AR AN AR AR AN ®

;*RECEIVER BUFFER REGISTER BIT 1 READ ONLY DEVICE RESET AND CLEAR TEST
;*WRITE BIT 1 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::tttttfitttttQ*tttfitttttfittitttitfi'tttfiifit.t.*.tttt*tt.tt.tttttt

::*ttttt*.tfitt

*

: TEST 73
. *

E:tttttttttttt
;:'tttttitt*ttt*t'fittfitttttittttttfittttttttttfifittttttttttttttttfiitfiltt

TST73: MoV #73,a4TSTNO

MOV #TST74 NEXT
MOV RXDBUF .R3 :GET THE RECEIVER BUFFER REGISTER
MOV #81T1,RS SGET BIT 1
MOV RS, (R3) SWRITE BIT 1 TO RECEIVER BUFFER REGISTER
MOV (R3) R4 “READ RECEIVER BUFFER REGISTER BACK
CLR RS *SET "EXPECTED''
CMP RS .R4 *R5=GOOD ,R4= ?
BEQ 5% SBIT 1 1S 0K
HLT 3 *BIT FAILED TO CLR

5%: MOV #81T1,RS *RELOAD THE BIT
MOV RS, (R3) *WRITE BIT 1 TO THE REG
BIS #MRESET ,@TXCSR :RESET THE DEVICE
JSR PC,SMALL *WAIT FOR RESET TO FINISH
MOV (R3) ,R4 SGET BIT 1
BIT #B1T1,R4 “TEST BIT 1 FOR RESET CLR
BEQ 7% BIT 1 IS OK
HLT 3 *BIT FAILED TO CLEAR

7%: MOV RS, (R3) SSET BIT 1

CLR (R3) *CLR RECEIVER BUFFER REGISTER
MOV (R3) R4 *READ THE RECEIVER BUFFER REGISTER
CLR RS *SET "EXPECTED'
CMP RS .R4 *R5=GOOD ,R4= ?
BEQ 108 BIT 1 IS 0K
HLT “ *BIT FAILED TO CLEAR

10$: SCOPE “SCOPE THIS TEST
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RECEIVER BUFFER REGISTER READ ONLY BIT 2 TEST

sannnnnnnnnnnndennnnnnnnnnn TEST 74 wnnannnnnntantannattnntanas

:*RECEIVER BUFFER REGISTER BIT 2 READ ONLY DEVICE RESET AND CLEAR TEST
:«WRITE BIT 2 A ONE AND VERIFY A ZERO IS READ BACK
:*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::tttttt..'..fitfi'.'t'tit..i.fil't'.ti....tt'.'t..l't"'Qt..'t...'

ALE R s

*

TEST 74
*

ARAR AR kR

AR AR AR AR AR AR AR AR AR AR AR AR ARAAR AR AR AR A AR A AR A AR A AR AR

ST74: MOV #74 ,HTSTNO
MOV #TST75 NEXT
MOV RXDBUF .R3 :GET THE RECEIVER BUFFER REGISTER
MOV #81T2.RS “GET BIT 2
MOV RS, (R3) *WRITE BIT 2 TO RECEIVER BUFFER REGISTER
MOY (R3) R4 “READ RECEIVER BUFFER REGISTER BACK
CLR RS *SET "EXPECTED''
cTMMP RS ,R4 *R5=GOOD ,R4= ?
BEQ 58 :BIT 2 IS 0K
HLT 3 *BIT FAILED TO CLR

5% MOV #BIT2.RS *RELOAD THE BIT
MOV RS, (R3) *WRITE BIT 2 TO THE REG
BIS #MRESET ,@TXCSR :RESET THE DEVICE
JSR PC, SMALL :WAIT FOR RESET TO FINISH
MOV (R3) R4 SGET BIT 2
BIT #BIT2,R4 “TEST BIT 2 FOR RESET CLR
BEQ 7% :BIT 2 IS OK
HLT 3 :BIT FAILED TO CLEAR

78: MOV RS, (R3) SSET BIT 2
CLR (R3) *CLR RECEIVER BUFFER REGISTER
MOV (R3) R4 *READ THE RECEIVER BUFFER REGISTER
CLR RS *SET "EXPECTED''
CMP RS R4 *R5=GOOD ,R4= ?
BEQ 10§ BIT 2 1S 0K
HLT 3 *BIT FAILED TO CLEAR

108: SCOPE “SCOPE THIS TEST

IRRRKARRRRRRRRRARARRAAANRAR TEST 75 Atttka A A Ak kAR AR AR

;*RECEIVER BUFFER REGISTER BIT 3 READ ONLY DEVICE RESET AND CLEAR TEST
;*WRITE BIT 3 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::ttttfitittittttt't'tiii.tttifiiit'ttttttttt'.itfi"ttt.tittttt'tt

thhkhk kb h K

*

TEST 75
*

IRRRRRARRRRAR

AR AR R AR AR AR R AR AR AR AR R AR R AR R AR AR R R AR AR AR R R RRRRRRRRARR R AR R RO RN

ST75: MOV #75,a#TSTNO
MOV #TST76 NEXT
MOV RXDBUF ,R3 JGET THE RECEIVER BUFFER REGISTER
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RECEIVER BUFFER REGISTER READ ONLY BIT 3 TEST

MOV #BIT3,RS ;GET BIT 3
MOV RS, (R3) *WRITE BIT 3 TO RECEIVER BUFFER REGISTER
MOV (R3) R4 *READ RECEIVER BUFFER REGISTER BACK
CLR RS *SET "EXPECTED"’
CMP RS R4 *R5=GOOD ,Ré4= ?
BEQ 58 *BIT 3 IS OK
HLT 3 *BIT "FAILED TO CLR

5%: MOV #BIT3,RS *RELOAD THE BIT
MOV RS, (R3) *WRITE BIT 3 TO THE REG

163330 BIS #MRESET,@TXCSR :RESET THE DEVICE
JSR PC,SMALL *WAIT FOR RESET TO FINISH
MOV (R3) ,R4 “GET BIT 3
BIT #BITS,R4 “TEST BIT 3 FOR RESET CLR
BEQ 7% :BIT 3 IS OK
HLT 3 *BIT "FAILED TO CLEAR

7%: MOV RS, (R3) “SET BIT 3
CLR (R3) *CLR RECEIVER BUFFER REGISTER
MOV (R3) ,R4 *READ THE RECEIVER BUFFER REGISTER
CLR RS *SET "EXPECTED'’
CMP RS ,R4 *R5=GOOD ,R4= ?
BEQ 10§ *BIT 3 IS OK
HLT 3 :BIT "FAILED TO CLEAR

108: SCOPE *SCOPE THIS TEST

JREARRARARAARRACRAARRANk wn TEST 76 *XARRARARARRAAAAARAAAR AR A AR

**RECEIVER BUFFER REGISTER BIT 4 READ ONLY DEVICE RESET AND CLEAR TEST
“~WRITE BIT 4 A ONE AND VERIFY A ZERO IS READ BACK
**REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
: :ttttttttttt.fittttt..ttttttttl'.ttitttitt.ttt.tttttt.tttt'Qit.'

::ttttttfi'*fitt

. *

; TEST 76
" *

: i i222 2222324

; :t'tttttttfittfittttfitttfittttttttt*titttttitt!fittfitl.tt.fifitfil'ttttt'tit

001226 TST76: MOV #76,a4TSTNO
001216 MOV #TST77 NEXT

MOV RXDBUF .R3 :GET THE RECEIVER BUFFER REGISTER
MOV #8174 RS “GET BIT 4
MOV RS, (R3) *WRITE BIT 4 TO RECEIVER BUFFER REGISTER
MOV (R3) R4 *READ RECEIVER BUFFER REGISTER BACK
CLR RS *SET "EXPECTED"’
CMP RS ,R4 *R5=GOOD ,R4= ?
BEQ g BIT 4 IS OK
HLT 3 *BIT FAILED TO CLR

5% : MOV #BIT4 RS *RELOAD THE BIT
MOV RS, (R3) *WRITE BIT 4 TO THE REG

163216 BIS WMRESET ,@TXCSR :RESET THE DEVICE

JSR PC,SMALL *WAIT FOR RESET TO FINISH
MOV (R3) R4 “GET BIT 4
BIT #8174 R4 “TEST BIT 4 FOR RESET CLR
BEQ 7% BIT 4 IS OK
HLT 4 ‘BIT FAILED TO CLEAR

7%: MOV RS, (R3) *SET BIT 4
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08:23 RECEIVER BUFFER REGISTER READ ONLY BIT & TEST

CLR (R3) ;CLR RECEIVER BUFFER REGISTER
MOV (R3) ,R4 sREAD THE RECEIVER BUFFER REGISTER
CLR RS sSET "EXPECTED''
cMP RS R4 ;R5=600D ,R4= ?
BEQ 108 ;BIT 4 IS OK
HLT 3 ;BIT FAILED TO CLEAR

108: SCOPE ;SCOPE THIS TEST

000077 001226
016344 001216
001406
000040

000040

000400
005044

000040

163104

IRRRRRRRRRRNRAARARRRANNNANR TEST 77 Attt kA A A Ak kR AR R AN AR

;*RECEIVER BUFFER REGISTER BIT 5 READ ONLY DEVICE RESET AND CLEAR TEST
s*WRITE BIT 5 A ONE AND VERIFY A ZERO IS READ BACK
s *REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::.'tfi.tfitt..t.tfit't.tfitt.tttttttttttfiQfitfitt'...tt.t..ttt"t.."

crhhAARAA AR RN

«

TEST 77
-

IRRRRRRARRRARR

AR AR AR RN AR R AR AR AR AR AR AR AR RRRRRRRRRRRRRARRRRRRRRRRRRRCRRAARS

ST77: MOV #77 ,a4TSTNO
MOV #TST100 ,NEXT
MOV RXDBUF ,R3 :GET THE RECEIVER BUFFER REGISTER
MOV #8175 RS ‘GET BIT §
MOV RS, (R3) *WRITE BIT 5 TO RECEIVER BUFFER REGISTER
MOV (R3) R4 *READ RECEIVER BUFFER REGISTER BACK
CLR RS *SET "EXPECTED'’
CMP RS R4 *R5=GOOD ,R4= ?
BEQ 58 BIT 5 IS OK
HLT 3 *BIT "FAILED TO CLR

5%: MOV #BITS,RS *RELOAD THE BIT
MOV RS, (R3) *WRITE BIT 5 TO THE REG
BIS #MRESET ,@TXCSR :RESET THE DEVICE
JSR PC,SMALL SWAIT FOR RESET TO FINISH
MOV (R3) R4 ‘GET BIT §
BIT #81T5,R4 “TEST BIT S FOR RESET CLR
BEQ 7% :BIT 5 IS OK
HLT 3 *BIT "FAILED TO CLEAR

7%: MOV RS, (R3) *SET BIT 5
CLR (R3) *CLR RECEIVER BUFFER REGISTER
MOV (R3) R4 *READ THE RECEIVER BUFFER REGISTER
CLR RS *SET "EXPECTED'’
CMP RS R4 *R5=GOOD ,R4= ?
BEQ 108 BIT 5 IS OK
HLT 3 *BIT "FAILED TO CLEAR

108: SCOPE *SCOPE THIS TEST

sanxnnnnnnnnnnnennnnnnnwwwwt TEST 100 tnnnnnnnnnnrnnnennnnvertvnns

;*RECEIVER BUFFER REGISTER BIT 6 READ ONLY DEVICE RESET AND CLEAR TEST
;*WRITE BIT 6 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::itttttttttttttittttttttttttfi.fitt!ttfiilt'.l'itttttltltt'tttt't.

JINKRRRRARRARRE
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162772

RECEIVER BUFFER REGISTER READ ONLY BIT 6 TEST

. *

; TEST 100
. *

;:'.."'.."Q.
::.'...*.t"....fi..'..""....'...".."......Q..'.'.".."'..'......'

TST100: MOV #100,a#TSTNO
MOV #TST101 ,NEXT
MOV RXDBUF ,R3 :GET THE RECEIVER BUFFER REGISTER
MOV #B1T6,RS SGET BIT 6
MOV RS, (R3) *WRITE BIT 6 TO RECEIVER BUFFER REGISTER
MOV (R%) R4 *READ RECEIVER BUFFER REGISTER BACK
CLR RS *SET "EXPECTED'’
MP R5,R4 *R5=G0OOD ,R4= ?
BEQ 5% :BIT 6 IS 0K
HLT 3 :BIT FAILED TO CLR

5%: MOV #B1T6,RS *RELOAD THE BIT
MOV RS, (R3) SWRITE BIT 6 TO THE REG
BIS #MRESET,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL *WAIT FOR RESET TO FINISH
MOV (R3) R4 SGET BIT 6
BIT #B1T6,R4 *TEST BIT 6 FOR RESET CLR
BEQ 78 :BIT 6 IS OK
HLT 3 :BIT FAILED TO CLEAR

7%: MOV RS, (R3) *SET BIT 6
CLR (R3) :CLR RECEIVER BUFFER REGISTER
MOV (R3) ,R4 *READ THE RECEIVER BUFFER REGISTER
CLR RS *SET "EXPECTED'*
P RS ,R4 *R5=GOOD ,R4= ?
BEQ 108 :BIT 6 IS OK
HLT 3 :BIT FAILED TO CLEAR

108: SCOPE *SCOPE THIS TEST

shaxannnnnnnnnnrnnnrnnwntwt TEST T07 wnnnnnnnnnnnnnnavvttrnvntnn

;*RECEIVER BUFFER REGISTER BIT 7 READ ONLY DEVICE RESET AND CLEAR TEST
;*WRITE BIT 7 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::QtttttttQtttttit.tt*tltttttttttt'ifitttitttt't!ttt"ttttfit't.t.

ARAA AR AR AN

*

TEST 101
*

IRRRRRRR KRR

AR AR AR R AR AR R AR R RN AR AR RRRRRRR AR RRAANRRRRNR R AR

ST101: MOV #1071 ,a#TSTNO
MOV #TST102 ,NEXT
MOV RXDBUF ,R3 ;GET THE RECEIVER BUFFER REGISTER
MOV #8117 ,R5 ;GET BIT 7
MOV RS, (R$) JWRITE BIT 7 TO RECEIVER BUFFER REGISTER
MOV (R$) ,R4 sREAD RECEIVER BUFFER REGISTER BACK
CLR RS JSET "EXPECTED"
CMP RS5.R4 ;R5=G00OD ,R4= ?
BEQ 5% ;BIT 7 IS OK
HLT 3 ;BIT FAILED 10 CLR

5%: MOV #BI1T7,RS ;RELOAD THE BIT
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38 016522 010513 MOV RS, (R3) ;WRITE BIT 7 TO THE REG
39039 016524 052777 000400 162660 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
3940 0165 004737 005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
3961 016536 011304 MOV (R3) R4 ‘GET BIT 7
3942 016540 032704 000200 BIT lBIY’.R‘o sTEST BIT 7 FOR RESET CLR
3943 016544 0014601 BEQ 7% :BIT 7 IS OK
3944 016546 104003 HLT 3 ;BIT FAILED TO CLEAR
3945 016550 010513 7%: MOV RS, (R3) ;SET BIT 7
375 016552 005013 CLR (R$) :CLR RECEIVER BUFFER REGISTER
3947 016554 011304 MOV (R3) R4 JREAD THE RECEIVER BUFFER REGISTER
3948 016556 005005 CLR RS JSET "EXPECTED''
379 016560 020504 MP RS R4 ;R5=G00D ,Ré4= ?
3950 016562 001401 BEQ 108 ;BIT 7 IS OK
3951 016564 104003 HLT 3 ;BIT FAILED TO CLEAR
3952 016566 104400 108: SCOPE ;SCOPE THIS TEST

395
3955 JRRRRARRARRAAARSRAR A nennwwn TEST 102 Artaaaadtattndrthdrhdhheahs

3956 ;*RECEIVER BUFFER REGISTER BIT 8 READ ONLY DEVICE RESET AND CLEAR TEST
3957 ;*WRITE BIT 8 A ONE AND VERIFY A ZERO IS READ BACK

I 3958 ;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
3959 R L L T e L

3960
3961 JIRRRRARRRNRAR

3962 - .
3963 ; TEST 102

1 3964 2 *®
3965 JIRRARRARRRRAR

2966 T

3967 016570 012737 000102 001226 TST102: MOV #102,a#TSTNO
3968 016576 012737 016702 001216 MOV #TST103 NEXT
3969 016604 013703 001406 MOV RXDBUF ,R3 ;GET THE RECEIVER BUFFER REGISTER
3970 016610 012705 000400 MOV #BIT8 RS ;GET BIT 8
3971 016614 010513 MoV RS (RS) JWRITE BIT 8 TO RECEIVER BUFFER REGISTER
3972 016616 011304 MOV (Rs) R4 JREAD RECEIVER BUFFER REGISTER BACK
3973 016620 005005 CLR RS JSET "EXPECTED''

| 3974 016622 020504 CMP RS R4 ;R5=G00D ,Ré4= ?
3975 016624 001401 BEQ 5% ;BIT 8 IS OK
3976 016626 104003 HLT 3 ;BIT FAILED TO CLR
3977 016630 012705 000400 5%: MOV #BIT8 RS JRELOAD THE BIT
3978 016634 010513 MOV RS, (RS) :WRITE BIT 8 TO THE REG

1 3979 016636 052777 000400 162546 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
3980 016644 004737 005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
3981 016650 011304 MOV (R3) ,R4 :GET BIT 8
3982 016652 032704 000400 BIT ‘BITé.R/' ;TEST BIT 8 FOR RESET CLR
3983 016656 001401 BEQ 7% ;BIT 8 IS OK
3984 016660 104003 HLT 3 ;BIT FAILED TO CLEAR
3985 016662 010513 7%: MOV RS, (R3) ;JSET BIT 8
3986 016664 005013 CLR (R%) :CLR RECEIVER BUFFER REGISTER
3987 016666 011304 MOV (R3) R4 JREAD THE RECEIVER BUFFER REGISTER
3988 016670 005005 CLR RS JSET "EXPECTED''
3989 016672 020504 CMP RS R4 ;R5=G00D ,R4= ?
3990 016674 001401 BEQ 108 ;BIT 8 IS OK
3991 016676 104003 HLT 3 ;BIT FAILED TO CLEAR
;g% 016700 104400 108: SCOPE ;SCOPE THIS TEST

i
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3994
3995 IRRRARRRRRNRRRA RN RN RR RN TEST 103 Aaataaaatsttt et At atnss

3996 ~RECEIVER BUFFER REGISTER BIT 9 READ ONLY DEVICE RESET AND CLEAR TEST
3997 ;*WRITE BIT 9 A ONE AND VERIFY A ZERO IS READ BACK
3998 :'REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
2999 IR AR R AR R AR R AR R AR AR AR R AR AR RN AR R AR RRAR NN

'A

l.%? JIRRARRRRIAANR
4002 : .
4003 ; TEST 103
4004 : *
4005 R 2122322222225

4006 AR AR AR A AR R AR AR AR RN AR AR A AR AR AR AR AR AR AR AR AR RAARARRRRAA AR AR AR AN

4007 016702 012737 000103 001226 TST103 MOV #103,a#TSTNO
4008 016710 012737 017014 001216 MOV cTST104.NEXT
4009 016716 013703 001406 MOV RXDBUF ,R3 sGET THE RECEIVER BUFFER REGISTER
4010 016722 012705 001000 MOV #MBIT9,RS ;GET BIT 9
4011 016726 010513 MOV RS, (R3) JWRITE BIT 9 TO RECEIVER BUFFER REGISTER
4012 016730 011304 MOV (R3) R4 ;READ RECEIVER BUFFER REGISTER BACK
4013 016732 005005 CLR RS sJSET "EXPECTED''
4014 016734 020504 cMP RS5.R4 ;R5=GO0D ,Ré4= ?
4015 016736 001401 BEQ 5% ;BIT 9 IS 0K
4016 016740 104003 HLT 3 ;BIT FAILED TO CLR
4017 016742 012705 001000 5%: MOV #BIT9 RS JRELOAD THE BIT
4018 016746 010513 MOV RS, (R3) JWRITE BIT 9 TO THE REG
4019 016750 052777 000400 162434 BIS #MRESET @TXCSR ;RESET THE DEVICE
4020 016756 004737 005044 JSR PC, SMALL JWAIT FOR RESET TO FINISH
4021 016762 011304 MOV (R3).R4 ;GET BIT 9
4022 016764 032704 001000 BIT #BIT9 R4 JTEST BIT 9 FOR RESET CLR
4023 016770 001401 BEQ 7% ;BIT 9 IS OK
4024 016772 104003 HLT 3 ;BIT FAILED TO CLEAR
4025 016774 010513 7%: MOV RS, (R3) ;SET BIT 9
4026 016776 005013 CLR (R3) ;CLR RECEIVER BUFFER REGISTER
4027 017000 011304 MOV (R3) ,R4 JREAD THE RECEIVER BUFFER REGISTER
4028 017002 005005 CLR RS ;SET "EXPECTED''
4029 017004 020504 CMP RS R4 ;R5=GO0OD ,R4=?
4030 017006 001407 BEQ 10% ;BIT 9 IS 0K
4031 017010 104003 HLT 3 ;BIT FAILED TO CLEAR

28%% 017012 104400 10%: SCOPE ;SCOPE THIS TEST

4034
4035 JRARRARRAARRAARARAARAR nn TEST 104 AAAXRRRAARRRAAAARARAAARKRAR

4036 ;*RECEIVER BUFFER REGISTER BIT 10 READ ONLY DEVICE RESET AND CLEAR TEST
4037 ;*WRITE BIT 10 A ONE AND VERIFY A ZERO IS READ BACK
4038 ;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
4039 DR R AR AR R AR R AR R R AR AR AR AR AR ANRARRA AR AR RN AR AR AR

4040
4041 JIRRARANKNKRR AK

4042 i o
4043 ; TEST 104
4044 ; -
4045 TIRRRRRRRRARRR
4046 AR AR AR AR AR AR AR AR AR AR AR AR R R R AR AR AR AR AR AR AR AR AR R AR AR AR AR AR R A RN

4047 017014 012737 000104 001226 TST104: MOV #104 ,a#TSTNO
4048 017022 012737 017126 001216 MOV #TST105,NEXT
4049 017030 013703 001406 MOV RXDBUF ,R3 ;GET THE RECEIVER BUFFER REGISTER
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4050 017034
017040
017042
017044
017046
017050
017052
017054
017060
017062
017070
017074
017076
017102
017104
017106
017110
017112
017114
017116
017120
017122
017124

017126

017220

02-MAY-78 08:23

012705
010513
011304

012737
012737
013703
012705
010513

010513

A
02-MAY-78 13:58 PAGE 81 SEQ 0080

RECEIVER BUFFER REGISTER READ ONLY BIT 10 TEST

002000 MOV #8IT10,RS ;GET BIT 10
MOV RS, (R3) JWRITE BIT 10 TO RECEIVER BUFFER REGISTER
MOV (Rj).Rk JREAD RECEIVER BUFFER REGISTER BACK
CLR RS sSET "EXPECTED''
CMP RS.Ré ;R5=G00D ,Ré= ?
BEQ 5% ;BIT 10 IS OK
HLT 3 ;BIT FAILED TO CLR

002000 5%: MOV #IT10,RS JRELOAD THE BIT
MOV RS, (R3) JWRITE BIT 10 TO THE REG

000400 162322 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH

MOV (R3) ,R4 ;GET BIT 10
002000 BIT #BIT10,R4 sTEST BIT 10 FOR RESET CLR

BEQ 7% ;BIT 10 IS OK
HLT 3 ;BIT FAILED TO CLEAR

7%: MOV RS, (R3) ;SET BIT 10

CLR (R3) ;CLR RECEIVER BUFFER REGISTER
MOV (R3) ,R4 ;READ THE RECEIVER BUFFER REGISTER
CLR R5 ;SET "EXPECTED''
CMP R5,R4 ;R5=G00D ,R4= ?
BEQ 108 ;BIT 10 IS OK
HLT 3 ;BIT FAILED TO CLEAR

10%: SCOPE ;SCOPE THIS TEST

JRARKRARKAAARARRRAAR AARAAn TEST 105 Akt A A A AR AAARRAARAAAAAAAR

;*RECEIVER BUFFER REGISTER BIT 12 READ ONLY DEVICE RESET AND CLEAR TEST
;*WRITE BIT 12 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
P IREAARRRA AR AR R AR AR AR AR AR R AR RNAR

JIRKARKRAARKAk

. 5

; TEST 105
. *

E:tttttttttttt
IR AR RRR A AR AR AR AR AR KRR R R RAAR AR AR RAAR AR AR AR AN

000105 001226 TST105: MOV #105,a#TSTNO
017240 001216 MOV #TST106 ,NEXT
001406 MOV RXDBUF ,R3 ;GET THE RECEIVER BUFFER REGISTER
010000 MOV #BIT12,RS ;GET BIT 12

MOV RS, (R3) JWRITE BIT 12 TO RECEIVER BUFFER REGISTER
MOV (R3).R4 JREAD RECEIVER BUFFER REGISTER BACK
CLR RS ;SET "EXPECTED"'
CMP RS .R4 ;R5=GO0D ,R4= ?
BEQ 5% ;BIT 12 IS 0K
HLT 3 ;BIT FAILED TO CLR

010000 5%: MOV #8IT12,RS JRELOAD THE BIT
MOV RS, (R3) JWRITE BIT 12 TO THE REG

000400 162210 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH

MOV (R3) ,R4 ;GET BIT 12
010000 BIT #BIT12,.R4 JTEST BIT 12 FOR RESET CLR

BEQ 7% ;BIT 12 IS OK
HLT 3 ;BIT FAILED TO CLEAR

7%: MOV RS, (R3) JSET BIT 12
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4150
4151

4157
4158
4159
4160
4161

017222
017224
017226
017230
017232
017234
017236

017240
017246
017254
017260
017264
017266
017270
017272
017274
017276
017300
017304
017306
017314
017320
017322
017326
017330
017332
017334
017336
017340
017342
017344
017346
017350
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005013
011304
005005
020504
001401
104003
104400

012737
012737
013703
012705
010513
011304
005005
020504
001401
104003
012705
010513
052777
004737
011304
032704
001401
104003
010513
005013
011304
005005
020504

000106 001226
017352 001216
001406
040000

040000

000400
005044

040000

162076

RE

CLR (R3) ;CLR RECEIVER BUFFER REGISTER
MOV (R3) R4 JREAD THE RECEIVER BUFFER REGISTER
CLR RS SET "EXPECTED''
CMP RS R4 ;R5=GO0D ,R4= ?
BEQ 108 ;BIT 12 IS OK
HLT 3 ;BIT FAILED TO CLEAR

108: SCOPE ;SCOPE THIS TEST

JRRRRRARRARRNRARA AR RA AN AR TEST 106 *xtaxannahnrthhhhtthrthtttas

;*RECEIVER BUFFER REGISTER BIT 14 READ ONLY DEVICE RESET AND CLEAR TEST
;*WRITE BIT 14 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
IR AR AR AR R AR R AR AR AR AR AR AR AR AR AR AR AR RA R AR R AR RN,

JIRRRRRRRRRRRR

. *

; TEST 106
. %

E;ttntttttt'tt
IR AR AR AR AR AR R AR AR AR R R AR AR KRR RRRARRRRAAR R AR AR AR AR AR RN

TST106: MOV #106,a#TSTNO

MOV #TST107 ,NEXT
MOV RXDBUF ,R3 ;GET THE RECEIVER BUFFER REGISTER
MOV #MBIT14 RS ;GET BIT 14
MOV RS, (R3) JWRITE BIT 14 TO RECEIVER BUFFER REGISTER
MOV (R3) R4 sREAD RECEIVER BUFFER REGISTER BACK
CLR RS JSET "EXPECTED''
CMP RS R4 ;R5=GO0D ,R4= ?
BEQ 5% ;BIT 14 IS OK
HLT 3 ;BIT FAILED TO CLR

5%: MOV #BIT14 ,RS JRELOAD THE BIT
MOV RS, (R3) JWRITE BIT 14 TO THE REG
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL JWAIT FOR RESET TO FINISH
MOV (R3) ,R4 ;GET BIT 14
BIT #MIT14,R4 ;TEST BIT 14 FOR RESET CLR
BEQ 4 3 ;BIT 14 IS OK
HLT 3 ;BIT FAILED TO CLEAR

7%: MOV RS, (R3) ;SET BIT 14

CLR (R$) :CLR RECEIVER BUFFER REGISTER
MOV (R3) R4 ;READ THE RECEIVER BUFFER REGISTER
CLR RS sSET "EXPECTED''
CMP RS5.R4 ;R5=GOOD ,Ré4= ?
BEQ 108 ;BIT 14 IS 0K
HLT 3 ;BIT FAILED TO CLEAR

10%: SCOPE ;SCOPE THIS TEST

..

P

0D 7

CEIVER BUFFER REGISTER READ ONLY BIT 12 TEST
13:58 PAGE 82

Jannnnnnnnnnnnnnrrrnnwwwwwt TEST 107 wnnnnnnnnnrnnnrntentrtttrvnnn

;*RECEIVER BUFFER REGISTER BIT 15 READ ONLY DEVICE RESET AND CLEAR TEST
J*WRITE BIT 15 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::tttt'ttttttttt'ttitt.ttfit!ttQttt!tttttt!tttti'tttt't't.'tfitttt

LARS2SRRSR2]

SEQ 0081
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4162
4163 ; TEST 107
4164 : .
4165 JIRRRRRNRRA NN

4166 IR AR AR AR AR R AR R R R AR R R AR AR AR R RN RN AR AR R AR R R R RRRRRA AR AN

4167 017352 012737 000107 001226 TST107: MOV #107 ,a#TSTNO
4168 017360 012737 017464 001216 MOV #TST110,NEXT
4169 017366 013703 001406 MOV RXDBUF ,R3 ;GET THE RECEIVER BUFFER REGISTER
4170 917372 012705 100000 MoV #BIT15,R5 ;GET BIT 15
4171 017376 010513 MOV RS, (R3) SWRITE BIT 15 TO RECEIVER BUFFER REGISTER
4172 017400 011304 MOV (R$) R4 ;READ RECEIVER BUFFER REGISTER BACK
4173 017402 005005 CLR R5 ;SET "EXPECTED"’
4174 017404 020504 (MP R5,R4 ;R5=G00D ,R4= ?
4175 017406 001401 BEQ 5% ;BIT 15 IS OK
4176 017410 104003 HLT 3 ;BIT FAILED TO CLR
4177 017412 012705 100000 5%: MOV #BIT15,R5 ;RELOAD THE BIT
4178 017416 010513 MOV R5, (R3) ;WRITE BIT 15 TO THE REG
4179 0176420 052777 000400 161764 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
4180 017426 004737 005044 JSR PC,SMALL ;WAIT FOR RESET TO FINISH
4181 017432 011304 MOV (R3) ,R4 ;GET BIT 15
4182 017434 032704 100000 8BIT #BIT15 R4 sTEST BIT 15 FOR RESET CLR
4183 017440 001401 BEQ 4] ;BIT 15 IS OK
4184 017442 104003 HLT 3 ;BIT FAILED TO CLEAR
4185 017444 010513 7$: Mov RS, (R3) ;SET BIT 15
4186 017446 005013 CLR (R$) ;CLR RECEIVER BUFFER REGISTER
4187 017450 011304 MOV (R3) ,R4 ;READ THE RECEIVER BUFFER REGISTER
4188 017452 005005 CLR RS ;SET "EXPECTED"'
4189 017454 020504 cMP R5 R4 :R5=GO0OD ,Ré4= ?
4190 017456 001401 BEQ 10% ;BIT 15 IS OK
4191 017460 104003 HLT 3 ;BIT FAILED TO CLEAR

2}3% 017462 104400 108: SCOPE :SCOPE THIS TEST

4194 IRRRRRRRRRAAANRARARARRRRRRE TEST 170 Srnaa e ekt A a v e ek A ARk kRN R

4195 :*THIS TEST VERIFIES BIT? OF THE TRANSMITTER CONTROL REGISTER
4196 :«TEST THAT BIT 7 SETS AFTER A RESET AND MRESET
4197 :*VERIFY THAT WRITING THE LOW BYTE OF
4198 :*THE TRANSMITTER BUFFER REGISTER CLEARS BIT 7
4199 IR AR A AR AR AR AR KRR RN AR RRRRRRRRARRR AR AR R RN RN

4200
4201 JIRRRRRRRRARAN

4202 : ;
4203 ; TEST 110
4204 : '
4205 JIRARRRARARNRAR

4206 IR RR AR R AR AR RARARR AR RRRRRRRRR AR R R AR

4207 017464 012737 000110 001226 TST110: MOV #110,a#TSTNO
4208 017472 012737 017572 001216 MOV #TST111 NEXT
4209 017500 013702 001414 MOV TXDBUF ,R2 ;LOAD SECOND REG
4210 017504 013703 001412 MOV TXCSR,R3 ;GET THE TRANSMITTER CONTROL REGISTER
4211 017510 012705 000200 MoV #8117 ,R5 ;SET "EXPECTED"’
4212 017514 000005 RESET
4213 017516 011304 MoV (R3) R4 ;GET THE BIT
4214 017520 020504 c(MP R5.R4 :R5=G0OOD ,R4=?
4215 017522 001401 BEQ 1% ;ARE THEY THE SAME?
4216 017524 104003 HLT 3 sNO--REPORT THE ERROR

4217 017526 005005 1$: CLR RS sSET "EXPECTED"'
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(218
6219
4220
£221
6222
4223
6224
4225
4226
4227
4228
4229
4230
4231
4232
433
623
4235
4236
4237
4238
4239

4240
6241

4242
6243
4244
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017530
017532
017534
017536
017540
017542
017546
017554
017560
017562
017564
017566
017570

017572
017600
017606
017612
017616
017620
017622
017624
017630
017632
017634
017636
017642
017644
017652
017656
017660
017664
017666
017670
017672
017674
017676
017700
017704
017706
017710
017712

012737
012737
013703

02-MAY~78

000200
000400 161636
005044

000111 001226
017714 001216
001412
001000

000200

001000

000400
005044

001000

161540

000200

13:58 PAGE 84
F 7

SEQ 0083
TRANSMITTER CONTROL REGISTER READ ONLY TEST BIT 7

2%:

3%:

(R2)
(R3) R4
R5,.R4

2%
3
#BIT7.RS
#MRESET,aTXCSR

PC,SMALL

(R3) R4
RS,R4

38
3

JWRITE THE LOW BYTE OF THE TXDBUF

;READ BACK BIT 7
;R5=GO0D ,R4="?

JARE THEY THE SAME?
JNO-BIT 7 FAILED TO CLEAR
JSET "EXPECTED''
JRESET THE DEVICE

JWAIT FOR RESET TO FINISH
;READ BACK BIT 7
;R5=GO0OD ,R4=?

JBRANCH IF BIT 7 0K
JBIT 7 FAILED TO SET AFTER A MRESET
;SCOPE THIS TEST

JRRRRRnRRnRnkRnnnrrnennnnnnn [EST 177 setannnnntnnaannnnentennrnn

s*TRANSMITTER CONTROL REGISTER BIT 9 READ ONLY DEVICE RESET AND CLEAR TEST

;*WRITE BIT 9 A ONE AND VERIFY A ZERO IS READ BACK
:*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
IR A AR AR AR AR AR AR AR AR R AR AR AR AN AR AR AR AR AR AR TR RN

:;t'.tttttt.tt

SOTEST 1M
L

3

JINRRRNRAARNRAR

IR AR AR AR AR AR AN AR R AR AR AR RN AR AR RN AR R AR R AR AR AR AR AR AR A RRR AR AR R AR

TST111: Mov

5%:

7%:

108:

MOV
MOV

MOV

MOV

MOV
CLR

BIC
CMP

BEQ

HLT

MOV

MOV

BIS
JSR

MOV

BIT
BEQ
HLT

MOV

CLR
MOV

CLR

BIC
CMP

BEQ
HLT

SCOPE

#111,4TSTNO
#TST112 NEXT

TXCSR,R3
#BIT9.RS
RS, (R3)
(R3) R4
RS

#B1T7.R4
RS ,R4

5%
3
#BIT9 RS
RS, (R3)
#MRESET,aTXCSR

PC, SMALL
(R%) R4
#B1T9,R4
7%

“
RS, (R3)
(R3)
(R3) R4
RS
#BIT7.R4
RS ,R4
108
3

:gg} ;?$ ;RANSHITTER CONTROL REGISTER

JWRITE BIT 9 TO TRANSMITTER CONTROL REGISTER
sREAD TRANSMITTER CONTROL REGISTER BACK

sSET "EXPECTED''
:CLEAR UNWANTED BITS
;R5=G00D ,Ré4= ?
;BIT 9 IS OK
;BIT FAILED TO CLR
sRELOAD THE BIT
;WRITE BIT 9 TO THE REG
sRESET THE DEVICE

;WAIT FOR RESET TO FINISH
;GET BIT 9
;TEST BIT 9 FOR RESET CLR
;BIT 9 IS OK
;BIT FAILED TO CLEAR
;SET BIT 9
;CLR TRANSMITTER CONTROL REGISTER
JREAD THE TRANSMITTER CONTROL REGISTER
sSET "EXPECTED''
;CLEAR UNWANTED BITS
;R5=G00D ,R4= ?
;BIT 9 IS OK
;BIT FAILED TO CLEAR
;SCOPE THIS TEST
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K274

4275
6276
6277
4278
4279
4280
4281

4282
4283
4284
4285
4286
4287
4288
4289
4290
4291
4292

4329

017714
017722
017730
017734
017740
017742
017744
017746
017752
017754
017756
017760
017764
017766
017774
020000
020002
020006
020010
020012
020014
020016
020020

012737
012737
013703
012705
010513
011304

02-MAY-78

000112 001226
020036 001216
001412
040000

000200

040000

000400
005044

040000

161416

000200

13:58 PAGE 85
G 7

TRANSMITTER CONTROL REGISTER READ ONLY TEST BIT 9

Jannnnnnnnnnnnnneennnnnntnt TEST 172 avnnnnnnnnnnnnnevnntovannen

s*TRANSMITTER CONTROL REGISTER BIT 14 READ ONLY DEVICE RESET AND CLEAR TEST

s*WRITE BIT 14 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::.t...t..Q..t.""'..'.'."'.t"..."...."...'."'Qt'."..'Qt'

iR R ARk

*

* TEST 112
. B

;:."..Q.'tttt
::Q..tt't.t'l'fitQQ..l.t"tt"tfi.tfi'ttfit.'tt!...'.tl'.."..t'...'.t'.'.

TST112: MOV #112,34TSTNO
MOV #TSTI13,NEXT
MOV TXCSR.R3 :GET THE TRANSMITTER CONTROL REGISTER
MOV #IT14 RS SGET BIT 14
MOY RS, (R3) SWRITE BIT 14 TO TRANSMITTER CONTROL REGISTER
MOV (R3) R4 *READ TRANSMITTER CONTROL REGISTER BACK
CLR RS *SET "EXPECTED'’
BIC #B1T7.R4 SCLEAR UNWANTED BITS
P RS R4 *R5=GOOD ,R4= ?
BEQ 5 SBIT 14 IS OK
HLT 3 *BIT FAILED TO CLR

5% : MOV #IT14 RS *RELOAD THE BIT
MOV RS, (R3) *WRITE BIT 14 TO THE REG
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC, SMALL :WAIT FOR RESET TO FINISH
MOV (R3) R4 SGET BIT 14
BIT #B1T14,R4 “TEST BIT 14 FOR RESET CLR
BEQ 7% BIT 14 IS 0K
HLT 3 *BIT FAILED TO CLEAR

7%: MOV RS, (R3) SSET BIT 14

CLR (R3) *CLR TRANSMITTER CONTROL REGISTER
MOV (R3) R4 “READ THE TRANSMITTER CONTROL REGISTER
CLR RS *SET "EXPECTED''
BIC #B1T7.R4 “CLEAR UNWANTED BITS
CMP RS R4 *R5=GO0OD ,R4= ?
BEQ 108 BIT 14 IS OK
HLT 3 :BIT FAILED TO CLEAR

108: SCOPE *SCOPE THIS TEST

JRRARARRRRRAARRRR ARk nnnnwn TEST 113 snxwnnnnnnnnnnnnernnnnnennnns

s*TRANSMITTER CONTROL REGISTER BIT 15 READ ONLY DEVICE RESET AND CLEAR TEST

s*WRITE BIT 15 A ONE AND VERIFY A ZERO IS READ BACK
s *REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
;:Qtt'tt.ttt'tt'tt'ttti'Q't.'t.tfi'...tt.t.tfitttttt""t'ttttii.t

kAAR A AR AR

*

TEST 113
*

AREE RSS2

IRAE A AR A AR AR A RARAR AT AAR TR R AR AR AR RARRRAR TR RAAARAA AR R AR AR AR R R

SEQ 0084
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4330
4331
4332
4333
4334
4335
4336
4337
4338
4339
4340
4341
4342
4343
4364
4345
4346
4347
4348
4349
4350
4351
4352
4353
4354
4355
4356
4357
4358
4359
4360
4361
4362
4363
4364
4365
4366
4367
4368
4369
4370
4371
4372
4373
4374
4375
4376
4377
4378
4379
4380
4381
4382
4383
4384
4385

020110
020116
020122
020124
020130
020132
020134
020136
020140
020142
020144
020150
020152
020154
020156

02-MAY-78
02-MAY-78 08:23

012737
012737
013703
012705
010513
011304

000113 001226
020160 001216
001412
100000

000200

100000

000400
005044

100000

161274

000200

000114
020272
001414
010000

001226
001216

010000

000400
005044

161156

13:58 PAGE 86
TRANSMITTER

TST113: MoV

5%:

7%:

CMP
BEQ

HLT
108: SCOPE

H 7

#113,34TSTNO
#TSTi14 NEXT
TXCSR,R3
#BIT15,RS
RS, (R3)
(R3) ,R4
RS

#BIT7 R4
RS,R4
5%
3
#BIT15,RS5
R5, (R3)
#MRESET ,@TXCSR

PC,SMALL

(R3) ,R4
#BIT15,R4
7%
3
RS, (R3)
(R3)
(R3) R4
RS
#BI1T7 R4
RS ,R4

108
£
-

SEQ 0085
CONTROL REGISTER READ ONLY TEST BIT 15

:gg; é?g }?ANSHITTER CONTROL REGISTER

JWRITE BIT 15 TO TRANSMITTER CONTROL REGISTER
JREAD TRANSMITTER CONTROL REGISTER BACK

;SET "EXPECTED''
;CLEAR UNWANTED BITS
;R5=GO0D ,R4= ?

;BIT 15 IS OK
;BIT FAILED TO CLR
:RELOAD THE BIT
JWRITE BIT 15 TO THE REG
JRESET THE DEVICE
JWAIT FOR RESET TO FINISH

;GET BIT 15
:TEST BIT 15 FOR RESET CLR
;BIT 15 IS 0K
;BIT FAILED TO CLEAR
;SET BIT 15
;CLR TRANSMITTER CONTROL REGISTER
;READ THE TRANSMITTER CONTROL REGISTER

JSET "EXPECTED''
;CLEAR UNWANTED BITS
;R5=GO0D ,R4= ?

;BIT 15 IS OK
;BIT FAILED TO CLEAR
:SCOPE THIS TEST

IRERARRRRAKRRNRRRANRRRRRRNAR TEST 774 Aaaa ke aaa ke ek Ak ek kAR AR ®

s*TRANSMITTER BUFFER REGISTER BIT 12 READ ONLY DEVICE RESET AND CLEAR TEST

s*WRITE BIT 12 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::.t'itit..*tt!t"tttifilQil.tfi't'tt.t.ttttt'..tttt'tfitQttt"'ttt

CIRRRRRRRRRAR

.

; TEST 114
*

IRRRRRRAR R AR

L2222 e33RtttRR Rl 2]

TST114: MOV

MOV
MOV

MOV
MOV

MOV

CLR
CMP

BEQ
HLT

MOV

MOV

BIS
JSR

5%:

#114 ,a#TSTNO
#TST115 NEXT
TXDBUF ,R3
#BIT12,R5
RS, (R3)
(R3) ,R4
RS
RS,.R4
5%
3
#BIT12,RS
RS, (R3)
#MRESET ,@TXCSR

PC,SMALL

:gg} é?g {gANSMITTER BUFFER REGISTER

JWRITE BIT 12 TO TRANSMITTER BUFFER REGISTER
sREAD TRANSMITTER BUFFER REGISTER BACK

;SET "EXPECTED"’
;R5=G00D ,R4= ?

;BIT 12 IS OK
;BIT FAILED
sRELOAD THE
JWRITE BIT 1
JRESET THE D
JWAIT FOR RE

CLR
i
TO THE REG

%CE

8
2
E
SET TO FINISH

T

I

Vv

E



CZDPBC MACY11 30A(1052)
02-MAY-78 08:c3CZDPBC.P11

4386
4387
4388
4389
4390
439N
4392
4393
4394
4395
4396
4397
4398
4399

020240
020242
020246

020272
020300

011304

012737
012737
013703
012705
010513
011304
005005
020504

02-MAY-78

010000

000115 001226
020404 001216
001414
020000

020000

000400
005044

020000

161044

W
13:58 PAGE 87 SEQ 0086

TRANSMITTER BUFFER REGISTER READ ONLY TEST BIT 12

MOV (R3) ,Ré4 ;GET BIT 12
BIT #BIT12.R4 STEST BIT 12 FOR RESET CLR
BEQ 7% SBIT 12 1S OK
HLT 2 :BIT FAILED TO CLEAR

7%: MOV RS, (R3) SSET BIT 12
CLR (R3) *CLR TRANSMITTER BUFFER REGISTER
MOV (R3) R4 “READ THE TRANSMITTER BUFFER REGISTER
CLR RS “SET "EXPECTED"’
CMP RS R4 *R5=G00D ,R4= ?
BEQ 108 SBIT 12 IS OK
HLT 3 *BIT FAILED TO CLEAR

108: SCOPE “SCOPE THIS TEST

IRRRRRRARRARk rnnnnnnwnnt TEST 1715 wnnnnnnnnnnnannnnannnnnnnnn

;*TRANSMITTER BUFFER REGISTER BIT 13 READ ONLY DEVICE RESET AND CLEAR TEST

;*WRITE BIT 13 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::fi..tt.'fitttt..'ttt.."fi.fi..tt.t.'.tt'tt't'ittfi..i'.t"'t.tfl.tt

thRR Ak

*

; TEST 115
$ *

;AR AR AR AN
» "t'tt'.ti"flQtfittt.Q"""QtQt.fit.Q.t.ttttttt'.'.fi.'.itttfittl"'t'.

TST115: #115,a#TSTNO
HOV #TST116 ,NEXT
MOV TXDBUF ,R3 ;sGET THE TRANSMITTER BUFFER REGISTER
MOV #BI1T13,RS ;GET BIT 13
MOV RS, (R3) WRITE BIT 13 TO TRANSMITTER BUFFER REGISTER
MOV (R3) .R4 ;READ TRANSMITTER BUFFER REGISTER BACK
(LR RS sSET "EXPECTED"'
cMP R5.R4 ;R5=GO0D ,Ré4= ?
BEQ 5% ;BIT 13 IS OK
HLT 3 ;BIT FAILED TO CLR

58: MOV #BI1T13,RS ;RELOAD THE BIT
MOV RS, (R3) JWRITE BIT 13 TO THE REG
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL ;WAIT FOR RESET TO FINISH
MOV (R3) ,R4 ;GET BIT 13
BIT #B1T13,R4 sTEST BIT 13 FOR RESET CLR
BEQ 7% ;BIT 13 IS OK
HLT 3 ;BIT FAILED TO CLEAR

7%: MOV RS, (R3) ;SET BIT 13

CLR (R3) ;CLR TRANSMITTER BUFFER REGISTER
MOV (R3) R4 JREAD THE TRANSMITTER BUFFER REGISTER
CLR RS sSET "EXPECTED''
(MP RS ,R4 ;R5=GO0D ,R4= ?
BEQ 10% ;BIT 13 IS OK
HLT 3 ;BIT FAILED TO CLEAR

108: SCOPE ;SCOPE THIS TEST

JRRERRRARRRnhnnknnnnnnnnnnt TEST 176 wrnnnnnnnnnnnnennnnnrnstnnnn

:*TRANSMITTER BUFFER REGISTER BIT 14 READ ONLY DEVICE RESET AND CLEAR TEST
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4442
4443
444k

4445
4646
4447
4448
4449

4450
4451
4452
4453
4454
4455
4456
457
4458
4459
4460

4491
4492
4493
4494
4495

4497

020506
020510
020512
020514

020516
020524
020532
020536
020542
020544

02-MAY-78
02-MAY-78 08:c3

012737
012737
013703
012705
010513
011304

012737
012737
013703
012705
010513
011304

000116
020516
001414
040000

040000

000400
005044

040000

001226
001216

160732

001226
001216

J 7
13:58 PAGE 88 SEQ 0087

TRANSMITTER BUFFER REGISTER READ ONLY TEST BIT 14

s*WRITE BIT 14 A ONE AND VERIFY A ZERO IS READ BACK
s *REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
::.Q'..'.Q...Q."".'.......Qt.'..t.'...'....'.'..'.t.."..l.i..

IINRRRRRRRRRAN

. .

; TEST 116
L ]

;:tt.tt.t!tttt
Pe T

TST116: MOV #116,a#TSTNO

MOV #TST117 ,NEXT
MOV TXDBUF ,R3 :GET THE TRANSMITTER BUFFER REGISTER
MOV #B1T14.R5 SGET BIT 14
MOV RS, (R3) “WRITE BIT 14 TO TRANSMITTER BUFFER REGISTER
MOV (R3) ,R4 *READ TRANSMITTER BUFFER REGISTER BACK
CLR RS *SET "EXPECTED"’
cMP RS R4 *R5=G0OOD ,R4= ?
BEQ 5% BIT 14 IS OK
HLT 3 :BIT FAILED TO CLR

5%: MOV #BIT14,RS *RELOAD THE BIT
MOV RS, (R3) “WRITE BIT 14 TO THE REG
BIS MMRESET ,@TXCSR :RESET THE DEVICE
JSR PC,SMALL *WAIT FOR RESET TO FINISH
MOV (R3) ,Ré4 SGET BIT 14
BIT #B1T14,R4 “TEST BIT 14 FOR RESET CLR
BEQ 7% “BIT 14 IS OK
HLT 3 *BIT FAILED TO CLEAR

7%: MOV RS, (R3) *SET BIT 14

CLR (R3) *CLR TRANSMITTER BUFFER REGISTER
MOV (R3) ,Ré4 *READ THE TRANSMITTER BUFFER REGISTER
CLR RS *SET "EXPECTED''
CMP RS ,R4 *RS=GOOD ,R4= ?
BEQ 108 *BIT 14 IS OK
HLT 5 *BIT FAILED TO CLEAR

108: SCOPE “SCOPE THIS TEST

IRRRRRARRRNARRARCREAAANRRAR TEST 177 At a kA a kR kAR AR R AR ®

;*TRANSMITTER BUFFER REGISTER BIT 15 READ ONLY DEVICE RESET AND CLEAR TEST
s*WRITE BIT 15 A ONE AND VERIFY A ZERO IS READ BACK
;*REPEAT FOR DEVICE RESET AND CLR INSTRUCTIONS.
;:itlttt*fififittttttttttfitfi*t*ttfifitttfii'fitttttttittttittttttttt."

BRI 22222222

*

*

I TTTTITTLL

R R AR AR AR AR AR AR AR R AR AR AR AR R R AR AR AR AR AR AR AR AR A AR AR R AR AR AR AR AR A kx

ST117: MOV #117 ,a#TSTNO
MOV #TST120 NEXT

—
q
t
e
 S
a
N
a
N
L
a
N

MOV TXDBUF ,R3 ;GET THE TRANSMITTER BUFFER REGISTER
MOV #BIT15,R5 JGET BIT 15
MOV RS, (R3) JWRITE BIT 15 TO TRANSMITTER BUFFER REGISTER
MOV (R$) ,R4 JREAD TRANSMITTER BUFFER REGISTER BACK
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4498
4499

020704
020710
020712
020720

012737
012737
013703
012705
011305
010504

02-MAY-78 08:23

100000

000400 160620
005044

100000

K 7
02-MAY-78 13:58 PAGE 89 SEQ 0088

TRANSMITTER BUFFER REGISTER READ ONLY TEST BIT 15

CLR RS ;SET "EXPECTED"’
(MP RS R4 *R5=GO0D ,R4= ?
BEQ 58 :BIT 15 IS OK
HLT 3 :BIT FAILED TO CLR

5%: MOV #BIT15.RS *RELOAD THE BIT
MOV RS, (R3) “WRITE BIT 15 TO THE REG
BIS MMRESET ,@TXCSR :RESET THE DEVICE
JSR PC, SMALL *WAIT FOR RESET TO FINISH
MOV (R3) ,R4 :GET BIT 15
BIT #BITI5.R4 “TEST BIT 15 FOR RESET CLR
BEQ 7% *BIT 15 IS OK
HLT 3 *BIT FAILED TO CLEAR

7%: MOV RS, (R3) *SET BIT 15
CLR (R3) “CLR TRANSMITTER BUFFER REGISTER
MOV (R3) R4 “READ THE TRANSMITTER BUFFER REGISTER
CLR RS *SET "EXPECTED'’
WP RS ,R4 *R5=GO0D ,Ré4= ?
BEQ 108 *BIT 15 IS OK
HLT 3 *BIT FAILED TO CLEAR

108: SCOPE “SCOPE THIS TEST

000120 001226
020756 001216
001410
001000

001000

001000

000400 160472
005044

IRRRRRRRRRRARRREAARRRARRAAN TEST 120 Annad sttt aa ek e kA A ek h A ARk RS

;*PARAMETER STATUS REGISTER BIT 9 WRITE ONLY DEVICE RESET AND CLEAR TEST
;*TEST THAT BIT 9 CANNOT BE WRITTEN AND READ

;*BACK THE SAME. READ BIT 9,COMPLEMENT IT AND WRITE IT
;*VERIFYING THAT IT DID NOT CHANGE. WRITE BIT 9,
;*DO A DEVICE RESET AND VERIFY THE BIT WAS CLEARED.
;*REPEAT FOR A CLR INSTRUCTION.
3 i3 2232332232222 Rttt ld)

IREARAARARRRR

*

TEST 120
5

IRRRRRRRARAR

AR AR AR AR AR AR AR I AR AR AR R RRRRRRRRR AR RRRRRRARRRRRRRRRRRRAAR AR

ST120: MOV #120,a#TSTNO
MOV #TST121 NEXT

-
t
 
N
 
N
.
 
N
,
 
N
N
,

MOV PARCSR,R3 :GET THE PARAMETER STATUS REGISTER
MOV #BIT9,RS SGET BIT 9
MOV (R3) ,RS *READ THE REGISTER
MOV RS R4 *SAVE THE BIT
BIT #BIT9,RG *CHECK BIT 9
BEQ 1% ‘BIT 9 IS OK
HLT 3 *BIT FAILED TO CLEAR

18: COM R4 *REVERSE THE BIT

MGV R4, (R3) *WRITE THE BIT TO THE REG
MOV (R3) ,R4 *READ IT BACK
CMP RS R *R5=GOOD, Ré4= ?
BEQ 33 ‘BR IF OK
HLT 3 :COMPARE ERROR

38: MOV #BIT9,RS “LOAD THE BIT
MOV RS, (R3) “WRITE THE BIT TO THE REG
BIS #MRESET ,@TXCSR -RESET THE DEVICE
JSR PC,SMALL *WAIT FOR RESET TO FINISH
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cZoPBC.P11 02-MAY-78 08:23 PARAMETER STATUS REGISTER WRITE ONLY TEST BIT 9

4554 020724 011304 MOV (R3) ,R4 ;GET BIT 9
4555 020726 032704 001000 BIT #B1T9,R4 :TEST BIT 9 FOR O AFTER RESET
4556 020732 001401 BEQ 49 ;BIT 9 IS OK
4557 0207 104003 HLT ;BIT IS NOT AOQ
4558 020736 010513 4%: MOV RS, (R3) JWRITE THE BIT TO THE REG
4559 020740 005013 CLR (Rs) sCLR THE PARAMETER STATUS REGISTER
4560 020742 011304 MOV (R3) R4 ;GET THE PARAMETER STATUS REGISTER
4561 020744 005005 CLR RS sSET "EXPECTED''
4562 020746 020504 CMP R5,R4 ;R5=G0O0D ,R4= ?
4563 020750 001401 BEQ 108 ;BIT 9 IS 0K
4564 020752 104003 ; HLT 3 ;BIT FAILED TO CLEAR
4565 020754 104400 10%: SCOPE ;SCOPE THIS TEST

(367
4568 IRRRRRRRRRARRRRrrRnnnnwnttt TEST 127 wnnnnnnnnntnvtttaantnnnnens

4569 :*PARAMETER STATUS REGISTER BIT 12 WRITE ONLY DEVICE RESET AND CLEAR TEST
4570 ;«TEST THAT BIT 12 CANNOT BE WRITTEN AND READ
4571 ;*BACK THE SAME. READ BIT 12,COMPLEMENT IT AND WRITE IT
4572 ;*VERIFYING THAT IT DID NOT CHANGE. WRITE BIT 12,
4573 ;DO A DEVICE RESET AND VERIFY THE BIT WAS CLEARED.
4574 ;*REPEAT FOR A CLR INSTRUCTION.
4575 AR A R AR AR AR AR AR AR R RRRRRRRRR AR RN RS

4576
4577 JIRRRRANRRARAR

4578 3 *
4579 ; TEST 121
4580 . -
4581 IIRERARRRRARRR
4582 RN R AR AR AN AR AR AR AR RR RN AR AR AR RRRARRRRRRRRRRRRRRRRRRRER R

4583 020756 012737 000121 001226 TST121: MOV #121,a#TSTNO
4584 020764 012737 021104 001216 MOV #TST122 NEXT
4585 020772 013703 001410 MOV PARCSR,R3 ;GET THE PARAMETER STATUS REGISTER
4586 020776 012705 010000 MOV #MBIT12 ,R5 ;GET BIT 12
4587 021002 011305 MOV (R3) RS JREAD THE REGISTER
4588 021004 010504 MOV R5.R4 ;SAVE THE BIT
4589 021006 032704 010000 BIT #B1T12,R4 ;CHECK BIT 12
4590 021012 001401 BEQ 1% ;BIT 12 IS OK
4591 021014 104003 HLT 3 ;BIT FAILED TO CLEAR
4592 021016 005104 1%: coMm R4 JREVERSE THE BIT
4593 021020 010413 MOV R4, (R3) JWRITE THE BIT TO THE REG
459 021022 011304 MOV (R$) ,R4 :READ IT BACK
4595 021024 020504 CMP R5,R4 ;R5=G00D, Ré4= ?
4596 021026 001401 BEQ 3s :BR IF OK
4597 021030 104003 HLT 3 ; COMPARE ERROR
4598 021032 012705 010000 3%: MOV #BIT12,RS ;LOAD THE BIT
4599 021036 010513 MOV RS, (R3) JWRITE THE BIT TO THE REG
4600 021040 052777 000400 160344 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
4601 021046 004737 005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
4602 021052 011304 MOV (R$) R4 :GET BIT 12
4603 021054 032704 010000 BIT #MIT12,R4 JTEST BIT 12 FOR O AFTER RESET
4604 021060 001401 BEQ 43 ;BIT 12 IS OK
4605 021062 104003 HLT 3 ;BIT IS NOT A O
4606 021064 010513 4%: MOV RS, (R3) JWRITE THE BIT TO THE REG
4607 021066 005013 CLR (R%) ;CLR THE PARAMETER STATUS REGISTER
4608 021070 011304 MOV (R3) ,R4 ;GET THE PARAMETER STATUS REGISTER
4609 021072 005005 CLR RS JSET "EXPECTED''
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CZDPBC.P11 02-MAY-78 08:23 PARAMETER STATUS REGISTER WRITE ONLY TEST BIT 12

I 4610 021074 020504 CMP RS R4 ;R5=GO0D ,Ré4= ?
4611 021076 001401 BEQ 108 ;BIT 12 1S OK
4612 021100 104003 HLT 3 ;BIT FAILED TO CLEAR
4613 021102 104400 108: SCOPE ;SCOPE THIS TEST

13
4616 JRRARRARRRAANARR RN RN A AR TEST 122 12332232323 2323222323223222322 227

4617 :*PARAMETER STATUS REGISTER BIT 15 WRITE ONLY DEVICE RESET AND CLEAR TEST
4618 :=TEST THAT BIT 15 CANNOT BE WRITTEN AND READ
4619 ;*BACK THE SAME. READ BIT 15,COMPLEMENT IT AND WRITE IT
4620 :*VERIFYING THAT IT DID NOT CHANGE. WRITE BIT 15,
4621 ;*DO A DEVICE RESET AND VERIFY THE BIT WAS CLEARED.
4622 ;*REPEAT FOR A CLR INSTRUCTION.
4623 Ly

’A

22225 ’ JINRRRRRRRRRAR
4626 : .
4627 ; TEST 122
4628 : °

4629 IIRRRRRRARRNRR
4630 L LT

4631 021104 012737 000122 001226 TST122: MOV #122,a4#TSTNO
4632 021112 012737 021232 001216 MOV #TST123 NEXT
4633 021120 013703 001410 MOV PARCSR,R3 JGET THE PARAMETER STATUS REGISTER
4634 021124 012705 100000 MOV #MIT15,RS ;GET BIT 15
4635 021130 011305 MOV (R3) ,RS :READ THE REGISTER
4636 021132 010504 MOV RS ,R4 ;SAVE THE BIT
4637 021134 032704 100000 BIT #MIT15 R4 ;CHECK BIT 15
4638 021140 001401 BEQ 1% :BIT 15 IS OK
4639 021142 104003 HLT 3 ;BIT FAILED TO CLEAR
4640 021144 005104 1%: COM R4 ;REVERSE THE BIT
4641 021146 010413 MOV R4, (R3) JWRITE THE BIT TO THE REG
4642 021150 011304 MOV (R3) ,Ré4 :READ IT BACK
4643 021152 020504 CMP RS ,R4 ;R5=GOOD, Ré4= ?
4644 021154 001401 BEQ 3% ;BR IF 0K
4645 021156 104003 HLT 3 ; COMPARE ERROR
4646 021160 012705 100000 3%: MOV #MIT15,RS ;LOAD THE BIT
4647 021164 010513 MOV RS, (R3) JWRITE THE BIT TO THE REG
4648 021166 052777 000400 160216 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
4649 021174 004737 005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
4650 021200 011304 MOV (R3) ,R4 :GET BIT 15
4651 021202 032704 100000 BIT #IT15,R4 sTEST BIT 15 FOR O AFTER RESET
4652 021206 001401 BEQ 4% :BIT 15 IS Ok
4653 021210 104003 HLT 3 ;BIT IS NOT AOQ
4654 021212 010513 4%: MOV RS, (R3) JWRITE THE BIT TO THE REG
4655 021214 005013 CLR (RS) JCLR THE PARAMETER STATUS REGISTER
4656 021216 011304 MOV (R3) R4 ;GET THE PARAMETER STATUS REGISTER
4657 021220 005005 CLR RS ;SET "EXPECTED'’
4658 021222 020504 (MP RS R4 ;R5=G00D ,Ré4= ?
4659 021224 001401 BEQ 108 ;BIT 15 IS 0K
4660 021226 104003 HLT 3 ;BIT FAILED TO CLEAR
4661 021230 104400 108: SCOPE ;SCOPE THIS TEST

4663
L4664 sennnnnannannnnarnnnnnnnnns TEST 123 aannnnnannsnnnnnnnnnanannen

4665 ;*TRANSMITTER CONTROL REGISTER BIT 8 WRITE ONLY DEVICE RESET AND CLEAR TEST
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021354
021356
021360
0213562

02-MAY-7.

012737
012737

02-MAY-78 13:58 PAGE 92

000123 001226
021364 001216
001412
000200

000400

005044

000400

000400
005044

000400

160066

000400

N 7
SEQ 0091

TRANSMITTER CONTROL REGISTER WRITE ONLY TEST BIT 8

s*TEST THAT BIT 8 CANNOT BE WRITTEN AND READ

P
 

P
R
 
T
R
 
T
R
 
T
R
 
)

1%:

3s:

4

|

L
 

R

s*BACK THE SAME. READ BIT 8,COMPLEMENT IT AND WRITE IT

s*VERIFYING THAT IT DID NOT CHANGE. WRITE BIT 8,
;*DO A DEVICE RESET AND VERIFY THE BIT WAS CLEARED.
;*REPEAT FOR A CLR INSTRUCTION.
::..'.........'.."'................'.......'..Q'Q......'.......

IRARRRARRRRRY

TEST 123

M AL AE LR ddl ]

(2323222222222 3222222222222322222 dddddldd)

ST123: mov
MOV

MOV

MOV
MOV

BIT

BEQ
HLT

coM

$: MOV

HLT

0%: SCOPE

#123,#TSTNO
#TST124 NEXT
TXCSR,RS
#BIT7.RS
(R3) R4
#B1T8,R4
1%

<
R4
R4, (R3)
PC . SMALL

(R3)R4
RS,R%

PC,SMALL
(R3) R4
#BIT8.R4
4$
3
#BIT8.R4
R4, (R3)
(R3)

;GET THE TRANSMITTER CONTROL REGISTER
;SET EXPECTED BIT
sREAD THE REGISTER

;CHECK BIT 8
;BIT 8 IS Ok
;BIT FAILED TO CLEAR
;REVERSE THE BIT

sWRITE THE BIT TO THE REG

sWAIT FOR DEVICE RESET TO FINISH
;READ IT BACK
;R5=G00D, Ré4= ?

:BR IF 0K
; COMPARE ERROR
;LOAD THE BIT
;WRITE THE BIT TO THE REG
sRESET THE DEVICE

sWAIT FOR RESET TO FINISH
;GET BIT 8
sTEST BIT 8 FOR O AFTER RESET

;BIT 8 IS OK
;BIT IS NOT A O
;LOAD THE BIT
;WRITE THE BIT TO THE REG

;CLR THE TRANSMITTER CONTROL REGISTER
;GET THE TRANSMITTER CONTROL REGISTER
;R5=G0O0D ,R4= ?

;BIT 8 IS OK
;BIT FAILED TO CLEAR
;SCOPE THIS TEST

JRRRRAAANANARAACRARRAR nn TEST 124 AA AR AR AR R AR R AR RARRRRRRRNER

s*RECEIVER CONTROL REGISTER READ/WRITE BIT TEST.
;*SET BIT8, VERIFY BIT8 WAS SET.
;*CLEAR BIT8, VERIFY BIT8 WAS CLEARED.
::.t'fitt!tttt*.l'tttt.t.t.itttt.ttt.t.tli.l......ttttltt!t.tttt.

M ASEEE 2l

TEST 124
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4722
4723
4724
4725
4726
4727
4728
4729
4730
473
4732
4733
4734
4735
4736
4737
4738
4739
4740
4741

4742
4743
4744
4745
4746
4747
4748
4749
4750
4751
4752
4753
4754
4755
4756
4757
4758
4759
4760
4761
4762
4763
4764
4765
4766
4767
4768
4769
4770
4771
4772
4773
4774
4775
4776
4777

021364
021372
021400
021404
021410
021412
021414
021416
021420
021422
021424
021426
021430
021432
021434
021436

021440
021446
021454
021460
021464
021466
021470
021472
021474
021476

021512

02-MAY-78
02-MAY-78 08:c3

012737
012737
013703
012705
010513
011304

012737
012737
013703
012705
010513
011304
020504

000124
021440
001404
000400

000125
021514
001404
000100

001226
001216

001226
001216

13:58 PAGE 93 SEQ 0092
RECEIVER CONTROL REGISTER READ/WRITE TEST BIT 8

IIRRRRRRRNRANRE

PR TT

TST124: MOV #124 ,a#TSTNO
MOV #TST125 NEXT
MOV RXCSR,R3 :SET REGISTER TO BE TESTED.
MOV #BIT8.RS5 *SET "EXPECTED '".
MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) ,Ré *READ THE REGISTER.
CMP RS R4 *R5=GOOD; R4=UNKNOWN.
BEQ 18’ “ARE THEY THE SAME?
HLT 3 *COMPARISON ERROR.

1%: BIC RS, (R3) *CLEAR BIT8
MOV (R3) R4 *READ THE REGISTER.
CLR RS *SET "EXPECTED"'
CMP RS R4 *R5=GOOD; R&4=?
BEQ 2% :BR IF OK
HUT 3 :COMPARISON ERROR

2%: SCOPE “SCOPE THIS TEST

JRRARRRRRAANRAARARAAARRANNE TEST 125 Anaamtaannknhraheet netns

s*RECEIVER CONTROL REGISTER READ/WRITE BIT TEST.
;*SET BIT6, VERIFY BIT6 WAS SET.
;*CLEAR BIT6, VERIFY BIT6 WAS CLEARED.
;:*fitt*i*t'fififittiQ"tfi*titttitt..tfifitttt'tttttQttt'ttttttt'iQt"

crRRA AR AR AR AR

*

TEST 125
*

IRRRRR ARk

TRARRRARARR AR AR RRR AR AR AR RARRRRRRRRARRRR AR R RRRRRRRRARRRRRRRRARAN

ST125: MoV #125,a#TSTNO
MOV #TST126 ,NEXT

e
 
L
R
I
 

T
E
)

MOV RXCSR,R3 :SET REGISTER TO BE TESTED.
MOV #31T6.R5 *SET "EXPECTED .
MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) R4 *READ THE REGISTER.
CMP RS.R4 *R5=GOOD; R4=UNKNOWN.
BEQ 1% “ARE THEY THE SAME?
HLT 3 *COMPARISON ERROR.

1$: BIC RS, (R3) *CLEAR BITé

MOV (R3) ,Ré4 *READ THE REGISTER.
CLR RS *SET "EXPECTED"
CMP RS ,R4 *R5=GOOD; R&4=?
BEQ 2% ‘BR IF 0K
HLT 3 *COMPARISON ERROR

2%: SCOPE “SCOPE THIS TEST

IRRRRRANRARRARRRRRARRrnnnt TEST 126 AR AARRAAAAARRRRARRRRRAR

;*RECEIVER CONTROL REGISTER READ/WRITE BIT TEST.
s*SET BITS, VERIFY BITS WAS SET.
;*CLEAR BITS5, VERIFY BITS WAS CLEARED.
::ttttttttttifit*it'ittttttttttttittttt'tilttt'fittttitttltlt"tit
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4778
4779
4780

021514
021522
021530
021534
021540
021542
021544
021546
021550
021552
021554
021556
021560
021562
021564
021566

021570

02-MAY-78
02-MAY-78 08:23

012737
012737
013703
012705
010513
011304
020504
001401

012737
012737
013703
012705
010513
011304

000126
021570
001404
000040

000127
021644
001404
000020

001226
001216

001226
001216

c 8
13:58 PAGE 94 SEQ 0093

RECEIVER CONTROL REGISTER READ/WRITE TEST BIT 5

iRA R AR R AR

=

TEST 126
*

s

.

.

.
-4 M A2l ]

2 TR AR AR A A AR AR AR AR RN AARAA AR AR AR AR A AR AR AR AR R AR AR AR AR ARk

TST126: MOV #126,a#TSTNO
MOV #TST127 NEXT
MOV RXCSR,R3 :SET REGISTER TO BE TESTED.
MOV #BITS RS *SET "EXPECTED ',
MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) R4 *READ THE REGISTER.
CMP RS,R% *R5=GOOD; R4=UNKNOWN.
BEQ 1% “ARE THEY THE SAME?
HLT 3 *COMPARISON ERROR.

1%: BIC RS, (R3) *CLEAR BITS
MOV (R3) R4 *READ THE REGISTER.
CLR RS *SET "EXPECTED'"
MP RS ,R4 *R5=GOOD; Ré4=?

BEQ 2% ‘BR IF OK
HLT B *COMPARISON ERROR

28: SCOPE “SCOPE THIS TEST

JRRRRRARRARRNRAKRARARANANAR TEST 127 AAAAtn A a AR AR ARk AR ARk kA ®

s*RECEIVER CONTROL REGISTER READ/WRITE BIT TEST.
;*SET BIT4, VERIFY BIT4 WAS SET.
;*CLEAR BIT4, VERIFY BIT4 WAS CLEARED.
IR AR A AR A AR AR AR RA AR AR AR AR AR A AR AR A AR AR AR A AR A AR AR R AR ®

iRkAR A AR AN

*

TEST 127
*

IRRRRRRAKRR AR

AR AR AN R AR A AR AR AR R AR AR AR R RN RARRARRRRRRAARRARRRRRRRRARRAAR AR

ST127: MOV #127 ,a#TSTNO
MOV #TST130 ,NEXT

e
I
R
 
T
R
 
T
R

MOV RXCSR,R3 ;SET REGISTER TO BE TESTED.
MOV #BIT4 RS *SET "EXPECTED .
MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) R4 *READ THE REGISTER.
CMP RS,R4 *R5=GOOD; R&=UNKNOWN.
BEQ 1% SARE THEY THE SAME?
HLT 3 *COMPARISON ERROR.

1$: BIC RS, (R3) *CLEAR BIT4

MOV (R3) ,R4 *READ THE REGISTER.
CLR RS *SET "EXPECTED"
CMP RS ,R4 *R5=GOOD; R&4=?
BEQ 2% ‘BR IF OK
HLT B :COMPARISON ERROR

28 : SCOPE “SCOPE THIS TEST

JRRARARARRARRNRRRRARANRARAR TEST 130 waraaa v v e a e Ak ke kAR kA ®

s *TRANSMITTER CONTROL REGISTER READ/WRITE BIT TEST.
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4834
4835
4836
4837
4838

021644
021652
021660
021664
021670
021672
021674
021700
021702
021704
021706
021710
021712
021716
021720
021722
021724
021726

021730
021736
021744
021750
021754
021756
021760
021764
021766
021770
021772
021774
021776
022002

02-MAY-78
02-MAY-78 08:23

012737
012737
013703
012705
010513

012737
012737
013703
012705
010513

000130 001226
021730 001216
001412
000100

000200

000200

000131
022014
001404
000002

1770C1

177001

001226
001216

D 8

TRANSMITTER CONTROL REGIASTER READ/WRITE TEST BIT 6

;*SET BIT6, VERIFY BIT6 WAS SET.
;*CLEAR BIT6, VERIFY BIT6 WAS CLEARED.
::tQtt'"..'QQQtt"'.'ttQ..Q'Qt..tt't"'."..""Q'lt.'..".'i"

13:58 PAGE 95

ALE R

*

TEST 130
*

TRRRARRRAR AR

:'t..'tfi'fi..i't.t"fi..""'tt...fifi'...fi.'tt'.'fi.t"."Q'.t"tt.t't..'

ST130: MOV #130,a4TSTNO
MOV #TST131,NEXT
MOV TXCSR,R3
MOV #BIT6.RS

O
 
T
R
 
T
R
L
R
I

;SET REGISTER TO BE TESTED.
sSET "EXPECTED ''.

MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) R4 *READ THE REGISTER.
BIC #BIT7.R4 *CLEAR UNWANTED BITS
CMP RS R4 *R5=GOOD; R4=UNKNOWN.
BEQ 1% “ARE THEY THE SAME?
HLT 3 :COMPARISON ERROR.

1%: BIC RS, (R3) *CLEAR BIT6
MOV (R3) ,R4 *READ THE REGISTER.
BIC #BIT7 R4 *CLEAR UNWANTED BITS
CLR RS *SET "EXPECTED''
cMP RS R4 *R5=GOOD; Ré4=?
BEQ 28 ‘BR IF OK
HLT 3 *COMPARISON ERROR

28: SCOPE *SCOPE THIS TEST

IRRKARRRKAAARRRRARRRRARRRAN TEST T3] St na et a A A kA AR ARk R ARk

;*RECEIVER CONTROL REGISTER READ/WRITE BIT TEST.

;*SET BIT1, VERIFY BIT1 WAS SET.
;*CLEAR BIT1, VERIFY BIT1 WAS CLEARED.
:;fittttt*fiittttfit'tttttttttttfiQttttttttt'ttttt'ttt'iltt.t'tt*ttt

siRkRRkRAR AR A Ak

; *

* TEST 131
: *

::fittttttt'itt

::*Qt'fittt.Q*ttt.*ififi*fi't'i‘*'..itttiifi'tttifitltt*ti'tfit‘tliitt'*ti'tt

TST131: MoV #131,a4TSTNO

MOV #TST132 NEXT
MOV RXCSR,R3 sSET REGISTER TO BE TESTED.
MOV #BIT1,R5 sSET "EXPECTED ',
MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) R4 *READ THE REGISTER.
BIC #177001,R4 *CLEAR UNWANTED BITS
CMP RS R4 *R5=GOOD; R4=UNKNOWN.
BEQ 1% “ARE THEY THE SAME?
HLT 3 *COMPARISON ERROR.

1$: BIC RS, (R3) *CLEAR BIT1

MOV (R3) ,R4 *READ THE REGISTER.
BIC #177001,R4 *CLEAR UNWANTED BITS
CLR RS “SET "EXPECTED''

SEQ 0094
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4890
48N
4892
4893
4894
4895
4896
4897

4898
4899
4900
4901
4902
4903
4904
4905
4906
4907
4908
4909
4910
4911

4912
4913
4914
4915
4916
917
4918
4919
4920
4921
4922
4923
4924
4925
4926
4927
4928

022004
022006
022010
022012

022014
022022
022030
022034
022040
022042
022044
022050

022074
022076

022100
022106
022114
022120
022124
022126

02-MAY-78
02-MAY-78 08:23

020504
001401
104003
104400

012737
012737
013703
012705
010513

012737
012737
013703
012705
010513
011304

000132
022700
001404
000004

177001

177001

000133
022164
001404
000010

001226
001216

001226
001216

E 8
13:58 PAGE 96 SEQ 0095

RECEIVER CONTROL REGISTER READ/WRITE TEST BIT 1

CMP RS.R4 ;R5=G00D; R4=?
BEQ 2% ;BR IF OK
HLT 3 ; COMPARISON ERROR

2%: SCOPE ;SCOPE THIS TEST

IRRRRRRARRRRRAAARARAARRNARN TEST 132 Ansaaandadav e a vt A a AR AN RN AN

:+RECEIVER CONTROL REGISTER READ/WRITE BIT TEST.

;*«SET BIT2, VERIFY BIT2 WAS SET.
:=CLEAR BIT2, VERIFY BIT2 WAS CLEARED.
:;'itt*t't'tfi'ii"'t.t.t"tfitiQtttttt.'fi't.t'tt*'tt!'tittt't.'tt

IRRRRRARARARK

.

TEST 132
-

TRARRRRRARRAR

e AR AR AR AR AR R AR R AR AR AR AR AR AR R AR TR AR R AR AR A R AR AR AR AR AR AR AR AR AR AR AN

ST132: MOV #132 ,a#TSTNO
MOV lTST133.NEXT
MOV RXCSR,R3 sSET REGISTER TO BE TESTED.
MOV #BIT2,RS ;SET "EXPECTED ''.
MOV RS, (R3) sWRITE THE REGISTER.
MCV (R3) ,R4 sREAD THE REGISTER.
BIC #177001,R4 ;CLEAR UNWANTED BITS
CMP R5 R4 ;R5=GO0D; R4=UNKNOWN.
BEQ 1% ;sARE THEY THE SAME?
HLT 3 ; COMPARISON ERROR.

1%: BIC RS, (R3) ;CLEAR BIT2
MOV (R3) ,R4 ;READ THE REGISTER.
8IC #177001 R4 sCLEAR UNWANTED BITS
CLR RS ;SET "EXPECTED"'
CMP R5.R4 ;R5=GO0OD; Ré4=?
BEQ 2% :BR IF OK
HLT 3 : COMPARISON ERROR

2%: SCOPE ;SCOPE THIS TEST

IRRARRARARRAARRRtrrrnnnwntt TEST 133 annnnnnnnnmnntnnnttnttrnnns

;*RECEIVER CONTROL REGISTER READ/WRITE BIT TEST.

;*SET BIT3, VERIFY BIT3 WAS SET.
;*CLEAR BIT3, VERIFY BIT3 WAS CLEARED.
;:ttlttttt'ttttttttt'ttttttttttttttttttttttttttttfittttttttittttt

;:tttttttttttt

: *

; TEST 133
.. *

sk hhkhhh kK

IR AR AR AR A AR AN AR A AR A AR R AR AR AR AR AR AR AR AR AR AR AR A AR AR A A AR A ARk

TST133 MOV #133 ,a#TSTNO
MOV #TST134 NEXT
MOV RXCSR,R3 :SET REGISTER TO BE TESTED.
MOV #BIT3.R5 “SET "EXPECTED '
MOV RS, (R3) *WRITE THE REGISTER.
MOV (R3) R4 *READ THE REGISTER.



F 8
CZDPBC MACY11 30A(1052) 02-MAY-78 13:58 PAGE 97 SEQ 0096
CZDPBC.P1 02-MAY~-78 08:23 RECEIVER CONTROL REGISTER READ/WRITE TEST BIT 3

4946 022130 042704 177001 BIC #177001 R4 ;CLEAR UNWANTED BITS
4947 022134 020504 CMP R5,R4 JR5=G00D; R&4=UNKNOWN.
4948 022136 001401 BEQ 1$ JARE THEY THE SAME?
4949 022140 104003 HLT 3 ;COMPARISON ERROR.
4950 022142 040513 1%: BIC RS, (R3) ;CLEAR BIT3
4951 022144 011304 MOV (R3) ,R4 :READ THE REGISTER.
4952 022146 042704 177001 BIC 1177601 R4 ;CLEAR UNWANTED BITS
4953 022152 005005 CLR RS JSET "EXPECTED''
4954 022154 020504 CMP R5,R4 ;R5=G00D; Ré&4=?
4955 022156 001401 BEQ 2% ;BR IF OK
4956 022160 104003 HLT 3 ;COMPARISON ERROR
zggg 022162 104400 2%: SCOPE ;SCOPE THIS TEST

4959
4960 JRRRARAARRAARANRAR RN RN TEST 134 AARRARRARCRRRARRRRAARAR RS

4961 'RECEIVER CONTROL REGISTER READ/WRITE BIT 6 RESET AND CLEAR TEST
4962 ;*WRITE BIT 6,AND TEST THAT IT WILL BE CLEARED AFTER A

4963 :'DEVICE RESET AND RECEIVER CONTROL REGISTER CLR INSTRUCTION
4964 IR AR R AR AR AR AR R AR RRRRRRRRRARRR AR AR AR R AR AR RRRRRNAA AR

4965
4966 JIRRRARRRARRAK

4967 : *
4968 : TEST 134
4969 3 ~
4970 JIRARAARRRAKAR

4971 R

4972 022164 012737 000134 001226 TST134: MOV #134 ,a#TSTNO
4973 022172 012737 022260 001216 MOV #TST135 NEXT
4974 022200 013703 001404 MOV RXCSR,R3 JGET THE RECEIVER CONTROL REGISTER
4975 022204 052713 000100 BIS #3176, (R3) *SET BIT 6 AT RECEIVER CONTROL REGISTER
4976 022210 005005 CLR RS JSET "EXPECTED'’
4977 022212 052777 000400 157172 BIS AMRESET ,@TXCSR ;RESET THE DEVICE
4978 022220 004737 005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
4979 022224 032713 000100 BIT #BIT6, (R3) sTEST BIT 6
4980 022230 001402 BEQ 1% BIT 6 IS CLEARED
4981 022232 011304 MOV (R3) ,R4 ;LOAD ‘FOUND''
4982 022234 104003 HLT 3 BIT 6 IS SET AND SHOULDN'T BE
4983 022236 052713 000100 1%: BIS #8176, (R3) :SET BIT 6 AGAIN
4984 022242 005013 CLR (R3) ;CLEAR THE RECEIVER CONTROL REGISTER
4985 022244 032713 000100 BIT #8176, (R3) JTEST TO SEE IF BIT 6 CLEARED
4986 022250 001402 BEQ P 3 ;BIT 6 IS OK
4987 022252 011304 MOV (R3) R4 ;LOAD ‘FOUND'*
4988 022254 104003 HLT 3 ;BIT 6 FAILED TO CLEAR
4989 022256 104400 2%: SCOPE ;SCOPE THIS TEST
4990
4991
4992 IRRERARRARRARRARRAR ANk nnnn TEST 135 wannannannrantrttentetrennn

4993 ;*RECEIVER CONTROL REGISTER READ/WRITE BIT S RESET AND CLEAR TEST
4994 ;*WRITE BIT S,AND TEST THAT IT WILL BE CLEARED AFTER A
4995 s*DEVICE RESET AND RECEIVER CONTROL REGISTER CLR INSTRUCTION
4,996 R RR

4997
L9098 JIRRRRAARRRNRAR

4999 : "
5000 ; TEST 135
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022346
022350
022352

022354
022362
022370
022374
022400
022402
022410
022414
022420
022422
022424
022426
022432
022434
022440
022442
022444
022446

012737

012737
012737
013703
052713

02-MAY-~78
02-MAY-78 08:23

000135 001226
022354 001216
001404
000040

000400
005044
000040

000040

000040

000136
022450
001412
000100

000400
005044
000100

000100

000100

157076

001226
001216

157002

13:58 PAGE 98
G 8

SEQ 0097

RECEIVER CONTROL REGISTER RESET AND CLEAR TEST BIT 5

IRRRAARAAR RER

t'.."'.'.."'...'.t..'."..Q..'Q'.....Q..QQQ....'.."Q'.Q."...Q.’.

TST135
HOV
MOV

BIS
CLR

BIS
JSR

BIT
BEQ
MOV

HLT
1%: BIS

CLR

BIT
BEQ
MOV
HLT

2%: SCOPE

#135,a4TSTNO
#TST136,NEXT
RXCSR,R3
#BITS. (R3)
RS
#MRESET ,@TXCSR

PC,SMALL
#BITS, (R3)
1%
(R3) R4
3
#BIT5,(R3)
(R3)
#BITS, (R3)

2%
(R3) ,R4
3

;GET THE RECEIVER CONTROL REGISTER
;SET BIT 5 AT RECEIVER CONTROL REGISTER

sSET "EXPECTED"’
:RESET THE DEVICE
sWAIT FOR RESET TO FINISH
sTEST BIT 5
BIT 5 IS CLEARED
;LOAD "FOUND'’
:BIT 5 IS SET AND SHOULDN'T BE
:SET BIT S AGAIN
;CLEAR THE RECEIVER CONTROL REGISTER
;TEST TO SEE IF BIT S CLEARED

JBIT S IS Ok
;LOAD ‘FOUND''

;BIT S FAILED TO CLEAR
;SCOPE THIS TEST

sxnnnnnnnnnnnnnnnerannnnnns TEST 136 annnnnnnnnnnnnnnnnnnnnennns

s*TRANSMITTER CONTROL REGISTER READ/WRITE BIT 6 RESET AND CLEAR TEST

s*WRITE BIT 6,AND TEST THAT IT WILL BE CLEARED AFTER A

s*DEVICE RESET AND TRANSMITTER CONTROL REGISTER CLR INSTRUCTION
::tt.'fi.'fit.....'t'tt.ttltt'.ifiQ..t'.'ttfit..'.'....'t'...'...'Q'

M AR SRSS S

TEST 136

M A LSS S]]

*

*

*

*

AN A AR R AR AR AR AR AR AR AAAR AR A AR ARAAARRAAAARAARRAR AR A AR AR R AR

TST136 MOV
MOV

MOV

BIS
CLR
BIS
JSR

BIT
BEQ

MOV
HLT

1%: BIS

CLR

BIT
8EQ

MOV
HLT

2%: SCOPE

#136,a#TSTNO
#TST137 NEXT
TXCSR,R3
#B1T6, (R3)
RS
#MRESET ,aTXCSR

PC,SMALL

#B1T6,(R3)
1%

(R3) .R4
3
#BIT6, (R3)
(R3)

#B1T6, (R3)
2%
(R3) ,R4

3

sGET THE TRANSMITTER CONTROL REGISTER
sSET BIT 6 AT TRANSMITTER CONTROL REGISTER

;SET "EXPECTED"'
sRESET THE DEVICE
;sWAIT FOR RESET TO FINISH
;TEST BIT 6

:BIT 6 1S CLEARED
sLOAD “FOUND''
:BIT 6 IS SET AND SHOULDN'T BE
:SET BIT 6 AGAIN
;CLEAR THE TRANSMITTER CONTROL REGISTER

sTEST TO SEE IF BIT 6 CLEARED

;BIT 6 IS OK
;LOAD "FOUND''
;BIT 6 FAILED TO CLEAR
;SCOPE THIS TEST

JRNRRRKARRRRANRER ARk nnnnn TEST 137 Aasxaannanrtnraatthaattannn

*#THIS TEST CHECKS THE MAINTENANCE CLOCK
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5058
5059
5060
5061
5062
5063
5064
5065
5066
5067
5068
5069
5070
5071
5072
5073
5074
5075
5076
5077
5078
5079
5080
5081
5082
5083
5084
5085
5086
5087
5088
5089
5090
5091

5104

v —
 
o
 
b
 

d
 
b
 
d
 
-
 
d

-
 

d
 
)
 

o
 
o

A
N

 2
S
3
R
B
I
K
K

022450
022456
022464
022472
022476
022502
022510
022516
022520
022524
022532
022534
022536
022542
022550
022552
022556
022564
022566
022570
022570
022576
022602

022644
022652

02-MAY-78
02-MAY-78 08:c3

012737
012737
052777
004737
005037
052777
032777
001407

104000

052777
004737
104400

012737
012737

052713

000137
022604
000400
005044
001236
004000
004000

001236
177777

001236
004000

001236
177777

000400
005044

000140
0227¢0
001414
001412

000400
005044
001000
014000

001226
001216
156720

156702
156676

001236

156644

001236

156614

001226
001216

156552

156536

13:58 PAGE 99 SEQ 0098
MAINTENANCE TIMER TEST

;*USED THROUGHOUT THE REMAINING DIAGNOSTICS
::.Q.t't'.l'..l..t"l".'fi't‘QQ..'.Q'."'....QQQQ..'Qt".......'

JIRRRERARANRAR

3 *

; TEST 137
-

;:ttt"ttttttt
IR AR AR AR AR AR A AR AR AR AR R AR AR AR R AR AR AN RN RN AR RRR AR AR AR R ORI

TST137: MOV #137 ,a#TSTNO
MOV #TST140 NEXT
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL ;WAIT FOR RESET TO FINISH
CLR TEMP1 ;TEST TIM SETUP
BIS #SYSTST ,@TXCSR ;ENTER SYSTEM TST MODE TO TURN ON CLOCK

1%: BIT #TIMER,QTXDBUF ;CHECK THE CLOCK BIT

BEQ 2% :BR IF OFF
INC TEMP1 sINC WAIT LOOP
cMP #-1,TEMPT ;CHECK FOR LOOP TO BE DONE
BNE 1% ;BR IF MORE TIME TO WAIT
HLT sTIMER CLOCK BIT FAILED TO CLEAR

2%: CLR TEMP1 ;SECOND HALF SETUP
3%: BIT #TIMER,QTXDBUF ;CHECK THE CLOCK BIT

BNE 4% :BR IF ON
INC TEMP1 ;INC THE WAIT LOOP
cMP #-1,TEMPT ;CHECK FOR LOPP DONE
BNE 3% ;BR IF MORE TIME TO WAIT

- HLT sTIMER BIT FAILED TO SET

BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL sWAIT FOR RESET TO FINISH
SCOPE ;SCOPE THIS TEST

JRARRARARARRRARRARARAAAARAR TEST T4 At a e aa ek kA kA AR kAR R RN A AR AR

;*THIS TEST WILL PERFORM STATIC TRANSMITTER FUNCTIONS

s*IN MAINTENANCE MODE. IT WILL PROVE THE INTERACTION
;*OF SEND, DONE AND TSOM.
;:.tttfittttttttititfittttlttfitfit'tt!ttittt.t.tti'fit.ttt'!.t.t'.tl

JIRRRAARNARRAR

%

* TEST 140
. *

E;tttttfitttttt
IR RN AR AR AR AR AR KRR AR RRRRARRRR AR RN AR RN AR S RRRN

TST140: MOV #140,#TSTNO
MOV #TST141 NEXT
MOV TXDBUF ,R2 ;LOAD TX BUFFER
MOV TXCSR,R3 ;LOAD TX CONTROL REGISTER
CLR (R2) ;CLEAR BUFFER
BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL ;WAIT FOR RESET TO FINISH
BIS #CRCEN,@PARCSR ;TURN OFF CRC
BIS #MMODE , (R3) JENTER M/M - PROGRAM NOW CLOCKING
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052713 000020
014220

170000

001414

001412

000200

00C400
000017

000200

012737
012737
013703

000141
023274
001412
001414

005044

014000

000020

000400
000006
020000
001000

001226
001216

156400

156356

156332

13:58 PAGE 100
I 8

STATIC TEST OF SEND,DONE AND TSOM

BIS #SEND, (R3) sASSERT SEND
BIS #SEND ! TXDONE !MMODE,RS ;SET "EXPECTED''
MOV (R3) ,R4 JREAD TX CONTROL REGISTER
CMP RS,R4 JARE THEY EQUAL?
BEQ 1% :BR IF YES
HLT 3 :NO

1%: CLR RS J''SET EXPECTED''

MOV (R2) ,R4 ;READ TX BUFFER
BIC #170000,R4 s MASK
CMP RS.R4 ;R5=GO0OD, Ré4=?
BEQ 2% JARE THEY EQUAL?
MOV TXDBUF ,R3 ;ERROR MESSAGE SETUP
HLT 3 :NO
MOV TXCSR,R3 JRETURN TO NORMAL

2%: MOV RS, (R2) ;LOAD BUFFER
BIT #TXDONE , (R3) ;TEST DONE
BEQ 3%
HLT 5 ;BIT FAILED TO CLR

3%: BIS #TSOM, (R2) ;SET TSOM
PKCLK ".m
BIT #TXDONE , (R3) sTEST DONE
BNE 43
HLT 6 ;BIT FAILED TO SET

A ¥ SCOPE ;SCOPE THIS TEST

JRRRRRRRRARRRRRRRRAARRARARY JEST 7147 Araand s aa A v v kAN AR n S

s*THIS TEST CHECKS THE STATIC FUNCTIONS OF THE TRANSMITTER
:*IN MAINTENANCE MODE. THIS TEST PROVES THE INTERACTICN OF

;*TXDBUF, TXACT, TSOM,TRANSMITTED DATA AND DONE.
::t't..Q.tttttt"'"'t.fitfit't'....t"'.'ti."ti..tt"'..'.tttt'.

::tt.......tlt

hs

* TEST 141
® *

;:tinttttttttt
;:t..tttt't.t.t.ttt.'t.tt't'tiQt..'itti.tttt't....t".t"tfi.tt.'.t'Qfit

TST141: Mov #1471, 34TSTNO

MOV #TST142 NEXT
MOV TXCSR.R3 :LOAD CONTROL REGISTER
MOV TXDBUF ,R2 *LOAD BUFFER
BIS #MRESET ,@TXCSR :RESET THE DEVICE

JSR PC, SMALL *WAIT FOR RESET TO FINISH
CLR (R2) *RESET TXDONE
BIS #MMODE , (R3) *ENTER M/M--PROGRAM CLOCKING
BIS #CRCEN.@PARCSR :TURN OFF CRC
BIS #SEND, (R3) *SET SEND
CLR RS *SET "EXPECTED'".
MOV RS, (R2) :LOAD TX BUFFER
MOV #TSOM, (R2) STURN ON TSOM
PKCLK 6. *SYNC UP DUP
BIS #CLK,@TXCSR :POKE CLOCK UP
BIT #TXACT, (R3) SIS TXACT HIGH?
BNE 1$ ‘BR IF SET
HLT 7 STXACT FAILED TO SET

SEQ 0099
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CZDPBC MACY11 30A(1052) 02-MAY-78 13:58 PAGE 101 SEQ 0100
CZDPBC.P11 02-MAY-78 08:23 INTERACTIVE TEST OF TXDBUF ,TXACT,TSOM AND DONE

5170 023070 1%:
5171 023070 042777 020000 156314 BIC #CLK,aTXCSR sPOKE CLOCK DOWN
5172 023076 104412 000015 PKCLK 13, ;PUSH OUT DATA
5173 023102 032713 000020 BIT #SEND, (R3) s CHECK SEND
5174 023106 001001 BNE 2% ;BR IF YES
5175 023110 104017 HLT 17 ;BIT FAILED TO SET
5176 023112 012737 023112 001220 2%: MOV #2%,L0(K ;SETUPFOR SW 09
5177 023120 012705 000400 MOV #TSOM,RS ;SET "EXPECTED''.
5178 023124 011204 MOV (R2) ,R4 ;GET THE BUFFER REG
5179 023126 042704 170000 BIC #170000,R4 ;MASK CRC BITS
5180 023132 020504 CMP RS5.R4 ;R5=G0O0D, R4=?
5181 023134 001406 BEQ 3s ;BR IF A MATCH
5182 023136 013703 001414 MOV TXDBUF ,R3 sERROR MESSAGE SETUP
5183 023142 104003 HLT 3 ;BIT FAILED TO SET
5184 023144 104401 SCOPT ;SW09=1?
5185 023146 012703 001412 MOV #TXCSR,R3 sLOAD TRANSMITTER (SR
5186 023152 012737 023152 001220 3%: MOV #3%,L0CK ;SW09 SETUP
5187 023160 042712 000400 BIC #TSOM, (R2) ;CLR TSOM
5188 023164 032713 000200 BIT #TXDONE , (R3) sTEST DONE
5189 023170 001402 BEQ 43 ;BR IF CLEAR
5190 023172 104005 HLT 5 sDONE BIT IS SET AND SHOULD BE CLEARED
5191 023174 104401 SCOP1 ;SW09=1?
5192 023176 012737 023176 001220 4$%: MOV #48,L0CK ;SW09 SETUP
5193 023 032712 000400 BIT #TSOM, (R2) sTEST TSOM
5194 023210 001402 BEQ 5% ;BR IF CLEAR
5195 023212 104010 HLT 10 ;BIT FAILED TO CLR
5196 023214 104401 SCOP1 ;SW09=1?
5197 023216 042713 000020 5%: BIC #SEND, (R3) ;TURN OFF SEND
5198 023222 104412 000020 PKCLK ,16. ;POKE 8 BITS
5199 023226 032713 000200 BIT #TXDONE , (R3) s CHECK DONE
5200 023232 001401 BEQ .+ ;BR IF OFF
5201 023234 104017 HLT 17 ;DONE SET AND SHOULDN'T BE
5202 023236 104412 000002 PKCLK .2 ;POKE ONE FULL CLOCK
5203 023242 032713 001000 BIT #TXACT, (R3) sCHECK ACTIVE
5204 023246 001401 BEQ 6% ;BR IF OFF
5205 023250 104011 HLT 1 JACTIVE SETS AND SHOULDN'T BE
5206 023252 032713 000200 6%: BIT #TXDONE , (R3) ;1S DONE UP?
5207 023256 001001 BNE 7% :BR IF YES
5208 023260 104006 HLT 6 ;NO-REPORT ERROR
5209 023262 032713 040000 7%: BIT #MTDATA, (R3) ;CHECK DATA OUuT
5210 023266 001401 BEQ 108 ;BR IF OFF
5211 023270 104012 HLT 12 ;sDATA SET SHOULD BE CLEAR
5212 023272 104400 10%: SCOPE ;SCOPE THIS TEST

5215 JRREXRARARRARARRARk hknwn TEST 142 XA ARRNARRRRNRARARRARRARARR

5216 ;*«THIS TEST VERIFIES THAT THE DEVICE IDLES FLAGS
5217 ;*IDLE A MINIMUM OF 64. FLAGS.
5218 IR AR RNRRRANRNRA AR AR R AR AR R R R ®

5219
5220 JIRRRARRARRARK

5221 2 *
5222 s TEST 142
5223 : *
5224 JINKRRRRRRAARR

AL S22 2222222000 RRRRRRRRRRRRRRRRRRRRRRRRRtRlRRl
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000142 001226
023364 001216
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13:58 PAGE 102
IDLE FLAG TEST

TST142: MOV
MOV
MOV

MOV
BIS
JSR
CLR
BIS
BIS
BIS
PKCLK

JSR
64
SCOPE

#1462, 34TSTNO
HTST14Z NEXT
TXDBUF ,R2
TXCSR,R3
#MRESET ,@TXCSR

SMAL

czsm, (R2)

R1.FLG

SEQ 0101

;LOAD TX BUFFER
;LOAD TX CONTROL REGISTER
sRESET THE DEVICE
sWAIT FOR RESET TO FINISH
sRESET TXDONE

;ENTER _M/MODE
;SET SEND
sTURN ON START OF MSG

:SYNC UP DUP
;SEND 64. FLAGS
:64. FLAGS
;SCOPE THIS TEST

Jhnnknnnknnnnnenrrnnnwnwntt TEST 143 wnnnnnennnnnnnnnnntnsannnnn

;*THIS TEST PUSHES DATA THRU THE TRANSMITTER
;*IN MAINTENANCE MODE. THE TEST SENDS A FLAG,
s*AND TWO ALTERNATING ONES AND ZEROES CHARACTERS,
s*AN ALL ZEROES CHARACTER AND AN ALL ONES
;*CHARACTER TO VERIFY THE BIT STUFF CAPABILITY OF
;*THE DUP WITHOUT A CRC CHECK.THE TEST ROTATES
;*THE B17S THRU,SAMPLING THE DATA ON A BIT-BY-BIT

;*BASIS,LSB FIRST. IT STORES THE BIT IN THE MSB OF
;*THE SAVE LOCATION,COMPARES AND ROTATES RIGHT UNTIL

;*THE CHARACTER IS ASSEMBLED.
;:'.i.lfittfifit."i't'.t.t.fi.fiQtt.tt.t..tt..'tt.'tt..t.t.ti".flfi.'

223322222232

*

TEST 143
3

thRk ARk R Ak

ST143: MOV
MOV

MOV

MoV

BIS
JSR

CLR

BIS
BIS
BIS
BIS
CLR

CLR
CLR

CLR
MOV

MOV
MOV

MOV
PKCLK

MOV
PKCLK

#1463 ,a#TSTNO
#TST144 NEXT
TXCSR,R3
TXDBUF ,R2
#MRESET ,aTXCSR

PC,SMALL

(R2)
#MMODE , (R3)
#CRCEN,aPARCSR

#SEND, (R3)
#TSOM, (R2)

TEMP1
TEMP2
TEMP3
TEMP4
#4 R4
#TBL1,R5
#TBL1,R1

(R1) ,TEMPS
.8.
(R5)+,(R2)

>

W 2223222223233 2233333233203 33 2332333333233 222332322 2R R R 2Rl ]

;LOAD TRANSMITTER CONTROL REGISTER

;LOAD TRANSMITTER BUFFER
sRESET THE DEVICE
;WAIT FOR RESET TO FINISH
sRESET TXDONE
sENTER MINT MODE--PROGRAM CLOCKING
sTURN OFF CRC
sASSERT SEND

;CLEAR
:CLEAR
;CLEAR
;CLEAR
;LOAD THE # OF CHARACTERS TO DO
;LOAD THE TABLE POINTER
;DITTO
;DITTO
;START A FLAG
;LOAD THE FIRST CHARACTER AND CLR TSOM
sFINISH THE FLAG
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5283
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023716
023722
023724

023726

104412
000241
032713
001401
000261
106037
000241
106037

02-MAY-78

000002

€42000

001236

001246

001242
001240

001242
001240
001236

001000

155564

000005

000002
040000

001244
000010

001236
001242
001244

001246
001000

001242

001240

001244

L 8

DATA TEST OF A ZERO,ONE AND ALTERNATING ZERO-ONE CHARACTER
13:58 PAGE 103

1$: PKCLK .2 ;PUSH OUT A BIT
CLC sPUT CARRY IN A KNOWN STATE
BIT #MTDATA, (R3) sTEST THE BIT
BEQ 2% ;BR IF CLEAR
SEC sSET CARRY FOR SOF TWARE

2%: RORB TEMP1 ;STORE THE BIT
CLC sPUT CARRY IN A KNOWN STATE
RORB TEMPS sCHECK TO SEE WHAT THE BIT SHOULD BE
B8CC 3% ;BR IF CLEAR
SEC sSET CARRY FOR SOF TWARE
RORB TEMP3 ;SHIFT IN A ONE
INC TEMP2 s INC ONES COUNT
BR 4% :JUMP OVER

3%: RORB TEMP3 ;LOAD A ZERO
CLR TEMP?2 ;CLEAR ONES COUNT

4%: CMP TEMP1,TEMP3 ;DOES HARDWARE = SOF TWARE
BEQ 5% :BR IF YES
HLT “ ;HARDWARE AND SOF TWARE DON'T MAT(CH

;R1 HOLDS THE ADRS OF THE OUTPUT (CHAR
;TEMP1,BIT7 = HARDWARE FOUND

;TEMP3,BIT7 = SOF TWARE CALCULATED
;TEMP4 GIVE THE BIT POSITION OUTPUT

5%: TST R4 ;CHECK FOR LAST CHAR
BNE 6% ;BR IF NOT DONE
BIS #TEOM, (R2) ;LOAD END OF MESAGE
BR 7$ sFINISH TEST

6%: TSTB aTXCSR ;CHECK TO SEE IF EREADY FOR NEXT CHAR
BPL 7$ ;BR IF NO .
MOV (R5)+,(R2) ;LOAD NEXT CHAR
DEC R4 ;LOWER CHAR COUNT

7$: CMP #5,TEMP2 sCHECK FOR STUFFED ZERO
BNE 108 ;BR IF NO
PKCLK 2 ;PUSH OUT THE STUFFED ZERO
BIT #MTDATA, (R3) sCHECK IT
BEQ 108 ;BR IF OK
HLT 21 sFAILED TO BIT=-STUFF!!

10%: INC TEMP4 sINC BIT COUNTER
CMP #8. ,TEMP4 ;ARE WE DONE WITH THIS CHAR?
BNE 1$ ;BR _IF MORE TO GO
CLR TEMP] ;CLEAR OUT HARDWARE SAVE
CLR TEMP3 ;CLEAR OQUT SOF TWARE SAVE
CLR TEMP4 ;CLEAR OU BIT COUNTER
TST (R1)+ ;POP TBL POINTER

MOV (R1) ,TEMPS 3
BIT #TEOM, (R2) ;CHECK FOR END OF TEST
BEQ 1% :BR IF MORE TO GO
SCOPE ;SCOPE THIS TEST

TBL1: .WORD 252 ;THE FIRST FOUR CHARACTERS

.WORD 000 ;OF THIS TABLE ARE OUTPUT.

.WORD 125 ;THE LAST CHARACTER IS

.WORD 377 :A PAD.

SEQ 0102
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001226
001216

155420

155376

001236

13:58 PAGE 104
m 8

DATA TEST OF A ZERO,ONE AND ALTERNATING ZERO-ONE CHARACTER
SEQ 0103

;R1 = SOFTWARE TABLE POINTER
;R2 = TXDBUF
;R3 = TXCSR
;R4 = CHAR COUNTER
;RS = HARDWARE TABLE POINTER
JTEMPY = HARDUARE BIT
STEMP2 = 1'S COUNT
:TEMP3 = SOF TWARE BIT
sTEMPS = (HARACTER BIT COUNTER
;TEMPS = SOF TWARE BYTE

Jennnnnnnannnnnnrnnennnnnnnn TEST 144 srnnnnnnnnnnnannrrnntnetans

:*THIS TEST VERIFIES THE ABORT SEQUENCE AND
:*NORMAL DATA SEQUENCE OF FLAG, DATA, FLAG
:*FOLLOWED BY IDLE LINE. THIS TEST ALSO PROVES
:«THE FUNCTIONING OF ACTIVE, TSOM, TEOM, SEND AND DONE.

;+WITHOUT USING A CRC CHECK.
IR R AR AR AR AN R AR R R AR R AR AR R R AR RN TR RN RN RN RS

JINRRRARRRRNRR

. @

; TEST 144
. #

EIRRRRARAAR AN
R e

TST144: MOV #1464 ,ANTSTNO
MOV #TST14S NEXT
MOV TXCSR,R3 ;LOAD CONTROL REGISTER
MOV TXDBUF ,R2 ;LOAD TRANSMITTER BUFFER
BIS #MRESET ,@TXCSR :RESET THE DEVICE
JSR C,SMALL sWAIT FOR RESET TO FINISH
CLR (R2) :RESET TXDONE
BIS #MMODE , (R3) sENTER M/MODE
BIS #CRCEN,aPARCSR ;SHUT OFF CRC
BIS #SEND, (R3) sSET SEND
BIS #TSOM, (R2) ;TURN ON START OF MSG
PKCLK 8. sSYNC UP DUP AND START PUSHING OUT A FLAG
BIS #TABORT, (R2) ;SET ABORT
PKCLK ,12. ;PUSH OUT THE ABORT
CLR TEMP1 sCLEAR HOLD

1$: PKCLK 2 ;PUSH A BIT
BIT #MTDATA, (R3) sCHECK DATA
BNE 2% :BR IF SET
HLT 13 ;DATA FAILED TO SET

2%: INC TEMP] s INC HOLD
cMP #2,TEMP1 :CHECK FOR FINISH
BNE 1% ;BR IF NO

BIT #TXACT, (R3) sTEST TRANSMITTER ACTIVE
BNE 648 sBR IF ACTIVE SET

o HLT 7 JACTIVE IS RESET AND SHOULDN'T BE

BIC #TABORT, (R2) ;CLEAR ABORT
CLR TEMP1 sCLEAR HOLD

3s: PKCLK,?2 sPUSH A BIT
BIT #MTDATA, (R3) ;CHECK DATA
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58 PAGE 105 SEQ 0104
czoPBC.P1 02-MAY~ ABORT SEQUENCE TEST

5394 026152 001001 BNE 3 JBR IF SET
5395 0241 1046013 MLT i5 ;DATA OUT FAILED TO SET
5396 024126 005237 001236 s INC TEMP JINC # TO DO
5397 024132 022737 000006 001236 (TM #6,TEMPY JAND CHECK IT
5398 1 001364 BNE 3s ;BR IF MORE TO GO
5399 024142 104412 PKCLK 6. JPOKE CLOCK
5400 024146 012712 000252 #252,(R2) JCLEAR TSOM AND LOAD DATA
5601 024152 104412 000024 PkCLk ,20. JFINISH THE FLAG AND DATA
5402 024156 052712 001000 BIS #TEOM, (R2) ;SET TEQM
5403 024162 104412 PKCLK .6 ;POKE CLOCK
5404 024166 004137 007052 JSR R1,FLG ;SEND THREE FLAGS
5405 024172 000003 3 :DITTO
5406 024174 042713 000020 elc #SEND, (R3) ;CLEAR SEND
5407 024200 104412 000004 PKCLE 4 ;JPOKE CLOCK
5408 024204 032713 040000 BIT #MTDATA, (R3) sTEST TXDAT
5409 024210 001001 BNE 659 JMARK OUT
5610 024212 104013 HLT 13 ;TXDAT A SPACE - SHOULD BE 1
56411 024214 032713 000200 65%: BIT #TXDONE , (R3) ;1S DONE UP
5412 024220 001001 BNE 663 JYES
5613 024222 104006 HLT () JNO - BUT IT SHOULD BE.
sS:}g 024226 104400 66%: SCOPE ;SCOPE THIS TEST

5416
5417
5418 JRnrnnsnnnnnnnnenannnnnnnns JEST 145 tennnnnnnannennnennennnnnns

5419 ;*THIS TEST VERIFIES THAT A DATA
5420 s*UNDER RUN CONDITION WILL CAUSE
5421 ;*THE TRANSMITTER DATA LATE BIT TO SET
5422 ;*«AND THAT THE DEVICE WILL ABORT
5423 J*UNTIL SEND IS CLEARED WHEN THE OUTPUT GOES TO A SPACE
5424 ' L T L e T

5425 JINRARNRRRRANR

5426 3 *
5427 ; TEST 145
5428 3 *
5429 JINRRANRRRRANN

5430 IR AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR R AR AR R AR R R AR NN R R AR R RN RN RS

5431 024226 012737 000145 001226 TST145: MOV #145,a#TSTNO
5432 024234 012737 024430 001216 MOV #TST146 NEXT
5433 024242 013703 001412 MOV TXCSR.R3 JLOAD TRANSMITTER CONTROL REGISTER
56434 024246 013702 001414 MOV TXDBUF ,R2 ;LOAD TRANSMITTER BUFFER
5435 024252 052777 00 155132 BIS MMRESET ,@TXCSR ;RESET THE DEVICE
5436 024260 004737 005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
5437 024264 005012 CLR (R2) *RESET TXDONE
5438 024266 052713 014000 BIS #MMODE , (R3) JENTER MINT MODE--PROGRAM CLOCKING
5439 024272 052777 001000 155110 BIS #CRCEN,3PARCSR ;TURN OFF CRC
5440 024300 052713 000020 BIS #SEND, (R3) JASSERT SEND
5441 024304 052712 000400 BIS #TSOM, (R2)
5442 024310 104412 000006 PKCLK 6. ;START QUTPUTING FLAG
5443 024314 012777 000000 155072 MOV #0 ,3TXDBUF sCLEAR TSOM-LOAD BUFFER WITH ZEROES
5444 024322 104412 000016 PKCLK 14, JFINISH FLAG
5445 024326 104412 000017 PKCLK 2 TP JOUTPUT UP TO 7 1/2 CLOCK TICKS
5446 024332 032777 100000 155052 BIT #TXDLAT ,@TXCSR ;MAKE SURE DNA IS NOT SET
5447 024340 001401 BEQ 1% ;BR IF CLEARED
5448 024342 104014 HLT 14 ;BIT IS SET TOO SOON
5449 024344 104412 000002 1%: PKCLK L2 JFINISH LAST CLOCK



#TXDLAT,@TXCSR

2$
15

O?END.GTXCSR

ig.lrenp1

#MTDATA,@TXCSR
43
12
TEMP1
3%

SEQ 0105

sNOW CHECK DNA
sBRANCH IF SET

;BIT IS CLEARED AND SHOULD BE SET

:TURN OFF SEND
;PUSH 8 BITS
;SETUP FOR IDLE LINE
;OUTPUT BIT
sCHECK IT
;BRAN"H IF ZERO
;BIT .S A1
;LOWER COUNT
sNOT DONE? = GO BACK
;SCOPE THIS TEST

JRARRKARRARRAARKRARRARRAARE TEST 746 Arrn e ad e n ke hh e khthn

;*THIS TEST VERIFIES THAT DROPPING OF

;*SEND BEFORE SETTING TEOM CAUSES
;*A SPACE TO BE QUTPUT AFTER COMPLETION OF

;*A CHARACTER WITH AND WITHOUT BIT STUFF.
;:tfit*tttt**fitttttttfifittt.fittttttt'titt**ttt'tttttttittttttt.t"

AR AR AR AR AR AR A AR AR AR AR AR A AR AR AR AR AR A A AR AR A AR A A AR A ARk ke

#146,a#TSTNO
#TST147 ,NEXT

TXCSR,R3
TXDBUF ,R2
#MRESET ,@TXCSR

PC,SMALL

(R2)
#MMODE, (R3)
#CRCEN,aPARCSR

#SEND, (R3)
#TSOM, (R2)

'6.
4$ge.arxoeur

ige&o.arxcsn

i?b.rfnp1

#MTDATA,@TXCSR
2%
12
TEMP1
1$
#TXACT,@TXCSR

7%
1

CZDPBC MACY11 30A(1052) 02-May-78 13:58 PAGE 106
czZoPB8C.P11 02-MAY-78 08:c3 DATA UNDERRUN TEST

5450 024350 032777 100000 155034 BIT
5651 024356 001001 BNE
5452 024360 104015 HLT
5453 024362 2%:
5654 024362 042777 000020 155022 BIC
5455 024370 104412 000020 PKCLK
56456 024374 012737 000010 001236 MOV
5457 024402 104412 000002 3%: PKCLK
5458 024406 032777 040000 154776 BIT
5459 024414 001401 BEQ
5460 024416 104012 HLT
5461 024420 005337 001236 4%: DEC
5462 024424 001366 BNE
5463 024426 104400 SCOPE
5464
5465
5466
5467
5468
5469
5470
5471
5472
5473 IIRRRRRRRRARAR

5474 :
5475 s TEST 146
5476 :
5477 IIRRRRRRKRRRAR

5478 2

5479 024430 012737 000146 001226 TST146: MOV
5480 024436 012737 025002 001216 MOV
5481 024444 013703 001412 MOV
5482 024450 013702 001414 MOV
5483 024454 052777 000400 154730 BIS
5484 024462 004737 005044 JSR
5485 024466 005012 CLR
5486 024470 052713 014000 BIS
5487 024474 052777 001000 154706 BIS
5488 024502 052713 000020 BIS
5489 024506 052712 000400 BIS
5490 024512 104412 000006 PKCLK
5491 024516 012777 000252 154670 MOV
5492 024524 104412 000014 PKCLK
5493 024530 042777 000020 154654 BIC
5494 024536 104412 000002 PKCLK
5495 024542 012737 000010 001236 MOV
5496 024550 104412 000012 1%: PKCLK
5497 024554 032777 040000 154630 BIT
5498 024562 001401 BEQ
5499 024564 104012 HLT
5500 024566 005337 001236 2%: DEC
5501 024572 001366 BNE
5502 024574 032777 001000 154610 BIT
5503 024602 001491 BEQ
5504 024604 104011 HLT
5505 024606 7%:

;LOAD TRANSMITTER CONTROL REGISTER
;LOAD TRANSMITTER BUFFER
sRESET THE DEVICE

sWAIT FOR RESET TO FINISH
sRESET TXDONE
;ENTER MINT MODE--PROGRAM CLOCKING
sTURN OFF CRC
sASSERT SEND

;PUSH 2 BITS
;LOAD DATA
;PUSH 6 BITS
;TURN OFF TRANSMITTER
sPOKE A FULL CLOCK
sLOAD
;PUSH 5 BITS
sCHECK DATA

;BR IF CLEAR
;DATA IS SET = SHOULD BE CLEAR
;LOWER THE # OF TIMES TO REPEAT
;BR _IF TO GOE MSG
sCHECK ACTIVE
;BR _IF OFF
JACTIVE FAILED TO CLEAR
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5506 024606
024614
024620
024624

024724
024726

024730
024734
024742
024746
024754
024756
024760
024764
024766
024774
024776
025000

025054

02-MAY-7

052777

012737
012737

052713

000147
025176
001412
001414
000400
005044

014000
001000
000020

02-MAY-78
8 08:23

154576

154554

154532

- 154514

154500

154466

001236

154436

154416

001226
001216

154356

154334

13:58 PAGE 107
A8

SEQ 0106
SEND AND TEOM WITH BIT=STUFF TEST

3%:

5%:

6%:

TS

BIS
JSR
MOV

MOV

BIS
JSR

CLR
BIS

HLT

SCOPE

#MRESET,aTXCSR

PC,SMALL
TXCSR,R3
TXDBUF ,R2
#MRESET,@TXCSR

PC,SMALL
(R2)
#MMODE, (R3)
#CRCEN,@PARCSR

#SEND, (R3)
#TSOM. (R2)

06-
c}é?.arxoeur

5§S&o.arxcsn

#MTDATA,QTXCSR
3$
13

4
cg.,rsnp1

éMTDATA.aTXCSR

#TXACT ,@TXCSR

%

+RESET THE DEVICE

sWAIT FOR RESET TO FINISH
;LOAD TRANSMITTER CONTROL REGISTER
sLOAD TRANSMITTER BUFFER
sRESET THE DEVICE
sWAIT FOR RESET TO FINISH
sRESET TXDONE
sENTER MINT MODE=--PROGRAM CLOCKING
:TURN OFF CRC
sASSERT SEND

;PUSH TWO BITS
;LOAD DATA
;PUSH 8 BITS
sTURN OFF TRANSMITTER
;PUSH 6 BITS
sCHECK DATA OUT FOR BIT STUFF FUNCTION
;BR_IF SET
;BIT IS A O, SHOULD BE A 1 - DEVICE
;FAILED TO BIT STUFF

;PUSH 2 BITS
;LOAD TEMP1
;PUSH A BIT
:CHECK DATA
;BR _IF OFF

;DATA WINDOW SET = SHOULD BE CLEAR
;LOWER THE # OF TIMES TO CHECK
;BR_IF MORE TOGO
;CHECK ACTIVE
;BR_IF OFF
;ACTIVE FAILED TO CLEAR
;SCOPE THIS TEST

JRRARRRRRNRNAAAARRARARNRARN TEST 147 AAArnd A A AR AR AR AR R AR R

s*THIS TEST VERIFIES THAT A DATA UNDERRUN
;*CONDITION WILL CAUSE THE TRANSMITTER DATA
;*LATE BIT TO SET AND THAT THE DUP WILL GO TO
:*A MARK OUTPUT
SRR AR R A AR AR AR AR AR AR AR A AR AR R A AR AR AR AR R AR R AR AR R A AR ARk ®

A A AR A A A A AN

*

TEST 147
*

CrARRRRRARRRAK

AR AR AR A AR AR AR AR AR AR R AR R AR ARAARRARRARRRRRARRAARAARAR R®

T147: MOV
MOV
MOV

MOV

BIS
JSR

CLR

BIS
BIS
BIS

#147 ,24TSTNO
#TSTi50, NEXT
TXCSR,RS
TXDBUF ,R2
AMRESET,@TXCSR

PC,SMALL
(R2)
#MMODE, (R3)
#CRCEN.@PARCSR

#SEND, (R3)

;LOAD TRANSMITTER CONTROL REGISTER
;LOAD TRANSMITTER BUFFER
sRESET THE DEVICE
sWAIT FOR RESET TO FINISH

sRESET TXDONE
sENTER MINT MODE--PROGRAM CLOCKING
:TURN OFF CRC

sASSERT SEND



CZDPBC MACY11 30A(1052)
CZoPBC.P11

025140
025142
025144
025150
025156
025160
025162
025170
025172
025174

025176
025204
025212

025326

02-MAY-78 13:
02-MAY-78 08:23

052712
104412
112777
042777
104412
104412
032777
001401
104014
104412
032777
001401
104014
104412
032777
001001
104016
032777
001001
104013
104400

012737
012737
013703
013702
052777
004737
005012
052713
052777
052713
052712
104412
012777
104412
052777
104412
032777
001001
104007
004137
000001

000400
000006
000176
000400
000016
000017
100000

000002
100000

000004
100000

040000

007052

154252

154234

154222

001226
001216

154162

154140

154122

154110

154074

58 PAGE 108
BIT=STUFF DATA UNDERRUN TEST

1%:

2%:

3%:

4%:

BIS
PKCLK

MovB
BIC
PKCLK
PKCLK

BIT
BEQ
HLT
PKCLK

BIT
BEQ
HLT
PKCLK

BIT

BNE
HLT

BIT

BNE
HLT

SCOPE

0D 9

#1SOM,(R2)

#176, 2T XDBUF
#TSOM, 3TXDBUF

14,
.15,
#TXDLAT ,@TXCSR

18
14

.2
#TXDLAT ,@TXCSR

28
14
L4
#TXDLAT,@TXCSR

38
16
#MTDATA,@TXCSR

4%
13

SEQ 0107

;START FLAG
;LOAD CHARACTER TO BE BIT=-STUFFED
;SHUT OFF TSOM
sFINISH CLOCKING FLAG
:CLOCK TO WITHIN 1 1/2 CLOCKS
;CHECK DATA LATE
;BRANCH IF CLEAR
;BIT IS SET TOO SOON
;CLOCK TO WITHIN A HALF=CLOCK OF DNA
JCHECK DNA
;BR IF OFF
JBIT SET TOO SOON, DEVICE FAILED TO BIT-STUFF
JFINISH CHARACTER

;CHECK DNA
;BRANCH IF SET
;BIT SHOULD BE SET AND IS CLEARED
;sCHECK DATA
;BR IF SET
;DATA WAS CLEAR - SHOULD BE SET

;SCOPE THIS TEST

IRKRKKARKAAKIANARRARARARARE TEST 7150 Atnadaanrhnnhnnehhrkrnhhntn

;*THIS TEST VERIFIES THAT SETTING TEOM
:*AND TSOM AT THE SAME TIME WILL HOLD

:*ACTIVE UP AND SEND A FLAG
;:tttt*tfitt*tfiitttttttttfitfit**fittttttt.fitttttt!ttttttit""tttti

stke e e ke

TEST 150

TREARRRARAR KK

AR AR AR A A AR AR A AR A AR AR A AR R AR A AR AR AR A AR A AR AR A AR AR A AR AR Ak kAR AR Ak Rk

Ts

1%:

T150: mov #150,a#TSTNO
#TSTI51,NEXT
TXCSR.R3 :LOAD TRANSMITTER CONTROL REGISTER
TXDBUF ,R2 *LOAD TRANSMITTER BUFFER
#MRESET,@TXCSR :RESET THE DEVICE

PC,SMALL *WAIT FOR RESET TO FINISH

(R2) *RESET TXDONE
#MMODE , (R3) “ENTER MINT MODE--PROGRAM CLOCKING
#CRCEN.QPARCSR :TURN OFF CRC

#SEND, (R3) *ASSERT SEND
#TSOM. (R2)

6. .SYNC UP DUP
#252,aTXDBUF :LOAD DATA

,26. *FINISH THE FLAG AND DATA
#TEOM! #TSOM, aTXDBUF :TURN ON START AND END OF MSG

4 :PUSH 2 BITS
HTXACT,@TXCSR -TEST ACTIVE

1% ‘BR IF SET
7 *ACTIVE SHOULD BE SET AND IS CLEAR
R1.FLG *PUSH OUT A FLAG

:ONE FLAG



CZDPBC MACY11 30A(1052)
CZoPBC.PM

025330

025332
025340
025346
025354
025362
025370
025370
025376
025402

025516

025520
025522
025530
025536
025536
025544
025550
025554
025562
025570

104400

012737
012737
012737
012737
012737

052777
004737
005077
052777
052777
052777
104412
017777
104412
005037
004537
000010
000000
177777
012777
104412
004137
100000
013705
005105
020504
001401
104020

104401

062737
012737

052777
004737
005077
052777
052777
052777

02-MAY-78 13:58 PAGE 109
02-MAY-78 08:23

000151
026402
102010
026212
025370

026400
026222

001000
000016
006750

026400

000002
025526

000400
005044
153640
014000
000020
000400

UNIQUE SHUTDOWN TEST

SCOPE ;SCOPE THIS TEST

ARRARIRARARARRRRRRAARARAAE TEST 157 Aaanaate akaaananeneaentnnn
.

;*TEST OF THE BCC OPERATION USING
s*CRC.CCITT FOR THE POLYNOMINAL. SPECIFIC
;*DATA PATTERNS ARE USED TO ISOLATE FAULTS.
P g T

IIRRRRRARARNAR

. .
E

; TEST 151
*

L4

siRRRAR AR AR K

SRR R AR R AR A A A A AR AR AR AR AR AR AR A AR A AR AR AR AR A A AR AR AR AR ARk Rk kAR

001226 TST151: MOV #151,a#TSTNO
001216 MOV #TST152 NEXT
026374 MOV #CRC.CCITT XPOLY sSET THE POLYNOMINAL
001244 MOV #5%,TEMP4 ;GET THE TABLE POINTER
001220 ' MOY #1%,L0CK ;SETUP FOR SW09=1

154014 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
JSR PC,SMALL ;WAIT FOR RESET TO FINISH
CLR aTXDBUF sRESET TXDONE

153776 BIS #MMODE ,aTXCSR ;ENTER M/MODE
153770 BIS #SEND ,@TXCSR : TURNON DUP
153764 BIS #TSOM,QTXDBUF ;TURN ON START OF MSG

PKCLK 6. sSYNC UP DUP

153752 MOV aTEMP4 ,aTXDBUF ;LOAD DATA
PKCLK ,16. ;PUSH 8 BITS

CLR CALBCC ;CLEAR OUT OLD BCC
JSR R5,SIMBCC s CALCULATE A SOFTWARE BCC
8. ;BASED
0 ;ON THESE
=1 s PARAME TERS

153722 MOV #TEOM,TXDBUF ;CLEAR TSOM, SET TEOM
PKCLK 14, ;PUSHOUT DATA

JSR R1,ACC ;DO A BCC CALCULATION (HDWR)
BIT15 :FOR 16 BITS
MOV CALBCC,RS sMOV_SOF TWARE BCC TO EXPECTED
COM R5 s INVERT IT
CMP R5,Ré4 ;DOES EXPECTED=FOUND?
BEQ 64% ;BR IF OK
HLT 20 :BCC CALCULATION ERROR

.TO DEBUG CRC USE THE CRC
;DEBUG AID TEST. SEE FRONT OF THE
sLISTING FOR TEST LOCATION

648 : SCOP1 :SW09=1?
001244 ADD #2,TEMP4 sMOVE THE TABLE POINTER
001220 28 MOV #2%,L0CK ;SETUP FOR SWO09=1

153646 BIS #MRESET ,@TXCSR ;RESET THE DEVICE

JSR PC,SMALL sWAIT FOR RESET TO FINISH
CLR aTXDBUF sRESET TXDONE

153630 BIS #MMODE ,aTXCSR sENTER M/MODE
153622 BIS #SEND,@TXCSR s TURNON DUP
153616 BIS #TSOM,aTXDBUF ;TURN ON START OF MSG

SEQ 0108
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5674
5675
5676
5677

025576

026034

026052
026052
026060

02-MAY-78
02-MAY-78 08:23

104412
017777
104412
005037
004537
000010
000252
177177

012777
104412
004137
100000
013705
005105
020504
001401
104020

104401

062737
012737

052777

000125
177777
012777
104412
004137
100000
013705
005105
020504
001401
104020

104401

062737
012737

052777
004737

000006
153436
000020
026400
026222

001000
000016
006750

026400

000002
025704

000400
005044
153472
014000
000020
000400
000006
153270
000020
026400
026222

001000
000016
006750

026400

000002
026052

000400
005044

153604

153554

001244
001220

153500

153462
153454
153450

153436

153406

001244
001220

153332

13:58 PAGE 110
F 9

SDLC CRC CALCULATION TEST

65%:

3%:

66%:

(%:

PKCLK e

MOV aTEMP4 ,aTXDBUF
PKCLK o 10,
CLR CALBCC
gSR RS,SIMBCC

‘?<10101010>

MOV #TEOM,aTXDBUF
PKCLK - -
JSR R1,ACC
BIT1S
MOV CALBCC,RS
com RS
CMP RS .R4
BEQ 65%
HUT 20

SCOP1
ADD #2,TEMPS

MOV #3%,L0CK

BIS #MRESET ,@TXCSR
JSR PC,SMALL
CLR T XDBUF
BIS #MMODE ,aTXCSR

BIS #SEND ,@TXCSR

BIS #TSOM,aTXDBUF
PKCLK oD
MOV aTEMP4 ,aTXDBUF

CLR CALBCC
éSR RS5,SIMBCC

‘?<01010101>

MOV #TEOM,T XDBUF
PKCLK 14,

JSR R1,ACC
BIT1S
MOV CALBCC,RS
oM RS
CMP RS .R4
BEQ 66%
HLT 20

SCOP1
ADD #2,TEMPS
MOV #4%,10CK

BIS #MRESET ,@TXCSR

JSR PC,SMALL

;SYNC UP DUP

;LOAD DATA

;PUSH 8 BITS
;CLEAR OUT OLD BCC
sCALCULATE A SOFTWARE BC(CC
sBASED

:ON THESE
;PARAME TERS

;CLEAR TSOM, SET TEOM
;PUSHOUT DATA

;DO A BCC CALCULATION (MHDWR)
:FOR 16 BITS

;MOV SOFTWARE BCC TO EXPECTED
JINVERT IT
;DOES EXPECTED=FOUND?
;BR IF 0K

;BCC CALCULATION ERROR
;TO DEBUG CRC USE THE CRC
;DEBUG AID TEST. SEE FRONT OF THE
JLISTING FOR TEST LOCATION

:SW09=1?
;MOVE THE TABLE POINTER
:SETUP FOR SW09=1

;RESET THE DEVICE
JWAIT FOR RESET TO FINISH
JRESET TXDONE

;ENTER M/MODE
:TURNON DLP

;TURN ON START OF MSG
;SYNC UP DUP
;LOAD DATA
;PUSH 8 BITS
;CLEAR OUT OLD BCC
sCALCULATE A SOFTWARE BCC
sBASED

:ON THESE
;PARAME TERS
sCLEAR TSOM, SET TEOM
;PUSHOUT DATA

;DO A BCC CALCULATION (HDWR)
;FOR 16 BITS

;MOV SOFTWARE BCC TO EXPECTED
JINVERT IT
;DOES EXPECTED-FOUND?
;:BR IF 0K

sBCC CALCULATION ERROR

;TO DEBUG CRC USE THE CRC
:DEBUG AID TEST. SEE FRONT OF THE
:LISTING FOR TEST LOCATION
;SW09=1?
:MOVE THE TABLE POINTER

;SETUP FOR SW09=1

JRESET THE DEVICE
;WAIT FOR RESET TO FINISH

SEQ 0109
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5730 026064 005077 153324 (LR aTXDBUF
5731 026070 052777 014000 153314 BIS #MMODE ,aTX(SR
5732 026076 052777 000020 153306 BIS #SEND ,@TX(SR
5733 026104 052777 000400 153302 8IS #TSOM,aTXDBUF
5734 026112 104412 PKCLK 6.
5735 026116 017777 153122 153270 MOv aTEMPS ,aTXDBUF
5736 026126 104412 000020 PKCLK 16,
5737 026130 005037 026400 CLR CALBCC
5738 026134 004537 026222 JSR R5,SIMBCC
5739 026140 000010 8.
5740 026142 000377 “B8<11111111>
5741 026144 177777 -1
5742 026146 012777 001000 153240 MOV #TEOM,aTXDBUF
5743 026154 104412 000020 PKCLK 16,
5746 026160 004137 006750 JSR R1,ACC
5745 026164 100000 BIT1S
5746 026166 012705 157400 MOV #157400,RS
5747 026172 020504 cMP RS R4
5748 026174 001401 BEQ 67%
5749 026176 10402C HLT 20
5750
5751
5752
5753 026200 104401 67%: SCOP1
5754 026202 062737 000002 001244 ADD #2,TEMPS
5755 026210 104400 SCOPE
5756 026212 5%: .WORD 0
5757 026214 000252 .WORD 252
5758 026216 000125 .WORD 125
5759 026220 000377 .WORD 377
5760 026222 010046 SIMBCC: MOV RO,=(SP)
5761 026224 010146 MOV R1,-(SP)
5762 026226 010246 MOV R2,=(SP)
5763 026230 012537 001236 MOV (R5)+,TEMP1
5764 026234 012537 001240 MOV (R5)+,TEMP2
5765 026240 012537 001242 MOV (R5)+,TEMP3
5766 026244 005037 026376 $: CLR BCCFBK
5767 026250 013700 001242 MOV TEMP3 RO
5768 026254 006037 001240 ROR TEMF2
5769 026260 005500 ADC RO
5770 026262 032700 000001 BIT ITO.RO
5771 026266 001402 BEQ 2%
5772 026270 005137 026376 COM BCCFBK
5773 026274 013700 026374 2%: MOV XPOLY,RO
5774 026300 005100 oM RO
5775 026302 040037 026376 BIC RO,BCCFBK
5776 026306 000241 CLC
5777 026310 006037 001242 ROR TEMP3
5778 026314 013700 026376 MOV BCCFBK,RO
5779 026320 013701 001242 MOV TEMP3 R1
5780 026326 010102 MOV R1.R2
5781 026326 040100 BIC R1,R0
5782 026330 043702 026376 BIC BCCFBK,R2
5783 026334 050200 BIS R2,RO
5784 026336 043737 026374 001242 BIC XPOLY, TEMP3
5785 026344 050037 001242 BIS RO, TEMP3

;RESET TXDONE

sENTER M/MODE
;s TURNON DUP
:TURN ON START OF MSG

;SYNC UP DUP

;LOAD DATA
;PUSH 8 BITS
:CLEAR OUT OLD BCC
;CALCULATE A SOFTWARE BCC
;BASED

:ON THESE
;PARAME TERS

sCLEAR TSOM, SET TEOM
;PUSH 8 BITS
;D0 A BCC CALCULATION (HDWR)
;FOR 16 BITS

;LOAD THE BCC
;DOES EXPECTED=FOUND?
;BR IF 0K
;BCC CALCULATION ERROR
;TO DEBUG CRC USE THE CRC

;DEBUG AID TEST. SEE FRONT OF THE

JLISTING FOR TEST LOCATION
;SW09=1?
:MOVE THE TABLE POINTER

:SCOPE THIS TEST

SEQ 0110
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5786 026350 005337 001236 DEC TEMP1
5787 026354 001333 BNE 1%
5788 026356 013737 001242 026400 MOV TEMP3, CALBCC
5789 026364 012602 MOV (SP)+ ,R2
5790 026366 012601 MOV (SP)+ ,R1
5791 026370 012600 MOV (SP)+,R0O
5792 026372 000205 RTS RS
5793 026374 000000 XPOLY: 0
5794 026376 000000 BCCFBK: 0
5795 026400 000000 CALBCC: O
5796 120001 CRC16=120001
5797 102010 CRC.CCITT=102010
5798
5799
5800 JRRRRRRARRRRARRARAR AR RNk nk TEST 152 AAaaaaaanknrnnkAR AR RRR RSN

5801 ;*THIS TEST IS AN AID FOR DEBUGGING CRC
5802 ;*ERRORS. A CHARACTER IS LOADED INTO THE
5803 ;*DUP AND PUSHED OUT BIT BY BIT WHILE
5804 ;*ALLOWING THE OPERATOR TO MONITOR THE CRC
5805 ;*CHARACTER AS IT IS GENERATED. THE DATA CHARACTER
5806 ;*CAN ALSO BE CHANGED BY THE OPERATOR.
5807 ;*PUT SWO09=1 TO LOCK ON BITS. TO CONTINUE HIT
5808 ;*ANY KEY ON THE TTY. AFTER 16 TIMES PUT DOWN SWO9 TO LEAVE
5809 JNOTE: REMEMBER--IN SDLC A ONE IS A LOGIC LOW IN
5810 ;THE CRC GENERATOR.
5811 PRIA AR R AR R RR AR AR AR RN RN AR

5812 SIRRKRRRRNRARN

5813 3 .
5814 : TEST 152
5815 2 »
5816 IIRERRRRRARNAR
5817 IR R AR AR AR R AR R RN RN AR AR

5818 026402 012737 000152 001226 TST152: MOV #152,a#TSTNO
5819 026410 012737 002764 001216 MOV #.EOP ,NEXT
5820 026416 052777 000400 152766 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
5821 026424 004737 005044 JSR PC,SMALL JWAIT FOR RESET TO FINISH
5822 026430 012737 102010 026374 MOV #CRC.CCITT XPOLY :LOAD THE POLYNOMIAL
5823 026436 012737 000125 026604 MOV #125,3% ;LOAD DATA TO SOF TWARE BCC-CHANGE CHARACTER HERE
5824 026444 013737 026604 001252 MOV 3% ,SAVR1
5825 026452 012737 177777 026400 MOV #-1,CALBCC ;CLEAR FOR SOFTWARE BCC
5826 026460 013737 026400 026606 MOV CALBCC,4%
5827 026466 005037 001242 CLR TEMP3 ;CLR SOF TWARE MEMORY
5828 026472 005037 001244 CLR TEMP4 ;CLEAR BIT COUNTER
5829 026476 005037 001246 (LR TEMPS
5830 026502 005077 152706 CLR aTXDBUF JRESET TXDONE
5831 026506 052777 014000 152676 BIS #MMODE ,@TXCSR JENTER MAINT MODE-PROGRAM CLOCKING
5832 026514 052777 000020 152662 BIS #RCVEN,adRXCSR ;TURN ON RECEIVER
5833 026522 052777 000020 152662 BIS #SEND ,aTXCSR ;TURN ON TRANSMITTER
5834 026530 012777 000400 152656 MOV #TSOM,aTXDBUF ;
5835 026536 104412 000044 PKCLK 36. ;PUSH 0OUT 2
5836 026542 013777 026604 152644 MOV 38, aTXDBUF :LOAD DATA
5837 026550 104412 000020 PKCLK ,16. ;PUSH OUT ANOTHER
5838 026554 104412 000002 1%: PKCLK .2 ;PUSH OUT A BIT
5839 026560 013737 001244 001254 MOV TEMP4 , SAVR2 JSET UP TO TYPE
5840 026566 005237 001242 INC TEMP3 JUPDATE THE COUNT
5841 026572 005237 001244 INC TEMP4 ;UPDATE BIT COUNTEK
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5842 026576 004537 026222 2%: JSR R5,SIMBCC ;CALCULATE SOF TWARE B(C BASED ON THESE PARAMETERS
5843 026602 000001 1 ;SHIFTS
5844 026604 000000 3%: .WORD 0 ;DATA
5845 026606 000000 4$: .WORD 0 ;PREVIOUS BCC
5846 026610 004737 026706 JSR PC.5% sCHECK TO SEE IF WE SHOULD WAIT FOR SCOPING
5847 026614 000241 CLC ;CLEAR FOR NEXT ROTATE
5848 026616 106037 026604 RORB 3s sSET UP THE NEXT BIT
5849 026622 013737 026400 026606 MOV CALBCC,4% ;FOR THE SOF TWARE BC(C
5850 026630 022737 000006 001244 CMP #6, TEMPS
5851 026636 001002 BNE . +6
5852 026640 005077 152550 CLR aTXDBUF
5853 026644 022737 000014 001242 CMP #12.,TEMP3
5854 026652 001003 BNE 12%
5855 026654 012777 001000 152532 MOV #TEOM,aTXDBUF
5856 026662 022737 000020 001244 12%: CMP #16.,TEMPS ;ALL DONE WITH THE CHARACTER?
5857 ; INCREASE THE COMPARE NUMBER TO
5858 sALLOW CRC TO BE OUTPUT
5859 026670 001331 BNE 1% :BR IF MORE TO GO
5860 026672 052777 000400 152512 BIS #MRESET ,@TXCSR ;RESET THE DEVICE
5861 026700 004737 005044 JSR PC,SMALL ;WAIT FOR RESET TO FINISH
ggg% 026704 104400 , SCOPE ;SCOPE THIS TEST

5864 026706 032777 001000 152266 5%: BIT #SW09,aSWR ;SW09=1?
5865 026714 001432 BEQ 6% ;BR_IF NO
5866 026716 013704 026400 MOV CALBCC,R4 ;THE DATA CHARACTER IS
5867 026722 012737 000001 001256 MOV #1,SAVR3 ;FOLLOWED BY A ZERO CHARACTER.THE
5868 026730 000241 CLC ;DATA BIT IN CRC SHOWS WHICH BIT
5869 026732 006004 118: ROR R4 :OF THE TWO CHARACTERS IS BEING
5870 026734 006137 001256 ROL SAVR3 ; GENERATED
5871 026740 103374 BCC 11$
5872 026742 105737 001246 TSTB TEMPS
5873 026746 001006 BNE 108
5874 026750 104402 027503 TYPE LEM1 ;TYPE MSG
5875 026754 104402 027532 TYPE MH1 ; TYPE HEADER
5876 026760 105137 001246 (OM3 TEMPS
5877 026764 104410 108: CONVRT
5878 026766 030174 DT1
5879 026770 105777 152210 7%: TSTB aTKCSR sCHECK TTY DONE--GO SCOPE THE CRC GENERATOR
5880 026774 100375 BPL 7$ ;BR IF NOT YET
5881 026776 017701 152204 MOV aTKDBR,R1 sREAD THE BUFFER
ggg% 027002 000207 6%: RTS PC ;RETURN
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5885
(1) 027004 005015 0511 24 047101 EM2: JASCIZ <15><12>/TRANSMITTER /

027024 005015 042522 042503 EM3: LASCIZ <15><12>/RECEIVER /
027041 015 052412 042516 EM&4: LASCIZ <15><12>/UNEXPECTED INTERRU'®T/
027070 005015 051120 046511 EM6: LASCIZ <15><12>*PRIMARY REGISTER £ST *

377 126 047101 EM10: ASCIZ <377>/TRANSMITTER DATA ERROR. /
027153 377 044103 041505 EM11: ASCIZ <377>/CHECK CARRY AND OUTBIT. /
027207 106 047117 020105 EM12: ASCIZ /DONE BIT /
027222 040506 046111 042105 EM13: _ASCIZ /FAILED TO CLEAR /
027243 106 044501 042514 EMI4: .ASCIZ /FAILED TO SET /
027262 041501 044524 042526 EM1S: .ASCIZ /ACTIVE BIT /
027277 126 047523 020115 EM16: LASCIZ /TSOM BIT /
027312 052517 050124 052125 EM17: _ASCIZ /OUTPUT DATA /
027330 042523 020124 047524 EM22: .ASCIZ /SET TOO SOON /
027346 052377 042130 040514 EM23: _ASCIZ <377>/TXDLAT BIT /
027364 041777 041522 041440 EM24: LASCIZ <377>/CRC CALCULATION ERROR /

(1)

1)
(1
(1)
(1

(M
(1)
9]
1)
(1

1)
(1)

)
(1) 027414 047111 042524 052522 DH2: .ASCIZ /INTERUPTED UNEXPECTEDLY./
(1) 027445 377 054105 042520 DH6: LASCIZ <377>/EXPECTED FOUND PRI REG /
(1) 027503 377 051103 020103 EM1: .ASCIZ <377>/CRC GENERATOR STATUS /
(1) 027532 042377 052101 020101 MH1: LASCIZ <377>/DATA (HAR DATA BIT IN CRC GEN. CRC FOR THIS BIT /
(1) 027625 106 044501 042514 DH7: ASCIZ /FAILED TO BIT-STUFF. /
(1) 027653 g15 050012 044522 EMS: LASCIZ <15><12>/PRIMARY REGISTER ADDRESSING TIME-OUT /
(1) 027723 015 050012 044522 EM7: LASCIZ <15><12>/PRIMARY REGISTER RESET TEST /
E}; 027763 377 042522 044507 D?3E~ .ASCIZ <377>/REGISTER REFERENCED TRAPPED FROM /

(1) 030026 .ERRTAB:

(1) 030026 000000 0
(1) 030030 000000 0
(1) 030032 000000 0
(1) 030034 027653 EMS5
(1) 030036 027763 DH5 JHALT 1

g}; 030040 030212 DTS

(1) 030042 027723 EM7
(1) 030044 027445 DH6 JHALT 2
E}; 030046 030224 DT6

(1) 030050 027070 EM6
(1) 030052 027445 DH6 JHALT 3
E}; 030054 030224 DT6

(1) 030056 027121 EM10
(1) 030060 000000 0 JHALT 4
g}; 030062 000000 0

(1) 030064 027207 EM12
(1) 030066 027222 EM13 JHALT 5
g}; 030070 000000 0

(1) 030072 027207 EM12
(1) 030074 027243 EM14 JHALT 6
g}; 030076 000000 0

(1) 030100 027262 EM15
(1) 030102 027243 EM14 JHALT 7

(1) 030104 000000 0



CZDPBC MACY11 30A(1052) 02-MAY-78 13:58 PAGE 115 SEQ 0114
CZoPBC.P1 02-MAY-78 08:c3 CRC DEBUGGING AID TEST

(1
(1) 030106 027277 £mé
(1) 030110 027222 EM13 JHALT 10
2:; 030112 000000 0

(1) 030114 027262 EM15
(1) 030116 027222 EM13 JHALT 1
2}; 030120 000000 0

(1) 030122 027312 EM17
(1) 030124 027222 EM13 JHALT 12
:}; 030126 000000 0

(1) 030130 027312 EM17
(1) 030132 027243 EM14 JHALT 13
g}; 030134 000000 0

(1) 030136 027346 EM23
(1) 030140 027330 EM2?2 JHALT 14
E}; 030142 000000 0

(1) 030144 027346 EM23
(1) 030146 027243 EM14 JHALT 15

E}; 030150 000000 0

(1) 030152 027346 EM23
(1) 030154 027222 EM13 JHALT 16
2}; 030156 000000 0

(1) 030160 027207 EM12
(1) 030162 027330 EM22 JHALT 17
g}; 030164 000000 0

(1) 030166 027364 EM24
(1) 030170 027445 DH6 JHALT 20
5}; 030172 030224 DT6

(1) 030174 000003 DT1: 3
(1) 030176 006 021 BYTE 6,17.
(1) 030200 001252 SAVR1
(1) 030202 006 017 .BYTE 6,15,
(1) 030204 001254 SAVR2
(1) 030206 006 002 .BYTE 6,2
(1) 030210 001256 SAVR3
(1) 030212 000002 DTS: 2
(1) 030214 006 017 .BYTE 6,15.
(1) 030216 001252 SAVR1
(1) 030220 006 002 .BYTE 6,2
(1) 030222 001254 SAVR?2
(1) 030224 000003 DT6: 3
(1) 030226 006 004 BYTE 6.4
(1) 030230 001262 SAVRS
(1) 030232 006 002 BYTE 6,2
(1) 030234 001260 SAVR4
(1) 030236 006 002 .BYTE 6,2
(1) 030240 001256 SAVR3
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I(ZDPBC.PH 02-MAY-78 08:c3 CRC DEBUGGING AID TEST

(1)
)
)

N
N

N
N
 
N
 
N
N

D
 e
l
 

I 
S 

R 
S
 
S
 

)

N
 
N
 
N
 
N
 
N

030242 CORMAX:
000001 .END
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CZDPBC MACY11 30A(1052) 02-MAY-78
CcZoPBC.P1 02-MAY-78 08:23

| ABRT 007000 17204
ACC 006750 17114 5654
ADRCNT= 003735 1300 1336+
BCCFBK 026376 5766 5772+
BINWRD 004240 1387« 1388
BITw = 002000 7778

(8170 = 000001 6394 759
5770

BIT1 = 000002 6384 758
3702 4879

BIT10 = 00-000 624 749
3210 3212

BIT11 = 004000 6284 748
BIT12 = 010000 6274 747

3502 4090
BIT13 = 020000 6204 746

4422 4427
BIT14 = 040000 6254 745

42N 4299

BIT15 = 100000 6244 744
4333 4341
5745

BIT2 = 000004 6374 757
3737 3742

BIT3 = 000010 6364 756
2978 2982

BIT4 = 000020 6354 755
3010 3014

BITS = 000040 634H 754
5015 5017

BIT6 = 000100 6334 753
4975 4979

BIT7 = 000200 6324 752
2081 2107
3337 3342
4682 4850

BIT8 = 000400 6314 751
3148 3970

BIT9 = 001000 6304 750
3382 4010

BRW 003306 1151 12294
BRX 003310 1152 12304
CALBCC 026400 5647« 5656
CARDET= 010000 7478
CHRCNT 004236 1385« 1389
Lk = 020000 77644 1555
CLK.A 001433 8854 1671
CLRVEC 005104 15804
CNVRT = 104411 85c4 1168
CONVRT= 104410 8504 1104
CORMAX 030242 58854
CRCEN = 001000 769 5112
CRCERR= 010000 7634
CRC.CC= 102010 5634 57974
CRC16 = 120001 57964
CREAM 001316 739 966+

5684
13454
5775+
14254

2200

13:58 PAGE 118
CROSS REFERENCE TABLE == USER SYMBOLS

5714

5778

2882

2530

777

3417
796
770

4102
794

5744

5782

2886

2534

mno

1498

5439

1633

1500

5487

1634+

5514

1635

3297

2918

2758

2796
2822
4589

2860

3577

3617
4646

2604

2636

3857

3890

2011

4269

ar2?
3174
4541

57954

5560

1638+

3302

2922

2762

3450
2826
4598
3530

3582

3622
4651

2950

2690

2722

3862

3897

2017
3110
4295

2668

3178
4550

5825+

5605

3650

2924

2764

3457
2828

3537

4130

4170
5655

2954

2694

2726

4787

3902

2043
3114
431

3138

3180
4555

5826

3657

3690

3202

3462
3490

3542

4137

4177

5685

2698

2730

5007

4757

2049
3116
4337

3142

3370

5849

SEQ 0116

3697

3497

4415

4142

4182
5715

3730

2700

2732

5011

4847

2075

4353
3146

3377

5866
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CZoPBC.PN 02-MAY-78 08:23 CROSS REFERENCE TYABLE == USER SYMBOLS

TS = 020000 7464
CYCLE 006226 1153 1188 1189 16154
DATA 001324 806
DATABP 004612 1487« 1490 1512 15154
DATAHD 004600 1486 1508 1511
DECMOD= 1 7684
DEVADR 003732 1298+ 1333 13434
DH2 027414 58854
DH5 027763 58854
DH6 027445 58854
DH7 027625 58854
DISPLA 001200 6834 979« 1165+
DISPRE 000174 671n 979
DSCA = 100000 7440
DSCB = 000001 7594
DSINTE= 000040 7544
DSR = 001000 7504
DTR = 000002 758#
DT 030174 5878 58854
DTS 030212 58854
DT6 030224 58854
DUPACT 001310 7334 1069+« 1093« 1126« 1127 1615 1620
DUPCRO 001500 89%# 1008 1072
DUPCR1 001506 898 1073
DUPCR2 001514 9024
DUPCR3 001522 9064
DUPCR4 001530 9104
DUPCRS 001536 9144
DUPCR6 001544 9184
DUPCR7 001552 9224
DUPNUM 001311 7348 962 1061 1094~ 1178
DUPRPS 001376 864k 1661+ 1662+ 1663
DUPRVC 001374 8634 1195 1640* 1661
DUPSEC 001416 8724 1647+
DUPTPS 001402 B66# 1665+ 1666+
DUPTRO 001502 895# 1016
DUPTR1 001510 8994
DUPTRZ 001516 9034
DUPTR3 001524 9074
DUPTR4 001532 911#
DUPTRS 001540 9154
DUPTR6 001546 9194
DUPTR7 001554 9234
DUPTVC 001400 8654 1663+ 1664+ 1665
DUP.EN 001560 9264 1001 1085 1626 1635
DUP.MA 001500 739 8934 966 999 1083 1087 1101 1628 1638
DUPO.A 001504 896# 1056+ 1059+
DUP1.A 001512 9004
DUP2.A 001520 9044
DUP3.A 001526 9084
DUP4.A 001534 9124
DUPS5.A 001542 9164
DUP6.A 001550 9204
DUP7.A 001556 9244
EM1 027503 5874 58854
EM10 027121 5885#



CZDPBC MACY17 30A(1052)
02-MAY-78 08:23CZDPBC.P11

EM11 027153
EM12 027207
EM13 027222
EM14 027243
EM15 027262
EM16 027277
EM17 027312
EM2 027004
EM22 027330
EM23 027346
EM24 027364
EM3 027024
EMé 027041
EMS 027653
EM6 027070
EM7 027723
ERRCNT 001232
ERRFLG 001341
ERRMSG 004566
ERTABO 004772
EXIT = 000000
EXITER 004726
FIX.00 006744

FLAG 001332
FLG 007052
HALTS 004616
HDXEN = 000010
HILIM 003730
HUPPSR 001420
HUPRBF 001422
HUPRCR 001424
HUPTBF 001426
HUPTCR 001430
ICOUNT 001222
INBUF 006162
INIFLG 001340
INSTER= 104404
INSTR = 104403
INSTR2 003530
LIMITS 003656
LOBITS 003734
LOCK 001220

LOKFLG 001342
LOLIM 003726
LPCNT 001224
LSTERR 001234
L00.00 001434
MASK.A 001432
MASTEK 005412
MCRLF 005136
MCSR 005474
MCSRX 005342
MDATA 006120
MEPASS 005157
MERRPC 005467

02-MAY-~78

58854
S885#4
SR8S#
58854
58854
58854

58854
S885#4
58854
58854
58854
58854
58854
58854
58854

S33SH
704K

8154
1485+
1500
6404
1520
1672
8094
17334
1471
7834
1297*

8734
8744
8754
8764
8774
700#
1267

818#
8424
8404
1274
1313
1299%
6994
5666+
8204
1296*
7014
7054

8874
8874
1496
1252
1004
1167

1403
1166
1499

968+
964«
1503
15464

15374
17064
997«

5237
15174

1324
1651~
1649+
1643
1658«
1654+
1219
1303

1318
1003

13244
1328
1223«
5696+

1326
1218+
969+
1641+
1670
15914
1376
15914

15914
1413
15914
15914

B8 10

CROSS REFERENCE TABLE == USER SYMBOLS
13:58 PAGE 120

1201 1537
1163« 1221+ 1475+ 1488 1502*
15064

1110 1113«
5404 5616

13424
1652
1650« 1651
1644* 1645
1659

1655« 1656
1224%
1434 1435 1439 1602#
989« 998+
1444
101 1019 1028 1036 1040 1046 1050 1678

—
_
—

W ~ ~ _

—
_
 
— 45

39 1494 1767« 1801+ 1822« 1841+ 5176«W

1219 1222+
}162* 1205% 1472 1474

1492 1493 1501 15914 1677 1694

5186+ 5192+

SEQ 0118

5636+



CZDPBC MACY11 30A(1052)
CZDPBC.PM

MERRX

MERRZ2
MERR3
MEXT =
MH1

MIND
MJMPR

MLOCK
MMODE =

MMODEA=

MMODEB=
MNEW
MPAR

MPASSX
MPOWER

MQM

MR

MRESET=

MSRJM

MSTJUM

MTCN

MTDATA=

MTITLE
MTOTAL

MTSTN

MTSTPC
MVEC

MVECX

NEXT

OPCLRJ
OVRRUN= 04
PARAM =

PARAM1
PARBIT=

PARCSR

PARERR

PASCNT

PERFOR=
PKCLK =

005762
005727
005601
040000

001000
005650
005400
005301
005513
005350
001216

001323

104405

003576
000000
001410

003652
001230
000000
104412

02-MAY-78 08:23
02-MAY-78

1173 15914
15918 1617
1123 15914
7874 1527

5875 58854
8084
1037 15914
1147 15914
7864 5113

5671 5701
7764
7754

1118 15914
1020 15914

171 15914
1576 15914

1284 15914
115 15914

6408 7798
2884 2916
3379 3419
3899 3939
4426 bbbk
5156 5230
5728 5820
1051 15914
1047 15914
10641 15914
7730 1714

5497 5522
6784 988
1029 15914
1497 15914
15914
1012 15914
1169 15914
6984 1225
2102« 2134+
2498+ 2528+
2912+ 2944+
3328+ 3368+
3848+ 3388«
4373« 4413«
4877 4909*
5480% 5553«
805# 1039
7624

844k 1005
1302¢ 1319
6408
8698 1648+
5514% 5560%
1305 1307
7034 963w
6408
854k 1712

1700
1695
2532
2948
3459
3979
4504
5264
5860

1723

5529

1679

1542
2166*
2560*
2976%
3408*
3928+
4453«
4941%
5598+«
1054

1013

1932
5605+
1309
1164%

1722

13:58 PAGE 121
CROSS REFERENCE TABLE ==

5159
5831

2564
2980
3499
4019
4552
5368

1735
5579

1766+
2198+
2592+
3008«
3448~
3968«
4493«
4973
5633«
1098+

1021

3262

13184
1165

1734

5233

2596
3012
3539
4059
4600
5435

1740

1800«
2228+
2624*
3040+
3488«
4008+
4536
5005«
5819«

1030

4537

1325
1198

1739

c 10

USER

5267

1882«
2258«
2656
3072*
3528+
4048+
4584%
5037«

1680

4585

1327

1746

SYMBOLS

5371

5209

1906+
2288+
2688+
3104
3568«
4088+
4632
5068+

4633

1329

5133

5438

2692
3108
3659
4179
4977

5510

5284

1930+
2318+
2720%
3136+~
3608«
4128%
4680+
5106«

5112«

5165

5486

2724
3140

4224
5009
5556

5317

1955«

2348~
2752«
3168+
3648«
4168«
4725+«
5153

5160+

5172

5513

2756
3172
3739
4259
5041
5601

5380

1981+
2378+
2784+
3200+
3688+
4208+
4755+
5227+

5268+

5198

5559

2788

3779
4301
5069
5638

5393

2006+
2408+
2816+
3233«
3728+
4247+
4785+
5261+

5372+

5202

5604

2820

3819
4343
5087
5668

5408

2038+
2438+
2848«
3261+
3768%
4289+
4815+

5365*

5439+

5236

SEQ C119

5641

2852
3339
3859
4384
5110
5698

5458

2070+
2468+
2880+
3288+
3808+
4331~
4845+
5432+

5487+

5279



CZDPBC MACYT1 30A(1052) 02-MAY-78
CZDPBC.P11 02-MAY-78 08:23

5281 5282
5445 5449
5563 5566
5683 5704

POPRO = 012600 6184 1536
POP1SP= 005726 6164
POP2SP= 022626 6204 1227
PRIRTY 001320 8034 1027+
PRISEC= 010000 7704
PS = 177776 6094 959

PUSHRO= 010046 6174 1521
PUSH1S= 005746 615#
PUSH2S= 024646 6194
PWRUP 005060 1570 15724
QV.FLG 001343 8214 965+
RABORT= 002000 7644
RCRCIN= 040000 7934
RCRC7T= 100000 7924
RCVEN = 000020 7554 5832
RECACT= 004000 7484
REOM = 001000 7654
RESREG 004614 1513 15164
RESTRT 003116 1176 1180
RESOS = 104407 8484 1516
RETURN 001214 6974 971«
RING = 040000 7454
RINTEN= 000100 7534
RSOM = 000400 7664
RTS = 000004 7574

RUN 001314 7374 967
RXCSR 001404 8674 1192

2657 3289
4816 4878

RXDBUF 001406 8684 1645+

3849 3889
RXDERR= 100000 7614

RXDONE= 000200 7524

SAVACT 001312 735# 1060+
SAVNUM 001313 7364 962+
SAVPC 001266 7224 1350+
SAVPCA 001306 7314
SAVRO 001250 7154 1359«
SAVROA 001270 724K
SAVR1 001252 7164 1358+
SAVR1A 001272 7254
SAVRZ 001254 7178 1357+
SAVR2A 001274 7264
SAVR3 001256 718%# 1356+
SAVR3A 001276 7274
SAVR4 001260 719# 1355«
SAVR4A 001300 7284
SAVRS 001262 7204 1354+
SAVR5A 001302 7294
SAVSP 001264 7214
SAVSPA 001304 7304
SAVOS5 = 104406 846k 1476

1177+

11884

1153«

1620
1639«
3329
4910
1646%

3929

1066+
1062+
1548

1364

1365

1366

1367

1348

1369

13:58 PAGE 122
CROSS REFERENCE TABLE ==

5375
5457
5571
5713

1216

1155

1623+
1643
3369
4942
1647

3969

1068
1096+

5824+

5839+

5867+

5885

5885

5377
5490
5575
5734

1188+

1624*
1769
3409
4974
1648
4009

5885

5885

5870«

D 10

USER SYMBOLS

5379 5392
5492 5494
5608 5610
5736 5743

1225« 1228

1631+ 1632«
1803 1821

3449 3489
5006 5832+
1649 1908
4049 4089

1095« 1121
1178+

5885

5399

5612
5835

1542+

1843
3529

3234
4129

5401
5517
5644
5837

1544

1884
3569

3649
4169

5403
5519
5646
5838

1577

2529
3609

3689

5407
5521
5653

1693~

2561
4726

3729

5442
5526
5674

1703+

2593
4756

3769

SEQ 0120

5444
5528
5676

1704

2625
4786

3809



CZDPBC MACY11 30A(1052)
CZDPBC.PN

SCOPE = 104400

SCOP1 = 104401
SEND = 000020

SETFLG= 104413
SHIFTS 001326
SIMBCC 026222
SMALL 005044

SPACNT= 004237
SRD = 002000
SRJMFL 001336
STACK = 001150
STD = 000010
STJMFL 001334
STPSYN= 000400
Sv05 003744
SWR 001202

SWREG 000176
Sw00 = 000001
Sw01 = 000002
Sw02 = 000004
Sw03 = 000010
Sw04 = 000020
Sw05 = 000040
Swoé6 = 000100
Sw07 = 000200
Sw08 = 000400
Sw09 = 001000
Sw10 = 002000
SWi11 = 000
sw12 = 010000
Sw13 = 020000
SWw14 = 040000
Sw15 = 100000
SYSTST= 004000
TABORT= 002000
TBL1 023726
TCNFLG 001322
TCRCIN= 010000
TCRC7T= 020000
TEMP 006056

02-MAY-78 08:23
02-MAY-78

834 1781
2182 2212
2576 2608
2992 3024
3432 3472
3952 3992
4477 4517
4957 4989
5618 5755
834 1775
782# 5114

5493 €515
8564 1038
807#
5648 5678
1565# 2533
2917 2949
3420 3460
2940 3980
4465 4505
5157 5231
5729 5821
1386 1407
7494

8114 1053
6104 960
7564
8104 1049
751#

13544

6844 976
1248 1465

6724 978
5914 994
590# 1675
5854
587# 1116
5864
5854
5844

5834
582# 1538
581# 1235
S80# 1540
5794 1214
S78# 1248
5778 1470
S764
5754
788# 1527
797# 5376

5276 5277
804k 1043
7954

7944
1390 15984

13:58 PAGE 123
CROSS REFERENCE TABLE =-- UUSER

1857 1891
2242 2272
2640 2672
3056 3088
3512 3552
4032 4072
4565 4613
5021 5053
5862
1815 1830
5115 5161
5520 5561
1042 1048

5708 5738
2565 2597
2981 3013
3500 3540
4020 4060
4553 4601

5265 5369
5861
1610+ 14244

1142 1543

978+ 990
1470 1519

1108

5864

1465

5072
5390
53324
1044 1057

1914

2302
2704
3120
3592
4112
4661

5089

1853
5173
5606
1052

57604
2629
3045
3580
4100
4649
5436

1573

994
1538

1097+

E 10

SYMBOLS

1965
2362
2768

3672
4192
4739
5212

5191
5234
5672

2693
3109
3660
4180
4697

5507

— (o w
V
i
o
n

1990
2392

3216
3712
4230
4769
5239

5196
5269
5702

2725
3141

4225
4978
551

1121

2757

5557

1126

2054
2452
2864
3272

4315
4829
5414

5694

5833

2789
3205
3780
4302

5602

1145

2086
2482

3312
3832
4357

5463

5724
5440

2821

3820
4344
5070
5639

1207

2118
2512
2928
3352
3872
4397
4893
5537

5753
5454

2853
3240

4385
5088
5669

1214

SEQ 0121

2150
254
2960
3392
3912
4437
4925
5582

5488

1235



(ZDPBC MACYT1 30A(1052)
c2oP8C.P1

TEMPT 001236

TEMP2 001240

TEMP3 001242

TEMPS 001244

TEMPS 001246
TEOM = 001000

TIMER = 004000
TKCSR 001204
TkDBR 001206
TLAST = 026402
TPCSR 001210
TPDBR 001212
TRPOK 004330
TRP.PC 006224

TSOM = 000400

TSTNO 001226

TST1

TST10

TST100
TST101
T1ST102
TST103
TST104

TST105
TST106
TST107

ST
TST110
1ST11
TST112
TST1i3
TST114

TST115S

TST116
TST117
TST12
TST120
TST121

TST122
TST123
TST124

15T125

007160
010010
016344
016456
016570
016702
017014
017126
017240
017352
010074
017464
017572
017714
020036
020160
020272
020404
020516
010160
020630
020756
021104
021232
021364
021440

02-MAY-78 08:c3

710#

5082+
56461+
771»

5768+
712#%

S827+
7134

5695+
7144

4725

02-MAY-78

5132

2037+«
2437
2847+
3260+
3767+

4288~
4814+

5364+
1703

2005#
3887#
3927#
39674
4007#

L0474

4087#
41274
L1674

2037#
4207#

L2464
4288#
43304
43724
44124

44524

44928

45354
4583

46314
L6794

472L4
L7544

13:58 PAGE 124
F 10

CROSS REFERENCE TABLE == USER SYMBOLS

1061
5271+
5500+
1027

5292+
5853
1729+
5725+
1726+
5328
5080
1269

1271

1275
1277+

5164

5611
1551

2069+
2467+
2879+«
3287
3807+
4330+
(844

5431«
17654

1062
5287+
5527+
1008+

5295+

1733«

5735
1727

5402

5879
1277

1467
1469«

5177
5643
1683
2101+
2497+
2911+

3327+
3847+
4372+
4876+

5479

10€3+
5297
5532+
1071+

5297

1750+
5754+
1738+
5611

5881

5187
5673
1689

2133«
2527+
2943+
3367+
3887+
4412+
4908+
5552+

1101«

5323+
5763+
1075+

5324+

5274+
5828+
1743+
5652

5193

,703
1691

2165«
2559+
2975+
3407+
3927«
4452+
4940+

5597+

1102
5378+
5786+
1102+

5765+

5320+
5839
1744

5682

5235
5733
1765«

2197+
2591+
3007+
3447
3967
4492+
4972+
5632+

1106+

5383+

1595

5767

5321
5841+
5278+
5712

5270

1799«

2227+
2623+
3039+
3487+
4007+
4535+
5004«
5818+

1593
5384

5272+

5777«

5325+
5850
5289+
5742

5374

1881+

2257+
2655+
3071+

3527+
4047+
4583+

5036+

5071+
5391+«

5293+

5779

5635+
5856
5327+
5855

5441

1905+

2287+
2687+
3103+«
3567+
4087«

4631

5067+

5075+
5396+

5784

5645

5829+

5489

1929+

2317+
2719+
3135+
3607+«
4127+

4679+

5105+

5076
5397

5314

5785+

5665+

5872

5516

1954

2347+
2751+
3167+
3647+
4167+
4726+

5152+

SEQ 0122

5079+
5456+

5764+

5788

5675

5876+

5562

1980+

2377+
2783+
3199+«
3687+
4207+

4754+

5226+



JCZDOPBC MACY11 30A(1052)
cZoP8C.P1

1ST126 021514
TST1§7 021570

ST 010244

TST130 021644
TST131 021730
TST132 022014
TST133 022100
TST134 022164
TST135 022260
TST136 022354
TST137 022450
TST14 010330
TST140 022604
TST141 022760
TST142 023274
TST143 023364
TST144 023740
TST14S5 024226
TST146 024430
TST147 025002
TST1S 010414
TST150 025176
TST151 025332
TST152 026402
TST153= wanann

TST16 010500
TST17 010554
TST2 007272
1ST20 010630
TST21 010704
1S122 010760
1ST23 011034
TST26 011110
TST2S 011164
TST26 011240
TST27 011314
TST3 007536
TST30 011370
TST31 011444
TST32 011540
TST33 011634
TST34 011730
TST35 012024
TST36 012120
TST37 012214
TST4 007600
TST40 012310
TST41 012404
TST42 012500
TST43 012574
TST44 012670
TST4S 012764
TST46 013060
TST47 013154
TSTS 007636
TSTSO 013250

02-MAY-78 08:c3

4755
4785

2070
4875

4845
4877

4909
4941

4973
5005
5037
2102
5068
5106
5153
5227
5261
5365
$632
5480
2134
5553
5598
5633

u 5819
2166

2198
1766

2228
2258
2288
2318
2348
2378
2408
2438
1800
2468
2498
2528
2560
2592
2624
2656
2688
1882
2720
2752
2784
2816
2848
2880
2912
2944
1906

2976

L784m
LB14a

21014
LBLLH

LB76H
4508#
4940m
L9724

5004#

SO26#
S067#
2133#
5105#

5152#
52264
52604
53644
564314
54794

5552#
2165#
55974

56324
58184

21974
22274
17994

22574

22874
23174
23474
23774
24074
24374
24674
18814

24974
25274
2559
2591#
26234
26554
26874
27194
19054

27514
27834
28154
28474

287%#
29114
29434
29754
19294

30074

02-MAY-78 13:58 PAGE 125
CROSS REFERENCE TABLE == USER SYMBOLS

5885

G 10
SEQ 0123



H 10

CZDPBC MACY11 30A(1052) 02-MAY-78 13:58 PAGE 126 SEQ 0124
CZDPBC.P11 02-MAY-78 08:23 CROSS REFERENCE TABLE == USER SYMBOLS

TSTS1 013344 3008 3035#
TSTS52 013440 3040 30714
TST53 013534 3072 3103#
TST54 013630 3104 31354
TSTSS 013724 3136 31674

1ST56 014020 3168 31994
TSTS7 014114 3200 3232#
1ST6 007700 1930 19544
TST60 014154 3233 32604
TST61 014216 3261 3287#
TST62 014330 3288 33274
TST63 014442 3328 33674
TST64 014554 3368 34074
TST65 014666 3408 34474

1ST66 015000 3448 34874

TST67 015112 3488 35274

TST7 007746 1955 19804
TST70 015224 3528 35674
TST71 015336 2568 36074
TST72 015450 3608 36474
TST73 015562 3648 36874
TST74 015674 3688 37274
TST75 016006 3728 37674
TST76 016120 3768 38074

T1ST77 016232 3808 38474
TTST 003174 1148+ 1149+ 1151« 1152« 12084
TWOSYN= 000000 6404
TXACT = 001000 778% 5167 5203 5386 5502 5534 5613

TXCSR 001412 8704 1527+ 1555« 1558+ 1652+ 1653+ 1654 1714 1723 1735 174C 1747 1957
2007 2039 2071 2103 2135 2167 2532« 2564* 2596+ 2628+ 2660* 2689 2692+
2721 2724 2753 2756+ 2785 2788+ 2817 2820* 2849 2852+ 2884 2916* 2948+
2980* 3012+ 3044~ 3076+ 3108+ 3140 3172« 3204+ 3299% 3339+ 3379% 3419+ 3459«
3499+ 3539+ 3579« 3619% 3659« 3699+ 3739« 3779« 3819+ 3859+ 3899 3939+« 3979«
4019+ 4059+ 4099+ 4139+ 4179+ 4210 4224% 4248 4259+ 4290 4301~ 4332 4343
4384x 4424 4464% 4504 4552« 4L600% 4648+ 4681 4696 4846 4977« 5009+« 5038
5041+ 5069+ 5072+« 5087« 5108 5110« 512 5154 5156« 5166 5171~ 5185 5229
5230« 5262 5264* 5310 5366 5368+ 5433 5435« 5446 5450 5454 5458 5481

5568 5572 5576 5579 5599 5601+« 5613 5638+ 5641+ 5642« 5668* 5671+ 5672+
5698+ 5701« 5702+ 5728« 5731« 5732« 5820« 5831« 5833+ 5860+

TXDBUF 001414 8714 1656* 1657« 1658 1983 2199 2229 2259 2289 2319 2349 2379 2409

2439 2469 2499 2881 2913 2945 2977 3009 3041 3073 3105 3137 3169

5263 5367 5434 5443« 5482 5491« 5509 5518+ 5555 5564+ 5565+ 5600 5609+
5611+ 5640+ 5643* 5645+ 5652+ 5670+ 5673+« 5675+ 5682+ 5700+ 5703« 5705« 5712+
5730 5733« 5735« 5742« 5830* 5834 5836+ 5852+ 5855+

TXDLAT= 100000 7728 5446 5450 5568 5572 5576

TXDONE= 000200 7804 5115 5129 5134 5188 5199 5206 5411
TXINTE= 000100 7814
TYPDAT 004602 1491 1509 15124
TYPE = 104402 8384 988 1100 1118 1123 1147 1154 1166 1167 1169 1171 1173 1252

1265 1284 1376 1413 1492 1493 1496 1497 1499 1501 1505 1510 1575
1617 1677 1694 1695 1700 5874 5875

TYPMSG 004502 1489 14924

USER = 000000 7854
WRDCNT 004234 1384 1414+ 14224



CZDPBC MACY11 30A(1052)
CZDPBC.PN

WRKO.F 004570
XBX 004374
XCSR 003130
XERR 003152
XHEAD 006015
XPASS 003144
XPOLY 026374
XSTATQ 006044

XTSTN 005000
XVEC 003136
43 = 000154

$ENDAD 003104
N = 000152

$RAYO = 177777

02-MAY-78
C2-MAY-78 08:23
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1766

24394

14704

13:58 PAGE 127
CROSS REFERENCE TABLE =- USER SYMBOLS

110

1882 18834
2039+ 2070
2258 2254
24398 2468
2656 26574
28494 2880
3072 30734
32624 3288
3528 35294
3769# 3808
4048 40494

42908 4331
4584 45854
LB16H 4845
5037 50384
53664 5432

1793 1802#
19564 1968
2089 2095
2221 22294
23494 2365
2485 2491
2617 26254
27538 2771
2899 2905
3033 30414
3169 3187
3315 3321
3481 34894
3649 3675
3835 3841
4001 40054
L1698 4194
4360 4366
4529 45374
L7268 4742
4864 4870
4998 50064
5154% 5215
5466 5473
5812 58204
1787 17914
19464 19684
2089 2090

18944
1994
21254

SEQ 0125



r

"

003336

030242

CZDPBC MACY11 30A(1052)
CZoPBC.P11 02-MAY-78 08:23

000

02-MAY-78

21574 21854
23054 2306
2426 242
25514 25794
27074 2708
2836 283%#
29678 29954
31234 3124
3246 32524
33908 34354
35954 3596
3756 37594
39194 39554
L115# 4116
4277 42804
LL4L4LR LLBON
LE64LA 4665
4803 L8064
L9328 49604
5093 5094
5351 53564
5589% 56204
825# 834
8584
651# 652
7374 7384
902# 9034
9194 9204
1715 5200
1141#

853 13774
851 13764
11624 5819
1484 5885#

658 1465#
843 1282#
841 12614
12654 1285
1263+ 12664
845 12934
656 961
855 1552#
849 13644
847 13504
835 1205#
837 12354
857 14334
674 9594
66C 14534
8334 1458
839 12454

2186

6554
8044

9224

5851

15704

1445
971

13:58 PAGE 128
CROSS REFERENCE TABLE ==

1574

22154
2336
2459
26114
2740
28714
30274
3156
32794
34754
3636
37994
39954

J 10

USER SYMBOLS

2216 22194
23394 23654
24854 2486
2612 26154
27438 27714
2899+ 2900
3028 30314
31594 31874
33154 3316
3476 34794
36394 36754
38354 3836
3996 39994
L1598 4194
43608 4361
4521 45278
L7168 47428
L8BG4 4LB6S
4993 L9964
51448 52154
54664 5467
5801 58114
8424 844k

6704 6734
8114 8924
9084 9104
995 1125

SEQ 0126

22794

1619



K 10
CZDPBC MACY11 30A(1052) 02-MAY-78 13:58 PAGE 129 SEQ 0127
czoPBC.P1 02-MAY-78 08:23 CROSS REFERENCE TABLE == USER SYMBOLS

ERRORS DETECTED: O

DSKZ: CZDPBC ,DSKZ : CZDPBC . SEQ=DSKZ: DUP11.MAC ,DSKZ : CZDPBC.P11
RUN-TIME: 20 29 1 SECONDS
RUN=TIME RATIO: 250/52=4.7
CORE USED: 24K (47 PAGES)

DOCUMENT PAGES: 127


